
¬˝‡Ÿ ¬ÈÁSÃ∑§Ê / QUESTION BOOKLET ß‚ ¬⁄UËˇÊÊ ¬ÈÁSÃ∑§Ê ∑§Ê Ã’ Ã∑§ Ÿ πÊ‹¥
¡’ Ã∑§ ∑§„Ê Ÿ ¡Ê∞–
Do not open this test booklet until
you are asked to do so.

1. ¬˝‡Ÿ ¬òÊ ∑§Ê „‹ ∑§⁄UŸ ‚ ¬„‹, ∑Î§¬ÿÊ •¬ŸË ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ë ¡Ê°ø ∑§⁄¥U •ÊÒ⁄U ‚ÈÁŸÁ‡øÃ ∑§⁄¥U Á∑§ —
- ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ë ∑˝§◊ ‚¥ÅÿÊ ‚◊ÊŸ „Ò–
- ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ∑§ ‚÷Ë ¬Îc∆U ∆UË∑§ ‚ ◊ÈÁŒ˝Ã „Ò •ÊÒ⁄U ‚÷Ë ¬Îc∆UÊ¥ ¬⁄U ‚Ê⁄U ¬˝‡Ÿ ◊ÈÁŒ˝Ã „Ò–
Á∑§‚Ë ÷Ë Áfl‚¥ªÁÃ/ŒÊ· ∑§ ◊Ê◊‹ ◊¥, •èÿÕË¸ ∑§Ê ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê •ÊÒ⁄U •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ∑§Ê ’Œ‹Ÿ ∑§ Á‹∞ ÃÈ⁄¥UÃ •Á÷¡Êª⁄U ∑§Ê ◊Ê◊‹ ∑§Ë ‚ÍøŸÊ ŒŸË øÊÁ„∞– ¬⁄UËˇÊÊ ¬˝Ê⁄Uê÷ „ÊŸ ∑§ ¬Ê°ø Á◊Ÿ≈U ’ÊŒ ß‚ ‚¥’¥œ
◊¥ Á∑§‚Ë ÷Ë ŒÊfl/•Ê¬ÁûÊ ¬⁄U ÁfløÊ⁄U Ÿ„Ë¥ Á∑§ÿÊ ¡Ê∞ªÊ–  ß‚∑§ Á‹∞ •èÿÕË¸ ©ûÊ⁄UŒÊÿË „ÊªÊ–
Before attempting the question paper, kindly check your Question Booklet (QB) and O.M.R. Answer Sheet and ensure that :
- Serial number of Question Booklet (QB) and O.M.R. Answer Sheet is same.
- All pages and all questions are properly printed.
In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question Booklet (QB) and O.M.R.
Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination, candidate will be liable for the same.

2. •Ê.∞◊.•Ê⁄.U ©ûÊ⁄U-¬òÊ∑§ ∑§ ¬Ë¿U ÁŒ∞ ª∞ ‚÷Ë ÁŸŒ¸‡Ê ¬…∏¥–
Read all instructions on the reverse of O.M.R. Answer Sheet.

3. •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ∑§fl‹ ŸË‹ ’ÊÚ‹ åflÊß¥≈U ¬Ÿ ∑§Ê ¬˝ÿÊª ∑§⁄¥U– ∑Î§¬ÿÊ, •Ê.∞◊.•Ê⁄.U ©ûÊ⁄U-¬òÊ∑§ ◊¥ •¬ŸÊ ⁄UÊ‹ Ÿ¥’⁄U •ÊÒ⁄U •ãÿ ¡ÊŸ∑§Ê⁄UË ‚„Ë …¥Uª ‚ ÷⁄¥U–
On O.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in O.M.R. Answer Sheet.

4. ß‚ ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ◊¥ ŒÊ ÷Êª „Ò¥ — ÷Êª-∑§ (ÿÊ¥ÁòÊ∑§ — ¬˝.‚¥. 1-120) ∞fl¥ ÷Êª-π (ÁfllÈÃ — ¬˝.‚¥. 1-120)–  •èÿÕË¸ ÷Êª-∑§ ∞fl¥ ÷Êª-π ◊¥ ‚ Á∑§‚Ë ∞∑§ ÷Êª ∑§Ê ©ûÊ⁄U Œ¥–
This Question Booklet having Two Parts : Part-A (Mechanical Q.No. 1-120) and Part-B (Electrical Q.No. 1-120).  Candidate should answer any
one Part from the Part-A and Part-B.

5. ‚÷Ë ¬˝‡ŸÊ¥ ∑§ •¥∑§ ‚◊ÊŸ „Ò–  ¬˝àÿ∑§ ª‹Ã ©ûÊ⁄U ∑§ Á‹∞ 1/3 •¥∑§ ∑§Ê≈UÊ ¡ÊÿªÊ–
All questions carry equal marks.  For each wrong answer 1/3 mark will be deducted.

6. ÿÁŒ Á∑§‚Ë ¬˝‡Ÿ ∑§ Á‹∞ ∞∑§ ‚ •Áœ∑§ ©ûÊ⁄U •¥Á∑§Ã Á∑§ÿ ¡ÊÃ „Ò¥ ÃÊ ©‚ ÷Ë ª‹Ã ©ûÊ⁄U ◊ÊŸÊ ¡ÊÿªÊ–
If more than one response is marked for a question, it would also be treated as wrong answer.

7. ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ¬Ê°ø Áfl∑§À¬/ªÊ‹ „Ò¥– ¬„‹ øÊ⁄U Áfl∑§À¬/ªÊ‹ A, B, C •ÊÒ⁄U D ©¬ÿÈÄÃ ©ûÊ⁄U ‚ ‚¥’¥ÁœÃ „Ò¥ •ÊÒ⁄U ¬Ê°øflÊ° Áfl∑§À¬/ªÊ‹Ê ‘E’ “•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ” ‚ ‚¥’¥ÁœÃ „Ò–
Each question has five options/circles. First four options/circles A, B, C and D are related to appropriate answer and fifth option/circle ‘E’ is related to ‘Question
not attempted’.

8. ‚„Ë ©ûÊ⁄U Œ‡ÊÊ¸Ÿ ∑§ Á‹∞ •èÿÕË¸ ∑§Ê •Ê.∞◊.•Ê⁄U. ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ‚¥’¥ÁœÃ ¬˝‡Ÿ ‚¥ÅÿÊ ∑§ ¬„‹ øÊ⁄U Áfl∑§À¬ A, B, C ÿÊ D ◊¥ ‚ ∑§fl‹ ∞∑§ Áfl∑§À¬/ªÊ‹ ∑§Ê ŸË‹ ’ÊÚ‹ åflÊß¥≈U ¬Ÿ ‚ ÷⁄UŸÊ „ÊªÊ– ÿÁŒ •èÿÕË¸
Á∑§‚Ë ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U Ÿ„Ë¥ ŒŸÊ øÊ„ÃÊ „Ò ÃÊ ¬Ê°øfl¥ Áfl∑§À¬/ªÊ‹ ‘E’ ∑§Ê ª„⁄UÊ ∑§⁄UŸÊ „ÊªÊ–
To indicate the correct answer, the candidate has to fill in only one option/circle A, B, C or D with blue ball point pen for respective question number on the OMR
Answer Sheet. If the candidate does not want to answer any question then the fifth option/circle ‘E’ should be darkened.

9. ÿÁŒ ¬Ê°ø Áfl∑§À¬Ê¥ ◊¥ ‚ ∑§Êß¸ ÷Ë Áfl∑§À¬/ªÊ‹Ê ª„⁄UÊ Ÿ„Ë¥ Á∑§ÿÊ ªÿÊ ÃÊ ¬˝‡Ÿ ∑§Ê 1/3 ÷Êª •¥∑§ ∑§Ê≈U Á‹ÿÊ ¡ÊÿªÊ–
1/3 part of the marks will be deducted for the questions, if none of the option/circle options are darkened.

10. 10 ¬˝ÁÃ‡ÊÃ ‚ •Áœ∑§ ¬˝‡ŸÊ¥ ◊¥ Á∑§‚Ë ÷Ë Áfl∑§À¬/ªÊ‹ ∑§Ê •èÿÕË¸ mÊ⁄UÊ ª„⁄UÊ Ÿ„Ë¥ Á∑§ÿÊ ªÿÊ ÃÊ ©‚ ¬⁄UËˇÊÊ ∑§ Á‹∞ •ÿÊÇÿ ÉÊÊÁ·Ã ∑§⁄U ÁŒÿÊ ¡Ê∞ªÊ–
If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the exam.

11. •èÿÕË¸ ∑§Ê ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ Á‹∞ ∑§◊ ‚ ∑§◊ ∞∑§ Áfl∑§À¬/ªÊ‹Ê ÷⁄UÊ „Ò ÿÊ Ÿ„Ë¥ ÿ„ ‚ÈÁŸÁ‡øÃ ∑§⁄UŸ ∑§ Á‹∞ 10 Á◊Ÿ≈U •ÁÃÁ⁄UÄÃ ÁŒ∞ ¡Ê∞°ª–
Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

12. ÿÁŒ ¬˝‡Ÿ ∑§ Á„ãŒË ÿÊ •¥ª˝¡Ë ‚¥S∑§⁄UáÊ ◊¥ ◊ÈŒ˝áÊ ÿÊ ÃâÿÊà◊∑§ ¬˝∑Î§ÁÃ ∑§Ë Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄U ∑§Ë •S¬c≈U/ª‹ÃË „Ò, ÃÊ •¥ª˝¡Ë ‚¥S∑§⁄UáÊ ∑§Ê •¥ÁÃ◊ ◊ÊŸÊ ¡Ê∞ªÊ–
If there is any sort of ambiguity/mistake either of printing or factual in nature in Hindi or English version of questions, then the English Version will be treated as final.

13. ¬⁄UËˇÊÊ „ÊÚ‹ ◊¥ ◊Ê’Êß¸‹ »§ÊŸ/é‹Í≈ÍUÕ Á«UflÊß‚ ÿÊ Á∑§‚Ë •ãÿ ß‹Ä≈ŲÊÚÁŸ∑§ ªÒ¡≈U ∑§Ê ©¬ÿÊª ‚ÅÃ flÁ¡¸Ã „Ò– ÿÁŒ Á∑§‚Ë •èÿÕË¸ ∑§ ¬Ê‚ ∞‚Ë ∑§Êß¸ ¬˝ÁÃ’¥ÁœÃ ‚Ê◊ª˝Ë ¬Êß¸ ªß¸ ÃÊ ©‚∑§ ÁflL§h ÁŸÿ◊ÊŸÈ‚Ê⁄U ‚ÅÃ ∑§Ê⁄U̧flÊß¸
∑§Ë ¡Ê∞ªË–
Use  of Mobile Phone/Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited.  If any such prohibited material is found with
any candidate, strict action will be taken against him/her as per rules.

•ŸÈŒ‡Ê / INSTRUCTIONS

‚◊ÿ/ ÉÊ¥≈U
Time : Hours2.00

¬ÍáÊÊZ∑§/Maximum Marks : 120

¬ÈÁSÃ∑§Ê ◊¥ ¬˝‡ŸÊ¥ ∑§Ë ‚¥ÅÿÊ/
Number of Questions in Booklet : 120

¬ÈÁSÃ∑§Ê ◊¥ ¬Îc∆UÊ¥ ∑§Ë ‚¥ÅÿÊ/
Number of Pages in Booklet : 56
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øÃÊflŸË — ÿÁŒ ∑§Êß¸ •èÿÕË¸ Ÿ∑§‹ ∑§⁄UÃ „È∞ ¬ÊÿÊ ¡ÊÃÊ „Ò ÿÊ •ŸÈÁøÃ Ã⁄UË∑§ •¬ŸÊÃ „È∞ ¬ÊÿÊ ¡ÊÃÊ „Ò ÿÊ ©‚∑§ ¬Ê‚ ∑§Êß¸ •ŸÊÁœ∑Î§Ã ‚Ê◊ª˝Ë ¬Êß¸ ¡ÊÃË „Ò ÃÊ ©‚∑§ Áπ‹Ê»§ ¬ÈÁ‹‚ S≈U‡ÊŸ ◊¥ ∞»§.•Êß¸.•Ê⁄U. Œ¡¸ ∑§Ë ¡Ê∞ªË
•ÊÒ⁄U fl„ ⁄UÊíÿ ‚Êfļ¡ÁŸ∑§ ¬⁄UËˇÊÊ •ÁœÁŸÿ◊, 2022 •ÊÒ⁄U ‚¥‡ÊÊœŸ •ÁœÁŸÿ◊ 2023, (÷ÃȨ̈ ◊¥ •ŸÈÁøÃ ‚ÊœŸÊ¥ ∑§Ë ⁄UÊ∑§ÕÊ◊ ∑§ •äÿÈ¬Êÿ) ∑§ Ã„Ã ◊È∑§Œ◊Ê ø‹ÊŸ ∑§ Á‹∞ ©ûÊ⁄UŒÊÿË „ÊªÊ Á¡‚◊¥ 10 fl·̧ ‚ •Ê¡ËflŸ ∑§Ê⁄UÊflÊ‚
ÃÕÊ ` 10 ∑§⁄UÊ«∏ Ã∑§ ∑§Ê ¬˝ÊflœÊŸ „Ò– ©‚ ’Ê«¸U ∑§Ë ÷Áflcÿ ∑§Ë ‚÷Ë ¬⁄UËˇÊÊ•Ê¥ ‚ SÕÊÿË M§¬ ‚ ÁflflÁ¡¸Ã ÷Ë Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–
Warning : If a candidate is found copying or using unfair means or if any unauthorized material is found in his/her possession, F.I.R. will be lodged against him/her
in the Police Station and he/she would be liable to be prosecuted under State Public Examination (Measures for Preventions of Unfair Means in Recruitment) Act.
2022 and Amendment Act, 2023. The act has provisions of imprisonment of 10 years to life and fine up to ̀  10 crore. Board may also debar him/her permanently from
all future examinations conducted by the Board.
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Part-A / ÷Êª-∑§

MECHANICAL / ÿÊ¥ÁòÊ∑§

1. Under which Article of the constitution of India was the state election commission, Rajasthan formed ?

÷Ê⁄ÃËÿ ‚¢ÁflœÊŸ ∑§ Á∑§‚ •ŸÈë¿Uº ∑§ Ã„Ã ⁄UÊ¡SÕÊŸ ⁄UÊÖÿ øÈŸÊfl •ÊÿÙª ∑§Ê ª∆Ÿ Á∑§ÿÊ ªÿÊ?

(A) 242 (B) 243Z (C) 243K

(D) 243ZA (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

2. The specific volume of a system is __________ property.

(A) intrinsic (B) extensive (C) intensive

(D) not a property (E) Question not attempted

Á∑§‚Ë Á‚S≈◊ ∑§Ê ÁflÁ‡Êc≈U •ÊÿÃŸ __________ ªÈáÊ „Ò–

(A) •¢Ã÷Í¸Ã (B) √ÿÊ¬∑§ (C) ª„Ÿ

(D) ∑§Ùß¸ ªÈáÊ Ÿ„Ë¥ „Ò (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

3. The device which atomises the fuel and mixes it with air is known as :

(A) Piston (B) Choke (C) Carburetor

(D) Battery (E) Question not attempted

fl„ ©¬∑§⁄áÊ ¡Ù ßZœŸ ∑§Ù ¬⁄◊ÊáÊÈ∑Î§Ã ∑§⁄ÃÊ „Ò •ÊÒ⁄ ©‚ „flÊ ∑§ ‚ÊÕ Á◊‹ÊÃÊ „Ò, ∑§„‹ÊÃÊ „Ò —

(A) Á¬S≈Ÿ (B) øÙ∑§ (C) ∑§Ê’Ê¸⁄≈⁄

(D) ’Ò≈⁄Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

4. Khejri tree is held important for the locals of Rajasthan.  Which of the following is not true about khejri tree ?

(A) Dried mature pods, locally called ‘kho-kha’, have a sweetish pulp and are also edible and mush liked by
local children.

(B) It is most dominant tree of the western Rajasthan.

(C) It was declared as state tree in the year 1982-83.

(D) Dried yellow beans of the khejri are stored and used for cooking round the year.

(E) Question not attempted

π¡«∏Ë ∑§Ê ¬«∏ ⁄UÊ¡SÕÊŸ ∑§ SÕÊŸËÿ ‹ÙªÙ¥ ∑§ Á‹∞ ◊„àfl¬ÍáÊ¸ ◊ÊŸÊ ¡ÊÃÊ „Ò– π¡«∏Ë ∑§ ¬«∏ ∑§ ’Ê⁄ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ
‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò?

(A) ‚ÍπË ¬Á⁄¬Äfl »§Á‹ÿÊ°, Á¡ã„¥ SÕÊŸËÿ M§¬ ‚ “πÙ-πÊ” ∑§„Ê ¡ÊÃÊ „Ò, ◊¥ ◊Ë∆Ê ªÍºÊ „ÙÃÊ „Ò •ÊÒ⁄ ÿ„ πÊŸ ÿÙÇÿ ÷Ë „ÙÃË
„Ò •ÊÒ⁄ SÕÊŸËÿ ’ìÊÙ¥ mÊ⁄UÊ ¬‚¢º ∑§Ë ¡ÊÃË „Ò–

(B) ÿ„ ¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸ ∑§Ê ‚’‚ ¬˝◊Èπ ¬«∏ „Ò–

(C) ß‚ fl·¸ v~}w-}x ◊¥ ⁄UÊÖÿ flÎˇÊ ÉÊÙÁ·Ã Á∑§ÿÊ ªÿÊ ÕÊ–

(D) π¡«∏Ë ∑§Ë ‚ÍπË ¬Ë‹Ë »§Á‹ÿÙ¥ ∑§Ù ‚¢ª˝„ËÃ Á∑§ÿÊ ¡ÊÃÊ „Ò •ÊÒ⁄ ‚Ê‹ ÷⁄ πÊŸÊ ¬∑§ÊŸ ∑§ Á‹∞ ©¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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5. Name the author of ‘Annals and Antiquities of Rajasthan’.

(A) Dr Kanungo (B) George Thomas (C) Col. James Tod

(D) V A Smith (E) Question not attempted

“⁄UÊ¡SÕÊŸ ∑§ ∞ŸÊÀ‚ •ÊÒ⁄ ∞¢≈ËÄflË≈Ë¡” ∑§ ‹π∑§ ∑§Ê ŸÊ◊ ’ÃÊß∞–

(A) «UÊÚ ∑§ÊŸÍŸªÙ (B) ¡ÊÚ¡¸ ÕÊÚ◊‚ (C) ∑§Ÿ¸‹ ¡ê‚ ≈ÊÚ«U

(D) flË ∞ ÁS◊Õ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

6. In last years of her life, the saint Mirabai, moved to __________.

(A) Pali, Rajasthan (B) Dwarka, Gujarat (C) Vrindavan, Uttar Pradesh

(D) Barsana, Uttar Pradesh (E) Question not attempted

•¬Ÿ ¡ËflŸ ∑§ •¢ÁÃ◊ fl·ÙZ ◊¥, ‚¢Ã ◊Ë⁄UÊ’Êß¸ __________ ø‹Ë ªß¸–

(A) ¬Ê‹Ë, ⁄UÊ¡SÕÊŸ (B) mÊ⁄∑§Ê, ªÈ¡⁄UÊÃ (C) flÎãºÊflŸ, ©ûÊ⁄ ¬˝º‡Ê

(D) ’⁄‚ÊŸÊ, ©ûÊ⁄ ¬˝º‡Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

7. A centrifugal pump running at 500 rpm and at its maximum efficiency is delivering a head of 30 m at a flow of
60 liters per minute. If the rpm is changed to 1000, then the head H in meters and flow rate Q in liters per minute
at maximum efficiency are estimated to be :

(A) H=120, Q=30 (B) H=60, Q=120 (C) H=120, Q=120

(D) H=60, Q=480 (E) Question not attempted

zÆÆ •Ê⁄¬Ë∞◊ ¬⁄ ø‹Ÿ flÊ‹Ê ∞∑§ ∑§ãŒ˝Ê¬‚Ê⁄∑§ ¬¢¬ •¬ŸË •Áœ∑§Ã◊ ºˇÊÃÊ ¬⁄ {Æ ‹Ë≈⁄ ¬˝ÁÃ Á◊Ÿ≈ ∑§ ¬˝flÊ„ ¬⁄ xÆ ◊Ë≈⁄
∑§Ê „«U ¬˝ºÊŸ ∑§⁄ ⁄„Ê „Ò– ÿÁº •Ê⁄¬Ë∞◊ ∑§Ù vÆÆÆ ◊¥ ’º‹ ÁºÿÊ ¡Ê∞, ÃÙ •Áœ∑§Ã◊ ºˇÊÃÊ ¬⁄ ◊Ë≈⁄ ◊¥ „«U ∞ø •ÊÒ⁄ ‹Ë≈⁄
¬˝ÁÃ Á◊Ÿ≈ ◊¥ ¬˝flÊ„ º⁄ ÄÿÍ •ŸÈ◊ÊÁŸÃ M§¬ ‚ „ÙªË —

(A) ∞ø=vwÆ, ÄÿÍ=xÆ (B) ∞ø={Æ, ÄÿÍ=vwÆ (C) ∞ø=vwÆ, ÄÿÍ=vwÆ

(D) ∞ø={Æ, ÄÿÍ=y}Æ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

8. Approximately how much areas of western Rajasthan are affected by desertification ?

Choose the most appropriate answer from the options  given below :

(A) 58% (B) More than 60% (C) Less than 50%

(D) 55% (E) Question not attempted

¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸ ∑§Ê ‹ª÷ª Á∑§ÃŸÊ ˇÊòÊ ◊L§SÕ‹Ë∑§⁄áÊ ‚ ¬˝÷ÊÁflÃ „Ò?
ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) z}% (B) {Æ% ‚ •Áœ∑§ (C) zÆ% ‚ ∑§◊

(D) zz% (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

9. The maximum continuous power available from a hydraulic power plants under the most adverse hydraulic
conditions, is known as :

(A) Secondary Power (B) Base Power (C) Firm Power

(D) Primary Power (E) Question not attempted

‚’‚ ¬˝ÁÃ∑Í§‹ „Êß«˛ÙÁ‹∑§ ¬Á⁄ÁSÕÁÃÿÙ¥ ◊¥ „Êß«˛ÙÁ‹∑§ ¬Êfl⁄ å‹Ê¥≈ ‚ ©¬‹éœ •Áœ∑§Ã◊ ÁŸ⁄¢Ã⁄ ‡ÊÁÄÃ ∑§Ù ß‚ M§¬ ◊¥ ¡ÊŸÊ
¡ÊÃÊ „Ò —

(A) ‚∑§¥«U⁄Ë ¬Êfl⁄ (B) ’‚ ¬Êfl⁄ (C) »§◊¸ ¬Êfl⁄

(D) ¬˝Êß◊⁄Ë ¬Êfl⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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10. In AutoCAD the number of grip points for a circle are :

•ÊÚ≈Ù∑Ò§«U ◊¥ ∞∑§ flÎûÊ ∑§ Á‹∞ Áª˝¬ ¬ÊÚß¢≈˜‚ ∑§Ë ‚¢ÅÿÊ „Ò —
(A) 5 (B) 2 (C) 3

(D) 4 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

11. Which of the following is an inversion of single slider crank chain ?

(A) Oldham’s coupling (B) Elliptical trammel (C) Hand pump

(D) Scotch yoke (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ Á‚¢ª‹ S‹Êß«U⁄ ∑˝Ò¥§∑§ øŸ ∑§Ê √ÿÈà∑˝§◊ „Ò?

(A) •ÊÀ«U„◊ ∑§¬Á‹¢ª (B) •á«UÊ∑§Ê⁄ ≈˛Ê◊‹ (C) „Ò¥«U ¬¢¬

(D) S∑§ÊÚø ÿÙ∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

12. The total energy transfer stored during change of state is given by __________.

Where δQ and δW represents infinitesimal elements of heat and work transfers, respectively.

•flSÕÊ ¬Á⁄flÃ¸Ÿ ∑§ ºı⁄UÊŸ ‚¢ª˝Á„Ã ∑È§‹ ™§¡Ê¸ SÕÊŸÊ¢Ã⁄áÊ __________ mÊ⁄UÊ ÁºÿÊ ¡ÊÃÊ „Ò–

¡„Ê° δQ •ÊÒ⁄ δW ∑˝§◊‡Ê— ™§c◊Ê •ÊÒ⁄ ∑§Êÿ¸ „SÃÊ¢Ã⁄áÊ ∑§ •ÁÃ‚Íˇ◊ ÃàflÙ¥ ∑§Ê ¬˝ÁÃÁŸÁœàfl ∑§⁄Ã „Ò¥–
(A) δQ −δW (B) δQ (C) δW

(D) δQ+δW (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

13. Who of the following is associated with the tradition of Thewa art in Rajasthan ?

(A) Pradeep Mukherjee (B) Mahesh Soni (C) Shree Lal Joshi

(D) Ghanshyam Nimbark (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ⁄UÊ¡SÕÊŸ ◊¥ ÕflÊ ∑§‹Ê ∑§Ë ¬⁄¢¬⁄UÊ ‚ ¡È«∏Ê „Ò?

(A) ¬˝ºË¬ ◊Èπ¡Ë¸ (B) ◊„‡Ê ‚ÙŸË (C) üÊË ‹Ê‹ ¡Ù‡ÊË

(D) ÉÊŸ‡ÿÊ◊ ÁŸê’Ê∑¸§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

14. Which of the following is a fire tube boiler ?

(A) Benson Boiler (B) Lansashire boiler (C) Babcock and wilcox boiler

(D) La Mont Boiler (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê »§Êÿ⁄ ≈KÍ’ ’ÊÚÿ‹⁄ „Ò?

(A) ’ã‚Ÿ ’ÊÚÿ‹⁄ (B) ‹Ò¥‚‡ÊÊÿ⁄ ’ÊÚÿ‹⁄ (C) ’Ò’∑§ÊÚ∑§ •ÊÒ⁄ Áfl‹∑§ÊÚÄ‚ ’ÊÚÿ‹⁄

(D) ‹Ê ◊ÊÚã≈ ’ÊÚÿ‹⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

15. Which of the following is not a western Rajasthani dialect ?

(A) Shekhawati (B) Bagdi (C) Marwari

(D) Mewati (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸË ’Ê‹Ë Ÿ„Ë¥ „Ò?

(A) ‡ÊπÊflÊ≈Ë (B) ’Êª«∏Ë (C) ◊Ê⁄flÊ«∏Ë

(D) ◊flÊÃË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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16. Which of the following region is associated with the river basin of Luni river ?

(A) Bundi (B) Tonk (C) Nagaur

(D) Karauli (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ˇÊòÊ ‹ÍŸË ŸºË ∑§ ’Á‚Ÿ ‚ ¡È«∏Ê „È•Ê „Ò?

(A) ’Í¢ºË (B) ≈Ù¥∑§ (C) ŸÊªı⁄

(D) ∑§⁄ı‹Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

17. A carburetor is used to supply :

(A) Petrol and diesel (B) Petrol and air (C) Petrol, air, and lubricating oil

(D) Diesel and air (E) Question not attempted

∑§Ê’Ù¸⁄≈⁄ ∑§Ê ©¬ÿÙª •Ê¬ÍÁÃ¸ ∑§ Á‹∞ Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) ¬≈˛Ù‹ •ÊÒ⁄ «UË¡‹ (B) ¬≈˛Ù‹ •ÊÒ⁄ „flÊ (C) ¬≈˛Ù‹, „flÊ •ÊÒ⁄ Áø∑§ŸÊß¸ Ã‹

(D) «UË¡‹ •ÊÒ⁄ „flÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

18. Battery ignition system is also known as :

(A) Oil ignition system (B) Simple ignition system (C) Compression ignition system

(D) Magneto ignition system (E) Question not attempted

’Ò≈⁄Ë ßÁªA‡ÊŸ Á‚S≈◊ ∑§Ù ß‚ ŸÊ◊ ‚ ÷Ë ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) Ã‹ ßÁªA‡ÊŸ Á‚S≈◊ (B) ‚⁄‹ ßÁªA‡ÊŸ Á‚S≈◊ (C) ‚¢¬Ë«∏Ÿ ßÁªA‡ÊŸ Á‚S≈◊

(D) ◊ÒªA≈Ù ßÁªA‡ÊŸ Á‚S≈◊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

19. The velocity ratio of belt drive can be expressed mathematically as :

’À≈ «˛Êßfl ∑§Ê flª •ŸÈ¬ÊÃ ªÁáÊÃËÿ M§¬ ‚ ß‚ ¬˝∑§Ê⁄ √ÿÄÃ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò —

(A)
2 1

1 2

N d
  

N .d
=

π
(B)

2 1

1 2

N d
  

N d
= (C)

2 2

1 1

N d
  

N d
=

(D)
2 1

1 2

N .d
  

N d

π

= (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

Where :

N
1
=Speed of driver in r.p.m

N
2
=Speed of follower in r.p.m

d
1
=Diameter of driver

d
2
=Diameter of follower

¡„Ê° —

N
1
=øÊ‹∑§ ∑§Ë ªÁÃ •Ê⁄.¬Ë.∞◊. ◊¥

N
2
=•ŸÈªÊ◊Ë ∑§Ë ªÁÃ •Ê⁄.¬Ë.∞◊. ◊¥

d
1
=øÊ‹∑§ ∑§Ê √ÿÊ‚

d
2
=•ŸÈªÊ◊Ë ∑§Ê √ÿÊ‚
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20. A hollow shaft has an external diameter of 300 mm and internal diameter of 150 mm.  Compare its strength with
that of a solid shaft of the same weight per unit length.

∞∑§ πÙπ‹ ‡ÊÊç≈ ∑§Ê ’Ê„⁄Ë √ÿÊ‚ xÆÆ Á◊◊Ë •ÊÒ⁄ •Ê¢ÃÁ⁄∑§ √ÿÊ‚ vzÆ Á◊◊Ë „Ò– ß‚∑§Ë ÃÊ∑§Ã ∑§Ë ÃÈ‹ŸÊ ¬˝ÁÃ ß∑§Êß¸ ‹¢’Êß¸
◊¥ ‚◊ÊŸ fl¡Ÿ ∑§ ∆Ù‚ ‡ÊÊç≈ ‚ ∑§⁄¥–
(A) 4.44 (B) 1.44 (C) 2.44

(D) 3.44 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

21. The ratio of isometric length to actual length of an object is __________.

Á∑§‚Ë flSÃÈ ∑§Ë ‚◊Á◊ÃËÿ ‹¢’Êß¸ •ÊÒ⁄ flÊSÃÁfl∑§ ‹¢’Êß¸ ∑§Ê •ŸÈ¬ÊÃ __________ „Ò–
(A) 2.0 (B) 0.5 (C) 0.816

(D) 1.23 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

22. Consider the following statements regarding the Governor :

(a) The Governor of a state is appointed by the President for a term of five years in office.

(b) Only Indian citizens above 30 years of age are eligible for appointment to this office.

(c) There shall be a council of ministers with the chief minister at the head, to aid and advise the Governor in
the exercise of his functions, except in so far as he is by or under this constitution required to exercise his
functions or any of them in his discretion.

Which of the above statements are correct ?

Choose the most appropriate answer from the options  given below :

(A) (a) and (c) (B) (a), (b) and (c) (C) (b) and (c)

(D) (a) and (b) (E) Question not attempted

⁄UÊÖÿ¬Ê‹ ∑§ ‚¢’¢œ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÙ¥ ¬⁄ ÁfløÊ⁄ ∑§⁄¥ —

(a) Á∑§‚Ë ⁄UÊÖÿ ∑§ ⁄UÊÖÿ¬Ê‹ ∑§Ù ⁄UÊc≈˛U¬ÁÃ mÊ⁄UÊ ¬Ê°ø fl·¸ ∑§Ë •flÁœ ∑§ Á‹∞ ÁŸÿÈÄÃ Á∑§ÿÊ ¡ÊÃÊ „Ò–

(b) ∑§fl‹ xÆ fl·¸ ‚ •Áœ∑§ •ÊÿÈ ∑§ ÷Ê⁄ÃËÿ ŸÊªÁ⁄∑§ „Ë ß‚ ¬º ¬⁄ ÁŸÿÈÁÄÃ ∑§ Á‹∞ ¬ÊòÊ „Ò¥–

(c) Á¡Ÿ ’ÊÃÙ¥ ◊¥ ß‚ ‚¢ÁflœÊŸ mÊ⁄UÊ ÿÊ ß‚∑§ •œËŸ ⁄UÊÖÿ¬Ê‹ ‚ ÿ„ •¬ÁˇÊÃ „Ò Á∑§ fl„ •¬Ÿ ∑Î§àÿÙ¥ ÿÊ ©Ÿ◊ ‚ Á∑§‚Ë ∑§Ù
•¬Ÿ Áflfl∑§ÊŸÈ‚Ê⁄ ∑§⁄¥, ©Ÿ ’ÊÃÙ¥ ∑§Ù ¿UÙ«∏∑§⁄ ⁄UÊÖÿ¬Ê‹ ∑§Ù •¬Ÿ ∑Î§àÿÙ¥ ∑§Ê ¬˝ÿÙª ∑§⁄Ÿ ◊¥ ‚„ÊÿÃÊ •ÊÒ⁄ ‚‹Ê„ ºŸ ∑§
Á‹∞ ∞∑§ ◊¢òÊË ¬Á⁄·º „ÙªË Á¡‚∑§Ê ¬˝œÊŸ, ◊ÈÅÿ◊¢òÊË „ÙªÊ–

©¬ÿÈ¸ÄÃ ∑§ÕŸÙ¥ ◊¥ ‚ ∑§ıŸ-‚Ê ‚„Ë „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) (a) •ÊÒ⁄ (c) (B) (a), (b) •ÊÒ⁄ (c) (C) (b) •ÊÒ⁄ (c)

(D) (a) •ÊÒ⁄ (b) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

23. Boiler rating is usually defined in terms of :

(A) Steam output in kg/hr (B) Maximum temperature of steam in Kelvin

(C) Heat transfer rate in kJ/hr (D) Heat transfer area in meter2

(E) Question not attempted

’ÊÚÿ‹⁄ ⁄Á≈¢ª ∑§Ù •Ê◊Ãı⁄ ¬⁄ ÁŸêŸ ∑§ M§¬ ◊¥ ¬Á⁄÷ÊÁ·Ã Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) ÷Ê¬ ©à¬ÊºŸ, Á∑§‹Ùª˝Ê◊/hr ◊¥ (B) ÷Ê¬ ∑§Ê •Áœ∑§Ã◊ ÃÊ¬◊ÊŸ, ∑§ÁÀflŸ ◊¥

(C) ™§c◊Ê SÕÊŸÊ¢Ã⁄áÊ º⁄, kJ/hr ◊¥ (D) ™§c◊Ê SÕÊŸÊ¢Ã⁄áÊ ˇÊòÊ»§‹, ◊Ë≈⁄2 ◊¥

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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24. The transmission angle is maximum when the crank angle with fixed link is :

≈˛Ê¢‚Á◊‡ÊŸ ∑§ÙáÊ •Áœ∑§Ã◊ „ÙÃÊ „Ò ¡’ ÁSÕ⁄ Á‹¢∑§ ∑§ ‚ÊÕ ∑˝Ò¥§∑§ ∑§ÙáÊ „ÙÃÊ „Ò —

(A) 2708 (B) 08 (C) 908

(D) 1808 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

25. The size of gear is usually specified by :

(A) Diametral Pitch (B) Pressure Angle (C) Pitch Circle Angle

(D) Circular Pitch (E) Question not attempted

Áªÿ⁄ ∑§Ê •Ê∑§Ê⁄ •Ê◊Ãı⁄ ¬⁄ ß‚ ¬˝∑§Ê⁄ ÁŸÁº¸c≈U Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) √ÿÊ‚ Á¬ø (B) º’Êfl ∑§ÙáÊ (C) Á¬ø ‚∑¸§‹ ∑§ÙáÊ

(D) ¬Á⁄¬òÊ Á¬ø (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

26. A fluid, which is incompressible and has no viscosity is :

(A) Ideal Plastic fluid (B) Ideal fluid (C) Real fluid

(D) Non –Newtonian fluid (E) Question not attempted

∞∑§ Ã⁄‹ ¬ºÊÕ¸, ¡Ù •‚¢¬Ë«UŸËÿ „Ò •ÊÒ⁄ Á¡‚◊¥ ∑§Ùß¸ ‡ÿÊŸÃÊ Ÿ„Ë¥ „Ò —

(A) •Êº‡Ê¸ å‹ÊÁS≈∑§ Ã⁄‹ ¬ºÊÕ¸ (B) •Êº‡Ê¸ Ã⁄‹ ¬ºÊÕ¸ (C) flÊSÃÁfl∑§ Ã⁄‹ ¬ºÊÕ¸

(D) ªÒ⁄-ãÿÍ≈ÙÁŸÿŸ Ã⁄‹ ¬ºÊÕ¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

27. Which place in Rajasthan is called ‘city of Hundred islands’ ?

(A) Jaisalmer (B) Jaipur (C) Tonk

(D) Banswara (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ Á∑§‚ SÕÊŸ ∑§Ù “‚ı mË¬Ù¥ ∑§Ê ‡Ê„⁄” ∑§„Ê ¡ÊÃÊ „Ò?

(A) ¡Ò‚‹◊⁄ (B) ¡ÿ¬È⁄ (C) ≈Ù¥∑§

(D) ’Ê¢‚flÊ«∏Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

28. Which of the following fort is also called ‘Sonar ka fort’ ?

Choose the most appropriate option.

(A) Gagron Fort (B) Bhainsror fort (C) Jalore Fort

(D) Jaisalmer Fort (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ Á∑§‹ ∑§Ù “‚ÙŸÊ⁄ ∑§Ê Á∑§‹Ê” ÷Ë ∑§„Ê ¡ÊÃÊ „Ò?

‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈŸ¥–

(A) ªÊª⁄ÙŸ Á∑§‹Ê (B) ÷Ò¥‚⁄Ù«∏ Á∑§‹Ê (C) ¡Ê‹ı⁄ Á∑§‹Ê

(D) ¡Ò‚‹◊⁄ Á∑§‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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29. To which city does the famous folk dance Ghudla belong ?

Choose the most appropriate answer from the options given below.

(A) Bikaner (B) Jodhpur (C) Jaipur

(D) Tonk (E) Question not attempted

¬˝Á‚h ‹Ù∑§ ŸÎàÿ “ÉÊÈ«∏‹Ê” Á∑§‚ ‡Ê„⁄ ‚ ‚¢’¢ÁœÃ „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ’Ë∑§ÊŸ⁄ (B) ¡Ùœ¬È⁄ (C) ¡ÿ¬È⁄

(D) ≈Ù¥∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

30. During phase change of a pure substance :

‡ÊÈh ¬ºÊÕ¸ ∑§ •flSÕÊ ¬Á⁄flÃ¸Ÿ ∑§ ºı⁄UÊŸ —
(A) dU=0 (B) dG=0 (C) dP=0

(D) dH=0 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

31. For a circular section of diameter ‘D’, there will be no tensile stress, if the load lies in a circle of diameter ‘
D

4
’with

centre ‘O’ of the main circular section is known as :

(A) Zeroth law of thermodynamics (B) Third rule

(C) Archemadis Rule (D) Middle quarter rule for circular section

(E) Question not attempted

√ÿÊ‚ ‘D’ ∑§ ∞∑§ flÎûÊÊ∑§Ê⁄ π¢«U ∑§ Á‹∞, ∑§Ùß¸ Ããÿ ¬˝ÁÃ’‹ Ÿ„Ë¥ „ÙªÊ, ÿÁº ÷Ê⁄ ◊ÈÅÿ flÎûÊÊ∑§Ê⁄ π¢«U ∑§ ∑§¥Œ˝ ‘O’ ∑§ ‚ÊÕ √ÿÊ‚

‘
D

4
’ ∑§ ∞∑§ flÎûÊ ◊¥ ÁSÕÃ „Ò, Á¡‚ ß‚ ¬˝∑§Ê⁄ ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) ™§c◊ÊªÁÃ∑§Ë ∑§Ê ‡ÊÍãÿflÊ° ÁŸÿ◊ (B) ÃË‚⁄UÊ ÁŸÿ◊

(C) •Ê∑¸§◊Á«U‚ ÁŸÿ◊ (D) flÎûÊÊ∑§Ê⁄ π¢«U ∑§ Á‹∞ ◊äÿ ÁÃ◊Ê„Ë ÁŸÿ◊

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

32. Which lubrication system is generally adopted for high capacity engines ?

(A) Full Pressure system (B) Mist lubrication system (C) Dry sump lubrication system

(D) Splash system (E) Question not attempted

©ìÊ ˇÊ◊ÃÊ flÊ‹ ß¢¡ŸÙ¥ ∑§ Á‹∞ •Ê◊Ãı⁄ ¬⁄ ∑§ıŸ ‚Ë SŸ„Ÿ ¬˝áÊÊ‹Ë •¬ŸÊß¸ ¡ÊÃË „Ò ?

(A) ¬ÍáÊ¸ º’Êfl ¬˝áÊÊ‹Ë (B) Á◊S≈ SŸ„Ÿ ¬˝áÊÊ‹Ë (C) «˛Êß¸ ‚ê¬ SŸ„Ÿ ¬˝áÊÊ‹Ë

(D) Så‹Ò‡Ê ¬˝áÊÊ‹Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

33. Who among the following is not from ‘Rathore Vansh of Marwar’ ?

(A) Rao Beeka (B) Rao Maldev (C) Rao Ranmal

(D) Mota Raja Udai Singh (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ “◊Ê⁄flÊ«∏ ∑§ ⁄UÊ∆ı«∏ fl¢‡Ê” ‚ Ÿ„Ë¥ „Ò?

(A) ⁄UÊfl ’Ë∑§Ê (B) ⁄UÊfl ◊Ê‹ºfl (C) ⁄UÊfl ⁄áÊ◊‹

(D) ◊Ù≈Ê ⁄UÊ¡Ê ©ºÿ Á‚¢„ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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34. Match List - I with List - II :

List - I List - II

(a) Venturimeter (I) Pressure measurement

(b) Orifice meter (II) Bend at right angle

(c) Pitot tube (III) Converging diverging section

(d) Manometer (IV) Hole in a plate

‚ÍøË-I ∑§Ù ‚ÍøË-II ‚ Á◊‹Ê∞° —

‚ÍøË-I ‚ÍøË-II

(a) fl¥øÈ⁄Ë◊Ë≈⁄ (I) ºÊ’ ◊Ê¬Ÿ

(b) ⁄¢œ˝◊Ê¬Ë (II) ‚◊∑§ÙáÊ ¬⁄ ◊Ù«∏

(c) Á¬≈Ù≈ ≈KÍ’ (III) •Á÷‚Ê⁄Ë •¬‚Ê⁄Ë •ŸÈ÷Êª

(d) ◊ÒŸÙ◊Ë≈⁄ (IV) å‹≈U ◊¥ ¿Uº

Choose the most appropriate answer from the options given below :

ŸËø ÁŒ∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄U øÈŸ¥ —

(A) (a)-(I), (b)-(IV), (c)-(II), (d)-(III) (B) (a)-(IV), (b)-(III), (c)-(II), (d)-(I)

(C) (a)-(III), (b)-(IV), (c)-(II), (d)-(I) (D) (a)-(III), (b)-(II), (c)-(IV), (d)-(I)

(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

35. The height of watt governor is :

flÊ≈ ªflŸ¸⁄ ∑§Ë ™§°øÊß¸ „Ò —

(A) 2

g

ω

(B) 3

g

ω

(C)

2

g

ω

(D) gω2 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

36. The acceleration of the piston in a reciprocating steam engine is given by :

∞∑§ ¬˝àÿÊªÊ◊Ë ÷Ê¬ ß¢¡Ÿ ◊¥ Á¬S≈Ÿ ∑§Ê àfl⁄áÊ ÁŸêŸ ¬˝∑§Ê⁄ ‚ ÁºÿÊ ¡ÊÃÊ „Ò–

(A)
 
 
 

θ
θ+

2 sin2
w r sin   

n
(B)

 
 
 

θ
θ−

2 cos2
w r cos   

n
(C)

 
 
 

θ
θ+

2 cos2
w r cos   

n

(D)
 
 
 

θ
θ−

2 sin2
w r sin   

n
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

37. According to the Rajasthan Guaranteed Delivery of Public Service Act 2011, under which section are the ‘designated
officers’ and “stipulated time limits” notified ?

(A) Section – 2 (B) Section – 3 (C) Sub Section – 2

(D) Sub Section – 1 (E) Question not attempted

⁄UÊ¡SÕÊŸ ‹Ù∑§ ‚flÊ ªÊ⁄¢≈Ë •ÁœÁŸÿ◊ wÆvv ∑§ •ŸÈ‚Ê⁄ Á∑§‚ œÊ⁄UÊ ∑§ Ã„Ã ¬ºÊÁ÷Á„Ã •Áœ∑§ÊÁ⁄ÿÙ¥ ∑§Ë ÁŸÿÈÁÄÃ ∞fl¢ ÁŸœÊ¸Á⁄Ã
‚◊ÿ ‚Ë◊Ê •Áœ‚ÍÁøÃ ∑§Ë ¡ÊÃË „Ò?

(A) œÊ⁄UÊ-w (B) œÊ⁄UÊ-x (C) ©¬œÊ⁄UÊ-w

(D) ©¬œÊ⁄UÊ-v (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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38. Which of the following fort is located on the banks of river Parvan close to Baran city ?

(A) Chitra Mahal (B) Lohagarh Fort (C) Shergarh Fort

(D) Taragarh Fort (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê Á∑§‹Ê ’Ê⁄UÊ° ‡Ê„⁄ ∑§ ¬Ê‚ ¬⁄flŸ ŸºË ∑§ Ã≈ ¬⁄ ÁSÕÃ „Ò?

(A) ÁøòÊÊ ◊„‹ (B) ‹Ù„Êª…U∏ Á∑§‹Ê (C) ‡Ê⁄ª…U∏ Á∑§‹Ê

(D) ÃÊ⁄UÊª…U∏ Á∑§‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

39. A simply supported beam carries a point load at the centre. What will be the effect on deflection at the centre if its
length is reduced to half ?

(A) One-sixteenth (B) Half (C) One-fourth

(D) One-eighth (E) Question not attempted

∞∑§ ‚ÊœÊ⁄áÊ ‚◊ÁÕ¸Ã ’Ë◊ ∑§¥Œ˝ ¬⁄ ∞∑§ Á’¢ºÈ ÷Ê⁄ fl„Ÿ ∑§⁄ÃË „Ò–  ÿÁº ß‚∑§Ë ‹¢’Êß¸ •ÊœË ∑§⁄ ºË ¡Ê∞ ÃÙ ∑§¥Œ˝ ¬⁄ ÁflˇÊ¬áÊ
¬⁄ ÄÿÊ ¬˝÷Êfl ¬«∏ªÊ?

(A) ∞∑§-‚Ù‹„flÊ¢ (B) •ÊœÊ (C) ∞∑§-øıÕÊß¸

(D) ∞∑§-•Ê∆flÊ¢ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

40. For a rigid link, the velocity of one end of the link related to another end will be :

(A) at −1808 to the link (B) at 458 to the link (C) at right angle to the link

(D) parallel to the link (E) Question not attempted

∞∑§ ∑§∆UÊ⁄U Á‹¥∑§ ∑§ Á‹∞, Á‹¥∑§ ∑§ ∞∑§ Á‚⁄U ∑§Ë ªÁÃ ŒÍ‚⁄U Á‚⁄U ‚ ‚¥’¥ÁœÃ „ÊªË —

(A) Á‹¥∑§ ‚ −1808 ¬⁄U (B) Á‹¥∑§ ‚ 458 ¬⁄U (C) Á‹¥∑§ ‚ ‚◊∑§ÊáÊ (right angle) ¬⁄U
(D) Á‹¥∑§ ∑§ ‚◊ÊŸÊ¥Ã⁄U (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

41. The air pressure inside the tire of an automobile read the :

(A) Gauge pressure (B) Absolute pressure (C) Vacuum pressure

(D) Atmospheric pressure (E) Question not attempted

∞∑§ •ÊÚ≈Ù◊Ù’Êß‹ ≈Êÿ⁄ ∑§ •¢º⁄ „flÊ ∑§Ê º’Êfl ß‚ ¬˝∑§Ê⁄ „Ò —

(A) ª¡ º’Êfl (B) ÁŸ⁄¬ˇÊ º’Êfl (C) flÒÄÿÍ◊ º’Êfl

(D) flÊÿÈ◊¢«U‹Ëÿ º’Êfl (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

42. Which of the following region of Rajasthan is not among the major regions of petroleum reserves in India ?

Choose the most appropriate answer from the options given below :

(A) Barmer (B) Jhunjhunu (C) Bikaner

(D) Jaisalmer (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§Ê ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ˇÊòÊ ÷Ê⁄Ã ◊¥ ¬≈˛ÙÁ‹ÿ◊ ÷¢«UÊ⁄ ∑§ ¬˝◊Èπ ˇÊòÊÙ¥ ◊¥ ‚ Ÿ„Ë¥ „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ’Ê«∏◊⁄ (B) ¤ÊÈ¢¤ÊÈŸÍ (C) ’Ë∑§ÊŸ⁄

(D) ¡Ò‚‹◊⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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43. The link which does not undergo any deformation while transmitting the motion is known as :

(A) Non-rigid link (B) Rigid link (C) Flexible link

(D) Fluid link (E) Question not attempted

fl„ Á‹¢∑§ ¡Ù ªÁÃ ‚¢øÊÁ⁄Ã ∑§⁄Ã ‚◊ÿ Á∑§‚Ë ÷Ë ÁflM§¬áÊ ‚ Ÿ„Ë¥ ªÈ¡⁄ÃË „Ò, ©‚ ∑§„Ê ¡ÊÃÊ „Ò —

(A) ªÒ⁄-∑§∆Ù⁄ Á‹¢∑§ (B) ∑§∆Ù⁄ Á‹¢∑§ (C) ‹øË‹Ê Á‹¢∑§

(D) Œ˝fl Á‹¢∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

44. With the decrease of governor speed :

(A) Radius of rotation increases but height of governor decreases.

(B) Radius of rotation decreases but height of governor increases.

(C) Radius of rotation and height of governor decreases.

(D) Radius of rotation and height of governor increases.

(E) Question not attempted

ªflŸ¸⁄ ∑§Ë ªÁÃ ◊¥ ∑§◊Ë ∑§ ‚ÊÕ —

(A) ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ’…U∏ ¡ÊÃË „Ò ‹Á∑§Ÿ ªflŸ¸⁄ ∑§Ë ™§°øÊß¸ ∑§◊ „Ù ¡ÊÃË „Ò–

(B) ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ∑§◊ „Ù ¡ÊÃË „Ò ‹Á∑§Ÿ ªflŸ¸⁄ ∑§Ë ™§°øÊß¸ ’…U∏ ¡ÊÃË „Ò–

(C) ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ •ÊÒ⁄ ªflŸ¸⁄ ∑§Ë ™§°øÊß¸ ∑§◊ „Ù ¡ÊÃË „Ò–

(D) ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ •ÊÒ⁄ ªflŸ¸⁄ ∑§Ë ™§°øÊß¸ ’…U∏ ¡ÊÃË „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

45. The strength of the beam mainly depends upon :

(A) bending moment (B) weight (C) centre of gravity

(D) section modulus (E) Question not attempted

’Ë◊ ∑§Ë ÃÊ∑§Ã ◊ÈÅÿ M§¬ ‚ ß‚ ¬⁄ ÁŸ÷¸⁄ ∑§⁄ÃË „Ò —

(A) ¤ÊÈ∑§Ÿ flÊ‹Ê •ÊÉÊÍáÊ¸ (B) fl¡Ÿ (C) ªÈL§àflÊ∑§·¸áÊ ∑§Ê ∑§¥Œ˝

(D) •ŸÈ÷Êª ◊Ê¬Ê¢∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

46. According to Kennedy’s theorem, the instantaneous centre of three bodies having relative motion lie on a :

(A) centre of curvature (B) curved path (C) straight line

(D) point (E) Question not attempted

∑Ò§Ÿ«UË ∑§ ¬˝◊ÿ ∑§ •ŸÈ‚Ê⁄, ‚Ê¬ˇÊ ªÁÃ flÊ‹ ÃËŸ Á¬¢«UÙ¥ ∑§Ê ÃÊà∑§ÊÁ‹∑§ ∑§¥Œ˝ ß‚ ¬⁄ ÁSÕÃ „Ò —

(A) fl∑˝§ÃÊ ∑§¥Œ˝ (B) fl∑˝§ ¬Õ (C) ‚⁄‹ ⁄πÊ

(D) Á’¢ºÈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

47. The Cam follower generally used in automobile engines :

(A) Roller follower (B) Knife edge follower (C) Flat face follower

(D) Spherical face follower (E) Question not attempted

•Ê◊ Ãı⁄ ¬⁄ •ÊÚ≈Ù◊Ù’Êß‹ ß¢¡Ÿ ◊¥ ßSÃ◊Ê‹ „ÙŸ flÊ‹Ê ∑Ò§◊ »§ÊÚ‹Ù•⁄ —

(A) ⁄Ù‹⁄ »§ÊÚ‹Ù•⁄ (B) ŸÊß»§ ∞¡ »§ÊÚ‹Ù•⁄ (C) ç‹Ò≈U »§‚ »§ÊÚ‹Ù•⁄

(D) ªÙ‹Ê∑§Ê⁄ »§‚ »§ÊÚ‹Ù•⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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48. If there are several unbalanced masses required in different planes, the minimum number of balancing masses
required is :

(A) Four (B) One (C) Two

(D) Three (E) Question not attempted

ÿÁº ÁflÁ÷ãŸ Ã‹Ù¥ ◊¥ ∑§ß¸ •‚¢ÃÈÁ‹Ã Œ˝√ÿ◊ÊŸÙ¥ ∑§Ë •Êfl‡ÿ∑§ÃÊ „Ò, ÃÙ •Êfl‡ÿ∑§ ‚¢ÃÈ‹Ÿ Œ˝√ÿ◊ÊŸÙ¥ ∑§Ë ãÿÍŸÃ◊ ‚¢ÅÿÊ „Ò —

(A) øÊ⁄ (B) ∞∑§ (C) ºÙ

(D) ÃËŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

49. Mathematically, crippling load by Rankine’s formula is :

Where - σ
c
=ultimate crushing stress, α=Rankine constant, A=area of cross section, K=least radius of gyration,

L
e
=effective length

ªÁáÊÃËÿ M§¬ ‚, ⁄Ò¥Á∑§Ÿ ∑§ ‚ÍòÊ mÊ⁄UÊ •¬¢ª ÷Ê⁄ „Ò —

¡„Ê° - σ
c
=•¢ÁÃ◊ ∑È§ø‹ ÃŸÊfl, α=⁄Ò¥Á∑§Ÿ ÁSÕ⁄UÊ¢∑§, A=∑˝§ÊÚ‚ ‚Ä‡ÊŸ ∑§Ê ˇÊòÊ, K=¬Á⁄∑˝§◊áÊ ∑§Ë ‚’‚ ¿UÙ≈Ë ÁòÊÖÿÊ,

L
e
= ¬˝÷ÊflË ‹¢’Êß¸

(A)

2 2

c

e

A
P  

L
1

K

x

 
  

σ
=

+α
(B)

c

2

e

A
P  

L
1

K

x

 
  

σ
=

+α
(C)

2

c

2

e

A
P  

L
1

K

x

 
  

σ
=

+α

(D)

2 2
c

2

e

A
P  

L
1

K

x

 
  

σ
=

+α
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

50. In this type of section, one quarter of the object/assembly is removed :

(A) Removed Section (B) Quarter Section (C) Half Section

(D) Full Section (E) Question not attempted

ß‚ ¬˝∑§Ê⁄ ∑§ ‚Ä‡ÊŸ ◊¥, •ÊÚé¡Ä≈/•‚¥’‹Ë ∑§Ê ∞∑§ øıÕÊß¸ Á„S‚Ê „≈Ê ÁºÿÊ ¡ÊÃÊ „Ò–

(A) „≈ÊÿÊ ªÿÊ ‚Ä‡ÊŸ (B) øıÕÊß¸ ‚Ä‡ÊŸ (C) •ÊœÊ ‚Ä‡ÊŸ

(D) ¬Í⁄UÊ ‚Ä‡ÊŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

51. Which of the following is a Rabi crop in Rajasthan ?

(A) Castor seed (B) Bajra (C) Taramira

(D) Maize (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë ⁄UÊ¡SÕÊŸ ◊¥ ⁄’Ë ∑§Ë »§‚‹ „Ò?

(A) •⁄¢«UË ∑§ ’Ë¡ (B) ’Ê¡⁄UÊ (C) ÃÊ⁄UÊ◊Ë⁄UÊ

(D) ◊Ä∑§Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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52. Gandhi Sagar, Rana Pratap Sagar and Jawahar Sagar are constructed on __________ river.

Choose the most appropriate answer from the options  given below :

(A) Sabarmati (B) Jakham and Som (C) Chambal

(D) Mahi (E) Question not attempted

ªÊ¢œË ‚Êª⁄, ⁄UÊáÊÊ ¬˝ÃÊ¬ ‚Êª⁄ •ÊÒ⁄ ¡flÊ„⁄ ‚Êª⁄ __________ ŸºË ¬⁄ ’Ÿ „Ò¥–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ‚Ê’⁄◊ÃË (B) ¡Êπ◊ •ÊÒ⁄ ‚Ù◊ (C) øê’‹

(D) ◊Ê„Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

53. In a spark ignition engine working on ideal Otto cycle, the compression ratio is 5.5.  The work output per cycle
(i.e, area of the P-V diagram) is equal to 23.625×105×V

c
 J, where V

c
 is the clearance volume in m3.  The indicated

mean effective pressure is :

(A) 106.300 bar (B) 4.295 bar (C) 5.250 bar

(D) 86.870 bar (E) Question not attempted

•Êº‡Ê¸ •ÊÚ^Ù ø∑˝§ ¬⁄ ∑§Ê◊ ∑§⁄Ÿ flÊ‹ S¬Ê∑¸§ ßÁªA‡ÊŸ ß¢¡Ÿ ◊¥, ‚¢¬Ë«∏Ÿ •ŸÈ¬ÊÃ z.z „Ò– ¬˝ÁÃ ø∑˝§ ∑§Êÿ¸ •Ê©≈¬È≈ (ÿÊŸË,
¬Ë-flË •Ê⁄π ∑§Ê ˇÊòÊ) 23.625×105×V

c
 J ∑§ ’⁄UÊ’⁄ „Ò, ¡„Ê° V

c
 m3 ◊¥ ÁŸ∑§Ê‚Ë •ÊÿÃŸ „Ò–  ‚¢∑§ÁÃÃ •ÊÒ‚Ã ¬˝÷ÊflË º’Êfl

„Ò —

(A) vÆ{.xÆÆ ’Ê⁄ (B) y.w~z ’Ê⁄ (C) z.wzÆ ’Ê⁄

(D) }{.}|Æ ’Ê⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

54. Which of the following is not true regarding supercharging of Internal combustion engines ?

(A) It can help the air craft engines at high altitude where less oxygen is available.

(B) It is a process of increasing the density of air fuel mixture in spark ignition engines.

(C) It can be done with the help of a compressor.

(D) It increases the consumption of lubricating oil.

(E) Question not attempted

•Ê¢ÃÁ⁄∑§ º„Ÿ ß¢¡ŸÙ¥ ∑§ ‚È¬⁄øÊÁ¡Zª ∑§ ‚¢’¢œ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ∑§ÕŸ ‚àÿ Ÿ„Ë¥ „Ò?

(A) ÿ„ ©ìÊ ™§°øÊß¸ ¬⁄ Áfl◊ÊŸ Á‡ÊÀ¬ ß¢¡ŸÙ¥ ∑§Ë ◊ºº ∑§⁄ ‚∑§ÃÊ „Ò ¡„Ê° ∑§◊ •ÊÚÄ‚Ë¡Ÿ ©¬‹éœ „Ò–

(B) ÿ„ S¬Ê∑¸§ ßÁªA‡ÊŸ ß¢¡Ÿ ◊¥ flÊÿÈ ßZœŸ Á◊üÊáÊ ∑§ ÉÊŸàfl ∑§Ù ’…U∏ÊŸ ∑§Ë ∞∑§ ¬˝Á∑˝§ÿÊ „Ò–

(C) ÿ„ ∑¢§¬˝‚⁄ ∑§Ë ◊ºº ‚ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

(D) ÿ„ Áø∑§ŸÊß¸ Ã‹ ∑§Ë π¬Ã ∑§Ù ’…U∏ÊÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

55. When the body vibrates under the influence of external force, then body is said under :

(A) Natural vibration (B) Tree vibration (C) Forced vibration

(D) Damped vibration (E) Question not attempted

¡’ ‡Ê⁄Ë⁄ ’Ê„⁄Ë ’‹ ∑§ ¬˝÷Êfl ◊¥ ∑¢§¬Ÿ ∑§⁄ÃÊ „Ò, ÃÙ ‡Ê⁄Ë⁄ ∑§Ù ∑§„Ê ¡ÊÃÊ „Ò —

(A) ¬˝Ê∑Î§ÁÃ∑§ ∑¢§¬Ÿ (B) flÎˇÊ ∑¢§¬Ÿ (C) ’‹¬Ífl¸∑§ ∑¢§¬Ÿ

(D) •fl◊¢ÁºÃ ∑¢§¬Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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56. The following assumption which is not true with respect to Euler’s column theory is :

(A) The column will fail by buckling alone.

(B) The cross-section of the column is uniform throughout its length.

(C) The length of column is very large as compared to its lateral dimensions.

(D) The bending stress is very small as compared to the direct stress.

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ œÊ⁄áÊÊ ¡Ù ÿÍ‹⁄ ∑§ SÃ¢÷ Á‚hÊ¢Ã ∑§ ‚¢’¢œ ◊¥ ‚àÿ Ÿ„Ë¥ „Ò —

(A) SÃ¢÷ ∑§fl‹ ’∑§Á‹¢ª ‚ Áfl»§‹ „Ù ¡Ê∞ªÊ–

(B) SÃ¢÷ ∑§Ê •ŸÈ¬˝SÕ ∑§Ê≈ ß‚∑§Ë ¬Í⁄Ë ‹¢’Êß¸ ◊¥ ∞∑§ ‚◊ÊŸ „Ò–

(C) SÃ¢÷ ∑§Ë ‹¢’Êß¸ ß‚∑§ ¬Ê‡fl¸ •ÊÿÊ◊Ù¥ ∑§Ë ÃÈ‹ŸÊ ◊¥ ’„ÈÃ ’«∏Ë „Ò–

(D) ¤ÊÈ∑§Ÿ flÊ‹Ê ÃŸÊfl ¬˝àÿˇÊ ÃŸÊfl ∑§Ë ÃÈ‹ŸÊ ◊¥ ’„ÈÃ ¿UÙ≈Ê „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

57. A bolt is passed through a tube and tightened on the other end with the help of a washer and nut. If nut is fully
tightened, then :

(A) Tube is under tension but bolt is under compression.

(B) Tube and bolt are under tension.

(C) Tube and bolt are under compression.

(D) Bolt is under tension but tube is under compression.

(E) Question not attempted

∞∑§ ’ÙÀ≈ ∑§Ù ∞∑§ ≈KÍ’ ‚ ªÈ¡Ê⁄UÊ ¡ÊÃÊ „Ò •ÊÒ⁄ ºÍ‚⁄Ë Ã⁄»§ flÊÚ‡Ê⁄ •ÊÒ⁄ Ÿ≈ ∑§Ë ◊ºº ‚ ∑§‚ ÁºÿÊ ¡ÊÃÊ „Ò– ÿÁº Ÿ≈ ¬Í⁄Ë Ã⁄„
‚ ∑§‚ ÁºÿÊ ¡ÊÃÊ „Ò, ÃÙ —

(A) ≈KÍ’ ÃŸÊfl ◊¥ „Ò ‹Á∑§Ÿ ’ÙÀ≈ ‚¢¬Ë«∏Ÿ ◊¥ „Ò–

(B) ≈KÍ’ •ÊÒ⁄ ’ÙÀ≈ ÃŸÊfl ◊¥ „Ò¥–

(C) ≈KÍ’ •ÊÒ⁄ ’ÙÀ≈ ‚¢¬Ë«∏Ÿ ◊¥ „Ò¥–

(D) ’ÙÀ≈ ÃŸÊfl ◊¥ „Ò ‹Á∑§Ÿ ≈KÍ’ ‚¢¬Ë«∏Ÿ ◊¥ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

58. Copper was found in the excavated areas in Rajasthan.  Out of these, Copper supply to the Harappans was
provided by __________.

Choose the most appropriate answer from the options given below.

(A) Bagor in Bhilwara (B) Ganeshwar in Sikar (C) Ahar in Udaipur

(D) Banas in Rajasmand (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ©àπÁŸÃ ˇÊòÊÙ¥ ◊¥ ÃÊ¢’Ê ¬ÊÿÊ ªÿÊ ÕÊ–  ßŸ◊¥ ‚ „«∏å¬ÊflÊÁ‚ÿÙ¥ ∑§Ù ÃÊ¢’ ∑§Ë •Ê¬ÍÁÃ¸ __________ mÊ⁄UÊ ∑§Ë ªß¸ ÕË–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ÷Ë‹flÊ«∏Ê ◊¥ ’ÊªÙ⁄ (B) ‚Ë∑§⁄ ◊¥ ªáÊ‡fl⁄ (C) ©ºÿ¬È⁄ ◊¥ •Ê„«∏

(D) ⁄UÊ¡‚◊¢º ◊¥ ’ŸÊ‚ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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59. In order to view a 3D model from different angles the suitable command in AutoCAD is :

(A) ANGLE (B) VIEW (C) MIRROR

(D) ORBIT (E) Question not attempted

3D ◊ÊÚ«U‹ ∑§Ù ÁflÁ÷ãŸ ∑§ÙáÊÙ¥ ‚ ºπŸ ∑§ Á‹∞ •ÊÚ≈Ù∑Ò§«UU ◊¥ ©¬ÿÈÄÃ ∑§◊Ê¢«U „Ò —

(A) ∞¢ª‹ (B) √ÿÍ (C) Á◊⁄⁄

(D) •ÊÚÁ’¸≈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

60. Which art of Pratapgarh of Rajasthan is famous, in which intricate gold work is done between the glass holds ?

(A) Patwa (B) Aari tari (C) Thewa art

(D) Mollela (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§ ¬˝ÃÊ¬ª…U∏ ∑§Ë ∑§ıŸ ‚Ë ∑§‹Ê ¬˝Á‚h „Ò, Á¡‚◊¥ ∑§Ê°ø ∑§ ’Ëø ◊¥ ‚ÙŸ ∑§Ê ’Ê⁄Ë∑§ ∑§Ê◊ Á∑§ÿÊ ¡ÊÃÊ „Ò?

(A) ¬≈flÊ (B) •Ê⁄Ë ÃÊ⁄Ë (C) ÕflÊ ∑§‹Ê

(D) ◊Ù‹‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

61. Due to which of the following reason, does Rajasthan receive less rainfall ?

Choose the most appropriate answer from the following options :

(A) Due to their terrestrial origin these winds remain dry.

(B) Monsoon forests are found here.

(C) Due to change in the temperature, the pressure also keeps sliding.

(D) The Aravali ranges are in a parallel position to the monsoon winds.

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ∑§Ê⁄áÊ ‚ ⁄UÊ¡SÕÊŸ ◊¥ ∑§◊ fl·Ê¸ „ÙÃË „Ò?

ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) SÕ‹Ëÿ ©à¬ÁûÊ ∑§ ∑§Ê⁄áÊ ÿ „flÊ∞° ‡ÊÈc∑§ ⁄„ÃË „Ò¥–

(B) ÿ„Ê° ◊ÊŸ‚ÍŸË flŸ ¬Ê∞ ¡ÊÃ „Ò¥–

(C) ÃÊ¬◊ÊŸ ◊¥ ¬Á⁄flÃ¸Ÿ ∑§ ∑§Ê⁄áÊ flÊÿÈºÊ’ ÷Ë ÉÊ≈ÃÊ-’…U∏ÃÊ ⁄„ÃÊ „Ò–

(D) •⁄UÊfl‹Ë üÊÎ¥π‹Ê∞° ◊ÊŸ‚ÍŸ „flÊ•Ê¥ ∑§ ‚◊ÊŸÊ¥Ã⁄U ÁSÕÁÃ ◊¥ „Ò¥–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

62. The function of a dynamometer is :

(A) To balance the engine to reduce vibrations

(B) To regulate fuel supply to an engine

(C) To apply brakes in an automobile

(D) To measure power of an engine

(E) Question not attempted

«UÊÿŸ◊Ù◊Ë≈⁄ ∑§Ê ∑§Êÿ¸ „Ò —

(A) ∑¢§¬Ÿ ∑§Ù ∑§◊ ∑§⁄Ÿ ∑§ Á‹∞ ß¢¡Ÿ ∑§Ù ‚¢ÃÈÁ‹Ã ∑§⁄ŸÊ

(B) ß¢¡Ÿ ∑§Ù ßZœŸ ∑§Ë •Ê¬ÍÁÃ¸ ∑§Ù ÁflÁŸÿÁ◊Ã ∑§⁄ŸÊ

(C) •ÊÚ≈Ù◊Ù’Êß‹ ◊¥ ’˝∑§ ‹ªÊŸÊ

(D) ß¢¡Ÿ ∑§Ë ‡ÊÁÄÃ ∑§Ù ◊Ê¬ŸÊ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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63. To show the cross-section of a crane hook in machine drawing, the type of section used is :

(A) Revolved Section (B) Full Section (C) Half Section

(D) Removed Section (E) Question not attempted

◊‡ÊËŸ «˛Êß¢ª ◊¥ ∑˝§Ÿ „È∑§ ∑§ ∑˝§ÊÚ‚-‚Ä‡ÊŸ ∑§Ù ÁºπÊŸ ∑§ Á‹∞, ©¬ÿÙª Á∑§∞ ¡ÊŸ flÊ‹ ‚Ä‡ÊŸ ∑§Ê ¬˝∑§Ê⁄ „Ò —

(A) ¬Á⁄U∑˝§◊áÊ ‚Ä‡ÊŸ (B) ¬ÍáÊ¸ ‚Ä‡ÊŸ (C) •ÊœÊ ‚Ä‡ÊŸ

(D) „≈ÊÿÊ ªÿÊ ‚Ä‡ÊŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

64. A gas turbine works on which one of the following cycle ?

(A) Dual cycle (B) Brayton cycle (C) Otto cycle

(D) Rankine cycle (E) Question not attempted

ªÒ‚ ≈⁄’ÊßŸ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ø∑˝§ ¬⁄ ∑§Ê◊ ∑§⁄ÃÊ „Ò?

(A) ºÙ„⁄UÊ ø∑˝§ (B) ’˝≈Ÿ ø∑˝§ (C) •Ê≈Ù ø∑˝§

(D) ⁄Ò¥Á∑§Ÿ ø∑˝§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

65. A pelton wheel is :

(A) Mixed Flow impulse turbine (B) Axial Flow impulse turbine

(C) Radial Flow impulse turbine (D) Inward Flow impulse turbine

(E) Question not attempted

∞∑§ ¬À≈Ÿ √„Ë‹ „Ò —

(A) Á◊ÁüÊÃ ¬˝flÊ„ •Êflª ≈’Ê¸ßŸ (B) •ˇÊËÿ ¬˝flÊ„ •Êflª ≈’Ê¸ßŸ

(C) ⁄Á«Uÿ‹ ¬˝flÊ„ •Êflª ≈’Ê¸ßŸ (D) •Êfl∑§ ¬˝flÊ„ •Êflª ≈’Ê¸ßŸ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

66. Which of the following is correct in context of Rajasthan state Human Rights Commission ?

(A) One of its Chairmen is a retired judge of Supreme Court of India.

(B) It was constituted on 18-01-1999 by notification issued by Govt. of Rajasthan.

(C) The commission became functional from October 2000.

(D) Rajasthan Human Rights commission has one chairperson and 3 members.

(E) Question not attempted

⁄UÊ¡SÕÊŸ ⁄UÊÖÿ ◊ÊŸflÊÁœ∑§Ê⁄ •ÊÿÙª ∑§ ‚¢º÷¸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‚„Ë „Ò?

(A) ß‚∑§ ∞∑§ •äÿˇÊ ÷Ê⁄Ã ∑§ ‚flÙ¸ìÊ ãÿÊÿÊ‹ÿ ∑§ ‚flÊÁŸflÎûÊ ãÿÊÿÊœË‡Ê „Ò¥–

(B) ß‚∑§Ê ª∆Ÿ v}-Æv-v~~~ ∑§Ù ⁄UÊ¡SÕÊŸ ‚⁄∑§Ê⁄ mÊ⁄UÊ ¡Ê⁄Ë •Áœ‚ÍøŸÊ mÊ⁄UÊ Á∑§ÿÊ ªÿÊ ÕÊ–

(C) •ÊÿÙª •Ä≈Í’⁄ wÆÆÆ ‚ ∑§ÊÿÊ¸à◊∑§ „È•Ê–

(D) ⁄UÊ¡SÕÊŸ ◊ÊŸflÊÁœ∑§Ê⁄ •ÊÿÙª ◊¥ ∞∑§ •äÿˇÊ •ÊÒ⁄ x ‚ºSÿ „Ò¥–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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67. The construction of city forts from the hills to the Planes was a period of __________.

Choose the most appropriate answer from the options given below.

(A) Transition under Mughal influence (B) Architectural advancement

(C) Modernisation (D) Cordial relations of Rajputs and Mughals

(E) Question not attempted

¬„ÊÁ«∏ÿÙ¥ ‚ ‹∑§⁄ ◊ÒºÊŸÙ¥ Ã∑§ ‡Ê„⁄ ∑§ Á∑§‹Ù¥ ∑§Ê ÁŸ◊Ê¸áÊ __________ ∑§Ë •flÁœ ÕË–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ◊Èª‹ ¬˝÷Êfl ∑§ Ã„Ã ‚¢∑˝§◊áÊ (B) flÊSÃÈ∑§‹Ê ◊¥ ©ÛÊÁÃ

(C) •ÊœÈÁŸ∑§Ë∑§⁄áÊ (D) ⁄UÊ¡¬ÍÃÙ¥ •ÊÒ⁄ ◊Èª‹Ù¥ ∑§ ’Ëø ‚ı„Êº¸˝¬ÍáÊ¸ ‚¢’¢œ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

68. While designing a connecting road, for buckling about X axis :

(A) one end is hinged and the other end is fixed. (B) both ends are fixed.

(C) both ends are hinged. (D) one end is fixed and other end is hinged.

(E) Question not attempted

∑§ŸÁÄ≈¢ª ⁄Ù«U ∑§Ù Á«U$¡ÊßŸ ∑§⁄Ã ‚◊ÿ, ∞Ä‚ •ˇÊ ∑§ ’Ê⁄ ◊¥ ’∑§Á‹¢ª ∑§ Á‹∞ —

(A) ∞∑§ ¿UÙ⁄ Á≈U∑§Ê „È•Ê „Ò •ÊÒ⁄ ºÍ‚⁄UÊ ¿UÙ⁄ ÁSÕ⁄ „Ò– (B) ºÙŸÙ¥ ¿UÙ⁄ ÁSÕ⁄ „Ò¥–

(C) ºÙŸÙ¥ ¿UÙ⁄ Á≈∑§Ê „È•Ê „Ò– (D) ∞∑§ ¿UÙ⁄ ÁSÕ⁄ „Ò •ÊÒ⁄ ºÍ‚⁄UÊ ¿UÙ⁄ Á≈∑§Ê „È•Ê „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

69. The net entropy generation (considering the system and the thermal reservoir together) during the process is
closest to :

[given : 1 kJ energy transfer takes place at 4008 C, while the increase in the entropy of system is 10 J/K]

¬˝Á∑˝§ÿÊ ∑§ ºı⁄UÊŸ ‡ÊÈh ∞ã≈˛ÊÚ¬Ë ©à¬ÊºŸ (ÁŸ∑§Êÿ •ÊÒ⁄ ™§c◊Ê SòÊÙÃ ∞∑§ ‚ÊÕ ◊ÊŸŸ ¬⁄) ÁŸ∑§≈Ã◊ „Ò —

(ÁºÿÊ „Ò — 1 kJ ™§¡Ê¸ (™§c◊Ê) SÕÊŸÊ¥Ã⁄áÊ 4008 C ÃÊ¬◊ÊŸ ¬⁄ „ÙÃÊ „Ò, ¡’Á∑§ ÁŸ∑§Êÿ ∑§Ë ∞ã≈˛ÊÚ¬Ë ◊¥ ’…U∏ÙûÊ⁄Ë 10 J/K „Ò–)

(A) 10 J/K (B) 7.50 J/K (C) 7.70 J/K

(D) 8.51 J/K (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

70. If a body is stressed within its elastic limit, the lateral strain bear a constant ratio with linear strain which is
known as :

(A) Hooke’s law (B) Poisson’s ratio (C) Volumetric stress

(D) Volumetric strain (E) Question not attempted

ÿÁº Á∑§‚Ë Á¬¢«U ¬⁄ ©‚∑§Ë ¬˝àÿÊSÕ ‚Ë◊Ê ∑§ ÷ËÃ⁄ ¬˝ÁÃ’‹ «UÊ‹Ê ¡ÊÃÊ „Ò, ÃÙ ¬Ê‡fl¸ Áfl∑Î§ÁÃ ⁄ÒÁπ∑§ Áfl∑Î§ÁÃ ∑§ ‚ÊÕ ∞∑§ ÁSÕ⁄
•ŸÈ¬ÊÃ ⁄πÃË „Ò Á¡‚ ß‚ ¬˝∑§Ê⁄ ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) „È∑§ ∑§Ê ÁŸÿ◊ (B) ¬ÊÚß‚Ÿ •ŸÈ¬ÊÃ (C) •ÊÿÃŸÊà◊∑§ ¬˝ÁÃ’‹

(D) •ÊÿÃŸÊà◊∑§ Áfl∑Î§ÁÃ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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71. Which of the following Act provides for the creation of a state Information Commission ?

(A) Human Rights Act, 2006 (B) 74th Amendment Act, 1992

(C) 73rd Amendment Act, 1992 (D) Right to Information Act, 2005

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê •ÁœÁŸÿ◊ ⁄UÊÖÿ ‚ÍøŸÊ •ÊÿÙª ∑§ ª∆Ÿ ∑§Ê ¬˝ÊflœÊŸ ∑§⁄ÃÊ „Ò?

(A) ◊ÊŸflÊÁœ∑§Ê⁄ •ÁœÁŸÿ◊, wÆÆ{ (B) |yflÊ¢ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w

(C) |xflÊ¢ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w (D) ‚ÍøŸÊ ∑§Ê •Áœ∑§Ê⁄ •ÁœÁŸÿ◊, wÆÆz

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

72. A thin solid line directing attention to a note or dimension and starting with an arrow head or dot is known as :

(A) Leader (B) Dimension line (C) Cutting plane line

(D) Extension line (E) Question not attempted

ŸÙ≈ ÿÊ •ÊÿÊ◊ ∑§Ë •Ê⁄ äÿÊŸ •Ê∑§Á·¸Ã ∑§⁄Ÿ flÊ‹Ë •ÊÒ⁄ ÃË⁄ ∑§ Á‚⁄ ÿÊ Á’¢ºÈ ‚ ‡ÊÈM§ „ÙŸ flÊ‹Ë ¬Ã‹Ë ∆Ù‚ ⁄πÊ ∑§Ù ÄÿÊ ∑§„Ã
„Ò¥?

(A) ‹Ë«U⁄ (B) •ÊÿÊ◊ ⁄πÊ (C) ∑§Á≈¢ª å‹Ÿ ⁄πÊ

(D) ÁflSÃÊ⁄ ⁄πÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

73. Which of the following is a multipurpose (hydroelectric, irrigation) dam in Rajasthan ?

(A) Man Sarowar Dam (B) Juna Malari Dam (C) Kalakh Sagar Dam

(D) Mahi Bajaj Sagar Dam (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ’„È©Œ˜Œ‡ÊËÿ (¡‹ÁfllÈÃ, Á‚¢øÊß¸) ’Ê¢œ „Ò?
(A) ◊ÊŸ ‚⁄Ùfl⁄ ’Ê¢œ (B) ¡ÍŸÊ ◊‹Ê⁄Ë ’Ê¢œ (C) ∑§Ê‹π ‚Êª⁄ ’Ê¢œ
(D) ◊Ê„Ë ’¡Ê¡ ‚Êª⁄ ’Ê¢œ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

74. A shaft is made of 2 sections, having different lengths and diameters, which can transmit torques of 600 Nm and
900 Nm, respectively, the power which can be transmitted by a shaft at a speed of 200 rpm is : (π= 3.14)

(A) 25.12 kW (B) 6.28 kW (C) 12.56 kW

(D) 18.84 kW (E) Question not attempted

∞∑§ ‡ÊÊç≈ w π¢«UÙ¥ ‚ ’ŸÊ „Ò, Á¡Ÿ∑§Ë ‹¢’Êß¸ •ÊÒ⁄ √ÿÊ‚ •‹ª-•‹ª „Ò¥, ¡Ù ∑˝§◊‡Ê— {ÆÆ ∞Ÿ∞◊ •ÊÒ⁄ ~ÆÆ ∞Ÿ∞◊ ∑§Ê ≈ÊÚ∑¸§
‚¢øÊÁ⁄Ã ∑§⁄ ‚∑§Ã „Ò¥, wÆÆ •Ê⁄¬Ë∞◊ ∑§Ë ªÁÃ ‚ ‡ÊÊç≈ mÊ⁄UÊ ‚¢øÊÁ⁄Ã ∑§Ë ¡Ê ‚∑§Ÿ flÊ‹Ë ‡ÊÁÄÃ „Ò — (π= 3.14)

(A) wz.vw Á∑§‹ÙflÊ≈ (B) {.w} Á∑§‹ÙflÊ≈ (C) vw.z{ Á∑§‹ÙflÊ≈

(D) v}.}y Á∑§‹ÙflÊ≈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

75. A pin ended column of length ‘L’, modulus of elasticity ‘E’ and second moment of cross sectional area is ‘I’ loaded
concentrically by a compressive load ‘P’. The critical buckling load (P

cr
) is given by :

‹ê’Êß¸ ‘L’, ¬˝àÿÊSÕÃÊ ◊Ê¬Ê¢∑§ ‘E’ ÃÕÊ •ŸÈ¬˝SÕ ∑§Ê≈ ˇÊòÊ»§‹ ∑§Ê ÁmÃËÿ •ÊÉÊÍáÊ¸ flÊ‹ ∞∑§ Á¬Ÿ Á‚⁄ flÊ‹ SÃê÷ ¬⁄ ‚¢¬Ë«UŸ
÷Ê⁄ ‘P’ ∑§Ê ‚¢∑§ãŒ˝Ëÿ ÷Ê⁄ ‘I’ „Ò– ∑˝§Ê¢ÁÃ∑§ ’∑§Á‹¢ª ÷Ê⁄ (P

cr
) ÁŸêŸ ¬˝∑§Ê⁄ ÁºÿÊ ªÿÊ „Ò —

(A)
2

cr 2

EI
P

L

π

= (B) cr 2 2

EI
P

L

=

π

(C)
2

cr 2

EI
P

3L

π

=

(D) cr 2

EI
P

L

π

= (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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76. Which of the following soil type is found in the greater part of Rajasthan comprising of Jodhpur, Bikaner, Shekhawati
and Ajmer ?

Choose the most appropriate answer from the options  given below :

(A) Sandy (B) Bhura (C) Chicknot

(D) Mala (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë Á◊^Ë ⁄UÊ¡SÕÊŸ ∑§ •Áœ∑§Ê¢‡Ê ÷Êª ◊¥ ¬Êß¸ ¡ÊÃË „Ò Á¡‚◊¥ ¡Ùœ¬È⁄, ’Ë∑§ÊŸ⁄, ‡ÊπÊflÊ≈Ë •ÊÒ⁄ •¡◊⁄
‡ÊÊÁ◊‹ „Ò¥?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ⁄ÃË‹Ë (B) ÷Í⁄UÊ (C) Áø∑§ŸÊÚ≈

(D) ◊Ê‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

77. Which command in AutoCAD converts discrete object to a polyline ?

(A) Add (B) Join (C) Collect

(D) Merge (E) Question not attempted

•ÊÚ≈Ù∑Ò§«U ◊¥ ∑§ıŸ ‚Ë ∑§◊Ê¢«U •‚ÃÃ •ÊÚé¡Ä≈ ∑§Ù ¬ÊÚ‹Ë‹ÊßŸ ◊¥ ¬Á⁄flÁÃ¸Ã ∑§⁄ÃË „Ò?

(A) ∞«U (B) ¡ÊÚßŸ (C) ∑§‹Ä≈

(D) ◊¡¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

78. If a Panchayat is dissolved, elections are to be held within __________ from the date of dissolution.

(A) 6 months (B) 3 months (C) 5 months

(D) 1 year (E) Question not attempted

ÿÁº ∑§Ùß¸ ¬¢øÊÿÃ ÷¢ª „Ù ¡ÊÃË „Ò, ÃÙ øÈŸÊfl ©‚∑§ ÷¢ª „ÙŸ ∑§ __________ ∑§ ÷ËÃ⁄ „ÙŸ øÊÁ„∞–

(A) { ◊„ËŸ (B) x ◊„ËŸ (C) z ◊„ËŸ

(D) v fl·¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

79. The creep in a belt drive is due to the :

(A) unequal tension on tight and slack sides of the belt

(B) material of the pulleys

(C) material of belt

(D) unequal size of the pulleys

(E) Question not attempted

’À≈ «˛Êßfl ◊¥ ⁄¥ªŸ ∑§Ê ∑§Ê⁄áÊ „Ò —

(A) ’À≈ ∑§ Ã¢ª •ÊÒ⁄ …UË‹ ¬ˇÊÙ¥ ¬⁄ •‚◊ÊŸ ÃŸÊfl

(B) ¬È‹Ë ∑§Ë ‚Ê◊ª˝Ë

(C) ’À≈ ∑§Ë ‚Ê◊ª˝Ë

(D) ¬È‹Ë ∑§Ê •‚◊ÊŸ •Ê∑§Ê⁄

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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80. The moment of inertia of semicircular Lamina with radius r about its centroidal axis parallel to axis x-x i.e. Ixx
is :

•ˇÊ x-x •ÕÊ¸Ã˜ Ixx ∑§ ‚◊Ê¢Ã⁄ •¬ŸË ∑§ãŒ˝∑§ •ˇÊ ∑§ ¬Á⁄Ã— ÁòÊÖÿÊ r flÊ‹Ë •œ¸flÎûÊÊ∑§Ê⁄ ¬≈‹ ∑§Ê ¡«∏àfl •ÊÉÊÍáÊ¸ „Ò —

(A) 0.22 r4 (B) 00.055 r4 (C) 0.11 r4

(D) 0.165 r4 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

81. Heat and work are :

(A) path function (B) intensive properties (C) extensive properties

(D) point function (E) Question not attempted

™§c◊Ê •ÊÒ⁄ ∑§Êÿ¸ „Ò¥ —

(A) ¬Õ »§‹Ÿ (B) ª„Ÿ ªÈáÊ (C) ÁflSÃÎÃ ªÈáÊ

(D) Á’¢ºÈ »§‹Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

82. In which of the following states does River Sabi enter after exit from Rajasthan ?

(A) Gujarat (B) Punjab (C) Delhi

(D) Haryana (E) Question not attempted

⁄UÊ¡SÕÊŸ ‚ ÁŸ∑§‹Ÿ ∑§ ’Êº ‚Ê’Ë ŸºË ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ⁄UÊÖÿ ◊¥ ¬˝fl‡Ê ∑§⁄ÃË „Ò?

(A) ªÈ¡⁄UÊÃ (B) ¬¢¡Ê’ (C) ÁºÀ‹Ë

(D) „Á⁄ÿÊáÊÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

83. Which of the following type of forest has predominance in Rajasthan ?

Choose the most appropriate answer from the options  given below :

(A) Salar Forests (B) Dhokra Forests (C) Babool Forests

(D) Khair Forests (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ¬˝∑§Ê⁄ ∑§ flŸÙ¥ ∑§Ë ¬˝œÊŸÃÊ „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ‚Ê‹Ê⁄ flŸ (B) …UÙ∑§⁄ flŸ (C) ’’Í‹ flŸ

(D) πÒ⁄ flŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

84. The shear stress proportional to shear strain, within its elastic limit is associated with :

(A) Poisson’s Modulus (B) Modulus of elasticity (C) Modulus of rigidity

(D) Young’s Modulus (E) Question not attempted

•¬M§¬áÊ º’Êfl, •¬M§¬áÊ Áfl∑Î§ÁÃ ∑§ ‚◊ÊŸÈ¬ÊÃË, •¬ŸË ¬˝àÿSÕ ‚Ë◊Ê ∑§ ÷ËÃ⁄, ÁŸêŸ ‚ ‚¢’¢ÁœÃ „Ò —

(A) ¬ÊÚß‚Ÿ ∑§Ê ◊Ê¬Ê¢∑§ (B) ¬˝àÿÊSÕÊ ∑§Ê ◊Ê¬Ê¢∑§ (C) ∑§∆Ù⁄ÃÊ ∑§Ê ◊Ê¬Ê¢∑§

(D) ÿ¢ª ∑§Ê ◊Ê¬Ê¢∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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85. Government of Rajasthan launched forestry awards to promote development and conservation of forest programs.
Identify the Award.

Choose the most appropriate answer from the options  given below :

(A) Purnima Devi Berman Award (B) Vaniki Pandit Award

(C) Aranya Sanskriti Award (D) Sustainable use of Biological Resources Award

(E) Question not attempted

⁄UÊ¡SÕÊŸ ‚⁄∑§Ê⁄ Ÿ flŸ ∑§Êÿ¸∑˝§◊Ù¥ ∑§ Áfl∑§Ê‚ •ÊÒ⁄ ‚¢⁄ˇÊáÊ ∑§Ù ’…U∏ÊflÊ ºŸ ∑§ Á‹∞ flÊÁŸ∑§Ë ¬È⁄S∑§Ê⁄ ‡ÊÈM§ Á∑§∞–  ¬È⁄S∑§Ê⁄ ∑§Ë
¬„øÊŸ ∑§⁄¥–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ¬ÍÁáÊ¸◊Ê ºflË ’◊¸Ÿ ¬È⁄S∑§Ê⁄ (B) flÊÁŸ∑§Ë ¬¢Á«UÃ ¬È⁄S∑§Ê⁄

(C) •⁄áÿ ‚¢S∑Î§ÁÃ ¬È⁄S∑§Ê⁄ (D) ¡ÒÁfl∑§ ‚¢‚ÊœŸÙ¥ ∑§ ‚ÃÃ ©¬ÿÙª ¬È⁄S∑§Ê⁄

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

86. Which part was introduced to the constitution of India through 74th amendment Act, 1992 ?

(A) Part IX B (B) Part IX A (C) Part X

(D) Part XII (E) Question not attempted

|yfl¥ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w ∑§ ◊Êäÿ◊ ‚ ÷Ê⁄Ã ∑§ ‚¢ÁflœÊŸ ◊¥ ∑§ıŸ ‚Ê ÷Êª ‡ÊÊÁ◊‹ Á∑§ÿÊ ªÿÊ?

(A) ÷Êª IX B (B) ÷Êª IX A (C) ÷Êª X

(D) ÷Êª XII (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

87.  __________ breed constitute 45% approximately of the total sheep population in Rajasthan.

Choose the most appropriate answer from the options  given below :

(A) Maalpuri (B) Jaisalmeri (C) Magra

(D) Marwari (E) Question not attempted

__________ ŸS‹ ⁄UÊ¡SÕÊŸ ◊¥ ∑È§‹ ÷«∏ •Ê’ÊºË ∑§Ê ‹ª÷ª yz% Á„S‚Ê ’ŸÊÃË „Ò–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ◊Ê‹¬È⁄Ë (B) ¡Ò‚‹◊⁄Ë (C) ◊ª⁄UÊ

(D) ◊Ê⁄flÊ«∏Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

88. Absolute viscosity is also known as :

(A) Parallel viscosity (B) Dynamic viscosity (C) Kinematic viscosity

(D) Linear viscosity (E) Question not attempted

ÁŸ⁄¬ˇÊ ‡ÿÊŸÃÊ ∑§Ù ß‚ ŸÊ◊ ‚ ÷Ë ¡ÊŸÊ ¡ÊÃÊ „Ò —
(A) ‚◊ÊŸÊ¢Ã⁄ ‡ÿÊŸÃÊ (B) ªÁÃ‡ÊË‹ ‡ÿÊŸÃÊ (C) ªÁÃ¡ ‡ÿÊŸÃÊ
(D) ⁄ÒÁπ∑§ ‡ÿÊŸÃÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

89. Bundika Gothra Dam of Bundi region nearby to Hindoli city is built on which of the following rivers ?

(A) Bilas river (B) Telera river (C) Mej river

(D) Banas river (E) Question not attempted

Á„¢«UÙ‹Ë ‡Ê„⁄ ∑§ ÁŸ∑§≈ ’Í¢ºË ˇÊòÊ ∑§ ’È¢Áº∑§Ê ªÙ∆⁄UÊ ’Ê¢œ ∑§Ù Á∑§‚ ŸºË ¬⁄ ’ŸÊÿÊ ªÿÊ „Ò?

(A) Á’‹Ê‚ ŸºË (B) Ã‹⁄UÊ ŸºË (C) ◊¡ ŸºË

(D) ’ŸÊ‚ ŸºË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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90. Which of the following brakes is commonly used in motor cars ?

(A) Internal expanding shoe brake (B) Band brake (C) Shoe brake

(D) Band and block brake (E) Question not attempted

◊Ù≈⁄ ∑§Ê⁄Ù¥ ◊¥ •Ê◊Ãı⁄ ¬⁄ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ’˝∑§ ∑§Ê ©¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò?

(A) •Ê¢ÃÁ⁄∑§ ÁflSÃÊ⁄‡ÊË‹ ‡ÊÍ ’˝∑§ (B) ’Ò¥«U ’˝∑§ (C) ‡ÊÍ ’˝∑§

(D) ’Ò¥«U •ÊÒ⁄ é‹ÊÚ∑§ ’˝∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

91. When body is subjected to mutually perpendicular stress (σx and σy ) then the centre of the Mohr’s circle from
y–axis is taken as :

σx=stress sigma x, σy =stress sigma y

¡’ Á∑§‚Ë Á¬¢«U ¬⁄ ¬⁄S¬⁄ ‹¢’flÃ ¬˝ÁÃ’‹ (σx •ÊÒ⁄ σy) ‹ªÃÊ „Ò ÃÙ y-•ˇÊ ‚ ◊Ù„⁄ flÎûÊ ∑§Ê ∑§¥Œ˝ ß‚ ¬˝∑§Ê⁄ Á‹ÿÊ ¡ÊÃÊ
„Ò —

σx=¬˝ÁÃ’‹ Á‚Ç◊Ê x, σy =¬˝ÁÃ’‹ Á‚Ç◊Ê y

(A)
  

  
2

x y

z

σ −σ

−σ (B)
  

2

x yσ +σ

(C)
  

2

x yσ −σ

(D)
  

  
2

x y

z

σ +σ

+σ (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

92. Otto cycle is also known as :

(A) constant heat cycle (B) constant pressure cycle (C) constant volume cycle

(D) constant temperature cycle (E) Question not attempted

•Ê≈Ù ø∑˝§ ∑§Ù ÁŸêŸ ŸÊ◊Ù¥ ‚ ÷Ë ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) ÁSÕ⁄ ÃÊ¬ ø∑˝§ (B) ÁSÕ⁄ º’Êfl ø∑˝§ (C) ÁSÕ⁄ •ÊÿÃŸ ø∑˝§

(D) ÁSÕ⁄ ÃÊ¬◊ÊŸ ø∑˝§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

93. Ratio of isentropic work to Euler’s work in centrifugal air compressor is known as :

(A) Degree of Reaction (B) Slip factor (C) Work factor

(D) Pressure coefficient (E) Question not attempted

∑§ãŒ˝Ê¬‚Ê⁄∑§ flÊÿÈ ‚¢¬Ë«U∑§ ◊¥ •Êß‚¥≈˛ÙÁ¬∑§ ∑§Êÿ¸ •ÊÒ⁄ ÿÍ‹⁄ ∑§Êÿ¸ ∑§ •ŸÈ¬ÊÃ ∑§Ù ß‚ ¬˝∑§Ê⁄ ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) ¬˝ÁÃÁ∑˝§ÿÊ ∑§Ë Á«Uª˝Ë (B) ÁS‹¬ »Ò§Ä≈⁄ (C) ∑§Êÿ¸ ∑§Ê⁄∑§

(D) º’Êfl ªÈáÊÊ¢∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

94. The maximum bending moment for a simply supported beam carrying a uniformaly varying load from ‘ZERO’ at
one end to ‘W’ per unit length at the other end is given as :

∞∑§ Á‚⁄ ¬⁄ “‡ÊÍãÿ” ‚ ºÍ‚⁄ Á‚⁄ ¬⁄ ¬˝ÁÃ ß∑§Êß¸ ‹ê’Êß¸ ‘W’ Ã∑§ ‚◊ÊŸ M§¬ ‚ ¬Á⁄flÃ¸Ÿ‡ÊË‹ ÷Ê⁄ fl„Ÿ ∑§⁄Ÿ flÊ‹ ∞∑§ ‚ÊœÊ⁄áÊ
‚◊ÁÕ¸Ã ’Ë◊ ∑§ Á‹∞ •Áœ∑§Ã◊ ’¢∑§Ÿ •ÊÉÊÍáÊ¸ ÁŸêŸ ¬˝∑§Ê⁄ ÁºÿÊ ªÿÊ „Ò —

(A)
2

WL

15 3
(B)

2
WL

8
(C)

2
WL

9 3

(D)
2

WL

12
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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95. Which of the following city is not directly benefitted by the proposed Bhatinda-Ajmer Green field expressway ?

(A) Churu (B) Hanumangarh (C) Nagaur

(D) Alwar (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‡Ê„⁄U ¬˝SÃÊÁflÃ ÷Á≈U¥«UÊ-•Ê¡◊⁄U ª˝ËŸ »§ËÀ«U ∞Ä‚¬˝‚fl ‚ ‚Ëœ ‹Ê÷ÊÁãflÃ Ÿ„Ë¥ „ÊªÊ?

(A) øÍM§ (B) „ŸÈ◊ÊŸª…U∏ (C) ŸÊªı⁄

(D) •‹fl⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

96. A gas turbine cycle with heat exchange and reheating improves :

(A) Neither thermal efficiency nor specific power output

(B) Only the thermal efficiency

(C) Only the specific power output

(D) Both thermal efficiency and specific power output

(E) Question not attempted

™§c◊Ê ÁflÁŸ◊ÿ •ÊÒ⁄ ¬ÈŸ— ÃÊ¬Ÿ ∑§ ‚ÊÕ ªÒ‚ ≈⁄’ÊßŸ ø∑˝§ ◊¥ ÄÿÊ ‚ÈœÊ⁄ „ÙÃÊ „Ò?

(A) Ÿ ÃÙ ©c◊Ëÿ ºˇÊÃÊ •ÊÒ⁄ Ÿ „Ë ÁflÁ‡Êc≈U ‡ÊÁÄÃ ©à¬ÊºŸ

(B) ∑§fl‹ ©c◊Ëÿ ºˇÊÃÊ

(C) ∑§fl‹ ÁflÁ‡Êc≈U ‡ÊÁÄÃ ©à¬ÊºŸ

(D) ÃÊ¬Ëÿ ºˇÊÃÊ •ÊÒ⁄ ÁflÁ‡Êc≈U ‡ÊÁÄÃ ©à¬ÊºŸ ºÙŸÙ¥

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

97. The following expression which represents maximum variation in tractive force as a result of partial balancing in
locomotives :

ÁŸêŸÁ‹ÁπÃ •Á÷√ÿÁÄÃ ¡Ù ‹Ù∑§Ù◊ÙÁ≈fl ◊¥ •Ê¢Á‡Ê∑§ ‚¢ÃÈ‹Ÿ ∑§ ¬Á⁄áÊÊ◊SflM§¬ ∑§·¸áÊ ’‹ ◊¥ •Áœ∑§Ã◊ ¬Á⁄flÃ¸Ÿ ∑§Ê
¬˝ÁÃÁŸÁœàfl ∑§⁄ÃË „Ò —

(A)
2 1

mrw (1  c)
2

l
 
  

± − (B)
2 1

mrw (1  c)
2

 
  

± − (C) 2mrw 2 (1  c)  ± −

(D) 2mrw 2 (1  c)l   ± − (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

98. The diesel cycle is also known as :

(A) constant heat cycle (B) constant volume cycle (C) constant temperature cycle

(D) constant pressure cycle (E) Question not attempted

«UË¡‹ ø∑˝§ ∑§Ù ÁŸêŸ ŸÊ◊Ù¥ ‚ ÷Ë ¡ÊŸÊ ¡ÊÃÊ „Ò —

(A) ÁSÕ⁄ ÃÊ¬ ø∑˝§ (B) ÁSÕ⁄ •ÊÿÃŸ ø∑˝§ (C) ÁSÕ⁄ ÃÊ¬◊ÊŸ ø∑˝§

(D) ÁSÕ⁄ º’Êfl ø∑˝§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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99. A governor is said to be stable, if the :

(A) Radius of rotation of balls increases as the equilibrium speed decreases.

(B) Radius of rotation of balls decreases as the equilibrium speed increases.

(C) Radius of rotation of balls increases as the equilibrium speed increases.

(D) Radius of rotation of balls decreases as the equilibrium speed decreases.

(E) Question not attempted

∞∑§ ªflŸ¸⁄ ∑§Ù ÁSÕ⁄ ∑§„Ê ¡ÊÃÊ „Ò, ÿÁº —

(A) ‚¢ÃÈ‹Ÿ ªÁÃ ÉÊ≈Ÿ ¬⁄ ª¥ºÙ¥ ∑§ ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ’…U∏ ¡ÊÃË „Ò–

(B) ‚¢ÃÈ‹Ÿ ªÁÃ ’…U∏Ÿ ¬⁄ ª¥ºÙ¥ ∑§ ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ∑§◊ „Ù ¡ÊÃË „Ò–

(C) ‚¢ÃÈ‹Ÿ ªÁÃ ’…U∏Ÿ ¬⁄ ª¥ºÙ¥ ∑§ ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ’…U∏ ¡ÊÃË „Ò–

(D) ‚¢ÃÈ‹Ÿ ªÁÃ ÉÊ≈Ÿ ¬⁄ ª¥ºÙ¥ ∑§ ÉÊÍáÊ¸Ÿ ∑§Ë ÁòÊÖÿÊ ÉÊ≈ ¡ÊÃË „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

100. Who among the following jagirdar of Bijolia introduced ‘Talwar Bandhai tax’ ?

(A) Gangaram Dhakar (B) Kishan Singh (C) Prithvi Singh

(D) Hamid Hussain (E) Question not attempted

Á’¡ıÁ‹ÿÊ ∑§ ÁŸêŸÁ‹ÁπÃ ¡ÊªË⁄ºÊ⁄ ◊¥ ‚ Á∑§‚Ÿ “Ã‹flÊ⁄ ’¢œÊß¸ ∑§⁄” ‹ÊªÍ Á∑§ÿÊ?

(A) ª¢ªÊ⁄UÊ◊ œÊ∑§«∏ (B) Á∑§‡ÊŸ Á‚¢„ (C) ¬ÎâflË Á‚¢„

(D) „ÊÁ◊º „È‚ÒŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

101. The area under curve in stress-strain curve upto fracture point is called :

(A) Brittleness (B) Yield strength (C) Hardness

(D) Toughness (E) Question not attempted

º’Êfl-Áfl∑Î§ÁÃ fl∑˝§ ◊¥ »˝Ò§Äø⁄ Á’¢ºÈ Ã∑§ fl∑˝§ ∑§ •¢Ãª¸Ã ˇÊòÊ ∑§Ù ∑§„Ê ¡ÊÃÊ „Ò —

(A) ÷¢ªÈ⁄ÃÊ (B) ©¬¡ ‚Ê◊âÿ¸ (C) ∑§∆Ù⁄ÃÊ

(D) ◊¡’ÍÃË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

102. Which of the following approach refers to reversibility ?

(A) Chemical reaction (B) Mixing of different substances

(C) Thermal Equilibrium (D) Action of brakes in stopping a vehicle

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ŒÎÁc≈U∑§ÙáÊ ¬˝ÁÃflÁÃ¸ÃÊ ∑§Ù ‚¢ºÁ÷¸Ã ∑§⁄ÃÊ „Ò?

(A) ⁄UÊ‚ÊÿÁŸ∑§ •Á÷Á∑˝§ÿÊ (B) ÁflÁ÷ÛÊ ¬ºÊÕÙZ ∑§Ê Á◊üÊáÊ

(C) ™§c◊Ëÿ ‚¢ÃÈ‹Ÿ (D) flÊ„Ÿ ∑§Ù ⁄Ù∑§Ÿ ◊¥ ’˝∑§ ∑§Ë Á∑˝§ÿÊ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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103. The voltage (v) required to produce a spark across the gap between sparking points of a spark plug used in petrol
engines is in the range of :

(A) 6000 v and above (B) 100 v to 500 v (C) 500 v to 2500 v

(D) 2500 v to 5500 v (E) Question not attempted

¬≈˛Ù‹ ß¢¡Ÿ ◊¥ ©¬ÿÙª Á∑§∞ ¡ÊŸ flÊ‹ S¬Ê∑¸§ å‹ª ∑§ S¬ÊÁ∑Z§ª ¬ÊÚß¢≈˜‚ ∑§ ’Ëø ∑§ •¢Ã⁄UÊ‹ ◊¥ S¬Ê∑¸§ ©à¬ÛÊ ∑§⁄Ÿ ∑§ Á‹∞
•Êfl‡ÿ∑§ flÙÀ≈¡ (v) ∑§Ë ‚Ë◊Ê „ÙÃË „Ò —

(A) {ÆÆÆ v •ÊÒ⁄ ©‚‚ •Áœ∑§ (B) vÆÆ v ‚ zÆÆ v (C) zÆÆ v ‚ wzÆÆ v

(D) wzÆÆ v ‚ zzÆÆ v (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

104. Which component transmit the load from piston to crank in engine ?

(A) Gudgeon Pin (B) Connecting Rod (C) Crawk

(D) Piston (E) Question not attempted

ß¢¡Ÿ ◊¥ Á¬S≈Ÿ ‚ ∑˝Ò¥§∑§ Ã∑§ ‹Ù«U ‚¢øÊÁ⁄Ã ∑§⁄Ÿ flÊ‹Ê ∑§ıŸ ‚Ê ÉÊ≈∑§ „Ò?

(A) ª«U¡Ÿ Á¬Ÿ (B) ∑§ŸÁÄ≈¢ª ⁄UÊÚ«U (C) ∑˝§ÊÚ∑§

(D) Á¬S≈Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

105. A simply supported beam of span (L) is carrying point load (W) at the mid span. What is the deflection at the
centre of the beam ?

S¬ÒŸ (L) ∑§Ë ∞∑§ ‚⁄‹ ‚◊ÁÕ¸Ã ’Ë◊ ◊äÿ S¬ÒŸ ¬⁄ Á’¢ºÈ ÷Ê⁄ (W) ‹ ¡Ê ⁄„Ë „Ò–  ’Ë◊ ∑§ ∑§¥Œ˝ ¬⁄ ÁflˇÊ¬áÊ ÄÿÊ „Ò?

(A)
3

5 WL
 

348 EI
(B)

3
WL

48EI
(C)

3
WL

84EI

(D)
3

5 WL
 

384 EI
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

106. Rana Kumbha’s Kirti stambha Prashasti refers to __________ as Vishamghati Panchanan.

Choose the most appropriate answer from the options given below.

(A) Rana Hammir ( 1326-1364) (B) Maharana Lakha (1382–1421)

(C) Rawal Ratan Singh ( 1302–1303) (D) Maharana Mokal (1421–1433)

(E) Question not attempted

⁄UÊáÊÊ ∑È¥§÷Ê ∑§Ë ∑§ËÁÃ¸ SÃ¢÷ ¬˝‡ÊÁSÃ ◊¥ __________ ∑§Ù Áfl·◊ÉÊÊ≈Ë ¬¢øÊŸŸ ∑§ M§¬ ◊¥ ‚¢ºÁ÷¸Ã Á∑§ÿÊ ªÿÊ „Ò–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ⁄UÊáÊÊ „ê◊Ë⁄ (vxw{-vx{y) (B) ◊„Ê⁄UÊáÊÊ ‹ÊπÊ (vx}w-vywv)

(C) ⁄UÊfl‹ ⁄ÃŸ Á‚¢„ (vxÆw-vxÆx) (D) ◊„Ê⁄UÊáÊÊ ◊Ù∑§‹ (vywv-vyxx)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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107. In a multiple disc clutch, n
1
 and n

2
 are the number of discs on the driving shafts respectively.  The number of pairs

of disc on the drive shaft is :

∞∑§ ’„È Á«US∑§ Ä‹ø ◊¥, n
1
 •ÊÒ⁄ n

2
 ∑˝§◊‡Ê— «˛ÊßÁfl¢ª ‡ÊÊç≈ ¬⁄ Á«US∑§ ∑§Ë ‚¢ÅÿÊ „Ò–  «˛Êßfl ‡ÊÊç≈ ¬⁄ Á«US∑§ ∑§ ¡Ù«∏ ∑§Ë ‚¢ÅÿÊ

„Ò¥ —

(A)
1 2n n

2

+

(B) n
1
+n

2
(C) n

1
+n

2
−1

(D) n
1
+n

2
+1 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

108. The Perpetual Motion Machine (PMM) that represents the possibility for transfer of  heat from a low temperature
reservoir to high temperature reservoir, without any expenditure of work is :

(A) PMM-IV (B) PMM-I (C) PMM-II

(D) PMM-III (E) Question not attempted

‚ÃÃ ªÁÃ ◊‡ÊËŸ (¬Ë∞◊∞◊) ¡Ù Á’ŸÊ Á∑§‚Ë ∑§Êÿ¸ √ÿÿ ∑§ ∑§◊ ÃÊ¬◊ÊŸ SòÊÙÃ ‚ ©ìÊ ÃÊ¬◊ÊŸ SòÊÙÃ ◊¥ ™§c◊Ê ∑§ SÕÊŸÊ¢Ã⁄áÊ
∑§Ë ‚¢÷ÊflŸÊ ∑§Ù º‡ÊÊ¸ÃË „Ò —

(A) ¬Ë∞◊∞◊-IV (B) ¬Ë∞◊∞◊-I (C) ¬Ë∞◊∞◊-II

(D) ¬Ë∞◊∞◊-III (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

109. The total number of instantaneous centre for a mechanism consisting of ‘n’ links is :

‘n’ Á‹¢∑§Ù¥ flÊ‹ ∞∑§ Ã¢òÊ ∑§ Á‹∞ ÃÊà∑§ÊÁ‹∑§ ∑§¥Œ˝Ù¥ ∑§Ë ∑È§‹ ‚¢ÅÿÊ „Ò —

(A)
n(n  1)

2

−

(B)
n

2
(C) n

(D)
n  1

2

−

(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

110. In a cantilever beam, carrying a load whose intensity varies uniformly from zero at the free end to ‘w’ per unit run
at the fixed end, the shear force changes following a __________.

(A) parabolic law (B) linear law (C) constant throughout

(D) cubic parabola (E) Question not attempted

∞∑§ ∑Ò¥§Á≈‹Ëfl⁄ ’Ë◊ ◊¥, ∞∑§ ÷Ê⁄ ‹ ¡ÊŸ ¬⁄ Á¡‚∑§Ë ÃËfl˝ÃÊ ◊ÈÄÃ ¿UÙ⁄ ¬⁄ ‡ÊÍãÿ ‚ ‹∑§⁄ ÁSÕ⁄ ¿UÙ⁄ ¬⁄ ‘w’ ¬˝ÁÃ ß∑§Êß¸ ⁄Ÿ Ã∑§
‚◊ÊŸ M§¬ ‚ ’º‹ÃË ⁄„ÃË „Ò, •¬M§¬áÊ ’‹ ∞∑§ __________ ‚ ’º‹ÃÊ „Ò–

(A) ¬⁄fl‹Áÿ∑§ ÁŸÿ◊ (B) ⁄ÒÁπ∑§ ÁŸÿ◊ (C) ¬Í⁄ ◊¥ ∞∑§‚◊ÊŸ

(D) ÉÊŸ ¬⁄fl‹ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

111. Which theory of failure is known as Haigh’s theory ?

(A) Maximum strain energy theory (B) Maximum principal stress theory

(C) Maximum principal strain theory (D) Maximum shear stress theory

(E) Question not attempted

Áfl»§‹ÃÊ ∑§ Á∑§‚ Á‚hÊ¢Ã ∑§Ù „ÒÉÊ ∑§ Á‚hÊ¢Ã ∑§ M§¬ ◊¥ ¡ÊŸÊ ¡ÊÃÊ „Ò?

(A) •Áœ∑§Ã◊ Áfl∑Î§ÁÃ ™§¡Ê¸ Á‚hÊ¢Ã (B) •Áœ∑§Ã◊ ◊ÈÅÿ º’Êfl Á‚hÊ¢Ã

(C) •Áœ∑§Ã◊ ◊ÈÅÿ Áfl∑Î§ÁÃ Á‚hÊ¢Ã (D) •Áœ∑§Ã◊ •¬M§¬áÊ º’Êfl Á‚hÊ¢Ã

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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112.  On which of the following date of integration was Greater Rajasthan formed ?

(A) 15 May, 1949 (B) 30 March, 1949 (C) 25 March, 1948

(D) 28 March, 1948 (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ∞∑§Ë∑§⁄áÊ ÁÃÁÕ ∑§Ù ª˝≈⁄ ⁄UÊ¡SÕÊŸ ∑§Ê ª∆Ÿ „È•Ê?

(A) vz ◊ß¸, v~y~ (B) xÆ ◊Êø¸, v~y~ (C) wz ◊Êø¸, v~y}

(D) w} ◊Êø¸, v~y} (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

113. Who of the following Padma Awardee from Rajasthan is associated with miniature painting ?

(A) Mahesh soni (B) Ram Kishore Chhipa (C) Shree Lal Joshi

(D) Tilak Geetai (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ¬k ¬È⁄S∑§Ê⁄ Áfl¡ÃÊ ‹ÉÊÈ ÁøòÊ∑§‹Ê ‚ ¡È«∏ „Ò¥?

(A) ◊„‡Ê ‚ÙŸË (B) ⁄UÊ◊ Á∑§‡ÊÙ⁄ ¿UË¬Ê (C) üÊË ‹Ê‹ ¡Ù‡ÊË

(D) ÁÃ‹∑§ ªËÃÊß¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

114. Mach Number (M
a
) for incompressible flow is :

•‚¢¬Ë«UŸËÿ ¬˝flÊ„ ∑§ Á‹∞ ◊Ò∑§ ‚¢ÅÿÊ (M
a
) „Ò —

(A) M
a
 > 0.3 (B) M

a
 = 0.3 (C) M

a
 > 0.4

(D) M
a
 < 0.3 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

115. The orthographic projection of an object placed in third quadrant represents that __________.

(A) Object is below HP and behind VP. (B) Object is above HP and in front of VP.

(C) Object is below HP and in front of VP. (D) Object is above HP and behind VP.

(E) Question not attempted

ÃË‚⁄ øÃÈÕÊZ‡Ê ◊¥ ⁄πË ªß¸ flSÃÈ ∑§Ê •ÊÚÕÙ¸ª˝ÊÁ»§∑§ ¬˝ˇÊ¬áÊ ÿ„ º‡ÊÊ¸ÃÊ „Ò Á∑ §__________–

(A) flSÃÈ HP ‚ ŸËø •ÊÒ⁄ VP ∑§ ¬Ë¿U „Ò– (B) flSÃÈ HP ‚ ™§¬⁄ •ÊÒ⁄ VP ∑§ ‚Ê◊Ÿ „Ò–

(C) flSÃÈ HP ‚ ŸËø •ÊÒ⁄ VP ∑§ ‚Ê◊Ÿ „Ò– (D) flSÃÈ HP ‚ ™§¬⁄ •ÊÒ⁄ VP ∑§ ¬Ë¿U „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

116. The Turra, serpech, bala – bandi, dugdugi and gospech worn by the dignitaries from upper class was __________.

(A) Evolved from both Mughal and Rajput races (B) Purely Rajasthani race

(C) Maratha–Rajasthani race mix (D) Purely Mughal race

(E) Question not attempted

©ìÊ flª¸ ∑§ ªáÊ◊Êãÿ √ÿÁÄÃÿÙ¥ mÊ⁄UÊ ¬„Ÿ ¡ÊŸ flÊ‹ ÃÈ⁄UÊ¸, ‚¬¸ø, ’Ê‹Ê-’¢ºË, «ÈUª«ÈUªË •ÊÒ⁄ ªÙS¬ø Õ __________–

(A) ◊Èª‹ •ÊÒ⁄ ⁄UÊ¡¬ÍÃ ºÙŸÙ¥ ŸS‹Ù¥ ‚ Áfl∑§Á‚Ã (B) Áfl‡ÊÈh ⁄UÊ¡SÕÊŸË ŸS‹

(C) ◊⁄UÊ∆Ê-⁄UÊ¡SÕÊŸË ŸS‹ ∑§Ê Á◊üÊáÊ (D) Áfl‡ÊÈh ◊Èª‹ ŸS‹

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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117. What will be the natural frequency of the system as shown in figure ?  Take EI = Flexural Rigidity.

ÁøòÊ ◊¥ ÁºπÊ∞ •ŸÈ‚Ê⁄ ¬˝áÊÊ‹Ë ∑§Ë ¬˝Ê∑Î§ÁÃ∑§ •ÊflÎÁûÊ ÄÿÊ „ÙªË? EI = ç‹Ä‚È⁄‹ ∑§∆Ù⁄ÃÊ ‹¥–

(A) n 3

1 92EI

m.L

f =

π
(B) n 3

1 192EI

m.L

f =

π
(C) n 3

1 92EI

2 m.L

f =

π

(D) n 3

1 192EI

2 m.L

f =

π
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

118. Who among the following is awarded Padma Shri, Padma Bhushan and Jamnalal Bajaj Award for outstanding
contribution in the field of ‘upliftment’ and welfare of women and children ?

(A) Shree Lal Joshi (B) Tilak Geetai (C) Smt. Ratan Shastri

(D) Shri Arjunlal Prajapati (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ◊Á„‹Ê•Ù¥ •ÊÒ⁄ ’ìÊÙ¥ ∑§ ©àÕÊŸ •ÊÒ⁄ ∑§ÀÿÊáÊ ∑§ ˇÊòÊ ◊¥ ©à∑Î§c≈U ÿÙªºÊŸ ∑§ Á‹∞ ¬k üÊË, ¬k ÷Í·áÊ
•ÊÒ⁄ ¡◊ŸÊ‹Ê‹ ’¡Ê¡ ¬È⁄S∑§Ê⁄ ‚ ‚ê◊ÊÁŸÃ Á∑§ÿÊ ªÿÊ „Ò?

(A) üÊË ‹Ê‹ ¡Ù‡ÊË (B) ÁÃ‹∑§ ªËÃÊß¸ (C) üÊË◊ÃË ⁄ÃŸ ‡ÊÊSòÊË

(D) üÊË •¡È¸Ÿ‹Ê‹ ¬˝¡Ê¬ÁÃ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

119. The amount of diesel in a compression ignition engine is controlled by :

(A) nozzle (B) rack and pinion arrangement (C) throttle

(D) governor (E) Question not attempted

∑§ê¬˝‡ÊŸ ßÁªA‡ÊŸ ß¢¡Ÿ ◊¥ «UË¡‹ ∑§Ë ◊ÊòÊÊ ∑§Ù ÁŸÿ¢ÁòÊÃ Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) ŸÙ¡‹ (B) ⁄Ò∑§ •ÊÒ⁄ Á¬ÁŸÿŸ √ÿflSÕÊ (C) Õ˝ÊÚ≈‹

(D) ªflŸ¸⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

120. An air preheater is installed :

(A) after the superheater (B) before the economiser

(C) before superheater (D) between the economizer and chimney

(E) Question not attempted

∞∑§ „flÊ ¬˝Ë„Ë≈⁄ SÕÊÁ¬Ã Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) ‚È¬⁄„Ë≈⁄ ∑§ ’Êº (B) ß∑§ÙŸÊÚ◊ÊßïÊ⁄ ‚ ¬„‹

(C) ‚È¬⁄„Ë≈⁄ ‚ ¬„‹ (D) ß∑§ÙŸÊÚ◊ÊßïÊ⁄ •ÊÒ⁄ Áø◊ŸË ∑§ ’Ëø

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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Part-B / ÷Êª-π

ELECTRICAL / ÁfllÈÃ

1. Under which Article of the constitution of India was the state election commission, Rajasthan formed ?

÷Ê⁄ÃËÿ ‚¢ÁflœÊŸ ∑§ Á∑§‚ •ŸÈë¿Uº ∑§ Ã„Ã ⁄UÊ¡SÕÊŸ ⁄UÊÖÿ øÈŸÊfl •ÊÿÙª ∑§Ê ª∆Ÿ Á∑§ÿÊ ªÿÊ?
(A) 242 (B) 243Z (C) 243K

(D) 243ZA (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

2. What percentage of maximum power is delivered to a load if a load resistance is 10 times greater than the
Thevenin resistance of the source to which it is connected ?

ÿÁº ‹Ù«U ¬˝ÁÃ⁄Ùœ ©‚ dÙÃ ∑§ ÕflÁŸŸ ¬˝ÁÃ⁄Ùœ ‚ vÆ ªÈŸÊ •Áœ∑§ „Ò Á¡‚‚ fl„ ¡È«∏Ê „È•Ê „Ò, ÃÙ ‹Ù«U ∑§Ù •Áœ∑§Ã◊ ‡ÊÁÄÃ
∑§Ê Á∑§ÃŸÊ ¬˝ÁÃ‡ÊÃ ¬˝ºÊŸ Á∑§ÿÊ ¡ÊÃÊ „Ò?
(A) 33.06% (B) 25% (C) 40%

(D) 35% (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

3. During Corona along with hissing noise, a smell of following gas also comes :

∑§Ù⁄ÙŸÊ ∑§ ºı⁄UÊŸ »È§»§∑§Ê⁄Ÿ ∑§Ë •ÊflÊ¡ ∑§ ‚ÊÕ-‚ÊÕ ÁŸêŸ ªÒ‚ ∑§Ë ª¢œ ÷Ë •ÊÃË „Ò —
(A) H

2
S (B) O

2
(C) O

3

(D) H
2

(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

4. Khejri tree is held important for the locals of Rajasthan.  Which of the following is not true about khejri tree ?

(A) Dried mature pods, locally called ‘kho-kha’, have a sweetish pulp and are also edible and mush liked by
local children.

(B) It is most dominant tree of the western Rajasthan.

(C) It was declared as state tree in the year 1982-83.

(D) Dried yellow beans of the khejri are stored and used for cooking round the year.

(E) Question not attempted

π¡«∏Ë ∑§Ê ¬«∏ ⁄UÊ¡SÕÊŸ ∑§ SÕÊŸËÿ ‹ÙªÙ¥ ∑§ Á‹∞ ◊„àfl¬ÍáÊ¸ ◊ÊŸÊ ¡ÊÃÊ „Ò– π¡«∏Ë ∑§ ¬«∏ ∑§ ’Ê⁄ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ
‚Ê ∑§ÕŸ ‚„Ë Ÿ„Ë¥ „Ò?

(A) ‚ÍπË ¬Á⁄¬Äfl »§Á‹ÿÊ°, Á¡ã„¥ SÕÊŸËÿ M§¬ ‚ “πÙ-πÊ” ∑§„Ê ¡ÊÃÊ „Ò, ◊¥ ◊Ë∆Ê ªÍºÊ „ÙÃÊ „Ò •ÊÒ⁄ ÿ„ πÊŸ ÿÙÇÿ ÷Ë „ÙÃË
„Ò •ÊÒ⁄ SÕÊŸËÿ ’ìÊÙ¥ mÊ⁄UÊ ¬‚¢º ∑§Ë ¡ÊÃË „Ò–

(B) ÿ„ ¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸ ∑§Ê ‚’‚ ¬˝◊Èπ ¬«∏ „Ò–

(C) ß‚ fl·¸ v~}w-}x ◊¥ ⁄UÊÖÿ flÎˇÊ ÉÊÙÁ·Ã Á∑§ÿÊ ªÿÊ ÕÊ–

(D) π¡«∏Ë ∑§Ë ‚ÍπË ¬Ë‹Ë »§Á‹ÿÙ¥ ∑§Ù ‚¢ª˝„ËÃ Á∑§ÿÊ ¡ÊÃÊ „Ò •ÊÒ⁄ ‚Ê‹ ÷⁄ πÊŸÊ ¬∑§ÊŸ ∑§ Á‹∞ ©¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

5. Name the author of ‘Annals and Antiquities of Rajasthan’.

(A) Dr Kanungo (B) George Thomas (C) Col. James Tod

(D) V A Smith (E) Question not attempted

“⁄UÊ¡SÕÊŸ ∑§ ∞ŸÊÀ‚ •ÊÒ⁄ ∞¢≈ËÄflË≈Ë¡” ∑§ ‹π∑§ ∑§Ê ŸÊ◊ ’ÃÊß∞–

(A) «UÊÚ ∑§ÊŸÍŸªÙ (B) ¡ÊÚ¡¸ ÕÊÚ◊‚ (C) ∑§Ÿ¸‹ ¡ê‚ ≈ÊÚ«U

(D) flË ∞ ÁS◊Õ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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6. In last years of her life, the saint Mirabai, moved to __________.
(A) Pali, Rajasthan (B) Dwarka, Gujarat (C) Vrindavan, Uttar Pradesh
(D) Barsana, Uttar Pradesh (E) Question not attempted

•¬Ÿ ¡ËflŸ ∑§ •¢ÁÃ◊ fl·ÙZ ◊¥, ‚¢Ã ◊Ë⁄UÊ’Êß¸ __________ ø‹Ë ªß¸–
(A) ¬Ê‹Ë, ⁄UÊ¡SÕÊŸ (B) mÊ⁄∑§Ê, ªÈ¡⁄UÊÃ (C) flÎãºÊflŸ, ©ûÊ⁄ ¬˝º‡Ê
(D) ’⁄‚ÊŸÊ, ©ûÊ⁄ ¬˝º‡Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

7. For the fixed bias configuration of BJT as shown in figure of silicon BJT having ratio of collector current to base
current (β) equal to 95, what will be the value of V

CE
 ?

ÁøòÊ ◊¥ ÁºπÊ∞ •ŸÈ‚Ê⁄ ÿÁŒ Á‚Á‹∑§ÊÚŸ BJT ∑§ ÁŸÿÃ •Á÷ŸÁÃ ‚¥⁄UøŸÊ ◊¥ ∑§‹Ä≈U⁄U ∑§⁄¥U≈U •ÊÒ⁄U ’‚ ∑§⁄¥U≈U ∑§ •ŸÈ¬ÊÃ (β) ∑§Ê
◊ÊŸ 95 „Ò, ÃÊ V

CE 
∑§Ê ◊ÊŸ ÄÿÊ „ÙªÊ?

(A) 7 V (B) 8.08 V (C) 8 V

(D) 7.72 V (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

8. Approximately how much areas of western Rajasthan are affected by desertification ?
Choose the most appropriate answer from the options  given below :
(A) 58% (B) More than 60% (C) Less than 50%
(D) 55% (E) Question not attempted

¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸ ∑§Ê ‹ª÷ª Á∑§ÃŸÊ ˇÊòÊ ◊L§SÕ‹Ë∑§⁄áÊ ‚ ¬˝÷ÊÁflÃ „Ò?
ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) z}% (B) {Æ% ‚ •Áœ∑§ (C) zÆ% ‚ ∑§◊
(D) zz% (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

9. The voltage of a common source JFET amplifier depends upon its __________.
(A) both transconductance and internal load resistance
(B) transconductance
(C) amplification factor
(D) internal load resistance
(E) Question not attempted

∞∑§ ‚Ê◊Êãÿ dÙÃ JFET ∞ê¬‹Ë»§Êÿ⁄ ∑§Ê flÙÀ≈¡ ß‚∑§ __________ ¬⁄ ÁŸ÷¸⁄ ∑§⁄ÃÊ „Ò–
(A) ≈˛Ê¢‚∑¢§«UÄ≈¥‚ •ÊÒ⁄ •Ê¢ÃÁ⁄∑§ ‹Ù«U ¬˝ÁÃ⁄Ùœ ºÙŸÙ¥
(B) ≈˛Ê¢‚∑¢§«UÄ≈¥‚
(C) ¬˝flœ¸Ÿ ∑§Ê⁄∑§
(D) •Ê¢ÃÁ⁄∑§ ‹Ù«U ¬˝ÁÃ⁄Ùœ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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10. The surge impedance of an underground cable is around :

(A) 100 Ω (B) 400 Ω (C) 25 Ω

(D) 50 Ω (E) Question not attempted

÷ÍÁ◊ªÃ ∑§’‹ ∑§Ë ‚¡¸ ¬˝ÁÃ’ÊœÊ ‹ª÷ª „ÙÃË „Ò —

(A) vÆÆ Ω (B) yÆÆ Ω (C) wz Ω

(D) zÆ Ω (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

11. If P
i
 be the iron loss and P

cu
 be the copper loss on full load.  The following condition has to be satisfied to obtain

maximum efficiency at 
3

4
 full load.

ÿÁº P
i
 ‹ı„ ˇÊÁÃ •ÊÒ⁄ P

cu
 ÃÊ◊˝ ˇÊÁÃ ¬ÍáÊ¸ ÷Ê⁄ ¬⁄ „Ò–  

3

4
 ¬ÍáÊ¸ ÷Ê⁄ ¬⁄ •Áœ∑§Ã◊ ºˇÊÃÊ ¬˝ÊåÃ ∑§⁄Ÿ ∑§ Á‹∞ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚

∑§ıŸ ‚Ë ‡ÊÃ¸ ∑§Ù ¬Í⁄UÊ ∑§⁄ŸÊ „ÙªÊ?

(A) =cu i

9
P    P

16
(B) =cu i

3
P    P

4
(C) =cu i

16
P    P

9

(D) =cu i

4
P    P

3
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

12. In the given figure the galvanometer reads zero.  The value of resistance ‘R’ is :

ºË ªß¸ •Ê∑Î§ÁÃ ◊¥ ªÒÀflŸÙ◊Ë≈⁄ ‡ÊÍãÿ º‡ÊÊ¸ÃÊ „Ò– ¬˝ÁÃ⁄Ùœ ‘R’ ∑§Ê ◊ÊŸ „Ò —

(A) 6 Ω (B) 4 Ω (C) 16 Ω

(D) 3 Ω (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

13. Who of the following is associated with the tradition of Thewa art in Rajasthan ?

(A) Pradeep Mukherjee (B) Mahesh Soni (C) Shree Lal Joshi

(D) Ghanshyam Nimbark (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ⁄UÊ¡SÕÊŸ ◊¥ ÕflÊ ∑§‹Ê ∑§Ë ¬⁄¢¬⁄UÊ ‚ ¡È«∏Ê „Ò?

(A) ¬˝ºË¬ ◊Èπ¡Ë¸ (B) ◊„‡Ê ‚ÙŸË (C) üÊË ‹Ê‹ ¡Ù‡ÊË

(D) ÉÊŸ‡ÿÊ◊ ÁŸê’Ê∑¸§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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14. When two coils having inductance of L
1
 and L

2
 are connected through mutual inductance M, the coefficient of

coupling K is given by :

¡’ L
1
 •ÊÒ⁄ L

2
 ¬˝⁄∑§àfl flÊ‹Ë ºÙ ∑È§á«UÁ‹ÿÙ¥ ∑§Ù ¬Ê⁄S¬Á⁄∑§ ¬˝⁄∑§àfl M ∑§ ◊Êäÿ◊ ‚ ¡Ù«∏Ê ¡ÊÃÊ „Ò, ÃÙ ÿÈÇ◊Ÿ ªÈáÊÊ¢∑§ K ÁŸêŸ

¬˝∑§Ê⁄ ÁºÿÊ ¡ÊÃÊ „Ò —

(A) =

1 2

M
K  

L L
(B)

1 2

M
K  

2L L
= (C) =

1 2L L
K  

M

(D)
1 2

2M
K  

L L
= (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

15. Which of the following is not a western Rajasthani dialect ?

(A) Shekhawati (B) Bagdi (C) Marwari

(D) Mewati (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ¬Á‡ø◊Ë ⁄UÊ¡SÕÊŸË ’Ê‹Ë Ÿ„Ë¥ „Ò?

(A) ‡ÊπÊflÊ≈Ë (B) ’Êª«∏Ë (C) ◊Ê⁄flÊ«∏Ë

(D) ◊flÊÃË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

16. Which of the following region is associated with the river basin of Luni river ?

(A) Bundi (B) Tonk (C) Nagaur

(D) Karauli (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ˇÊòÊ ‹ÍŸË ŸºË ∑§ ’Á‚Ÿ ‚ ¡È«∏Ê „È•Ê „Ò?

(A) ’Í¢ºË (B) ≈Ù¥∑§ (C) ŸÊªı⁄

(D) ∑§⁄ı‹Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

17. Earth wire is made up of which of the following materials ?

(A) Galvanized steel (B) Copper (C) Aluminium

(D) Iron (E) Question not attempted

•Õ¸ flÊÿ⁄ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ‚Ê◊ª˝Ë ‚ ’ŸÊ „ÙÃÊ „Ò?

(A) ªÒÀflŸÊßÖ«U S≈Ë‹ (B) ÃÊ¢’Ê (C) ∞ÀÿÈÁ◊ÁŸÿ◊

(D) ‹Ù„Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

18. Which size of wire has the highest current carrying capacity ?

(A) 18 gauge (B) 4 gauge (C) 10 gauge

(D) 12 gauge (E) Question not attempted

Á∑§‚ •Ê∑§Ê⁄ ∑§ ÃÊ⁄ ∑§Ë œÊ⁄UÊ fl„Ÿ ˇÊ◊ÃÊ ‚’‚ •Áœ∑§ „ÙÃË „Ò?

(A) v} ª¡ (B) y ª¡ (C) vÆ ª¡

(D) vw ª¡ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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19. In a synchronous machine, the induced emf phasor :

(A) is in phase opposition to the flux phasor. (B) leads the flux phasor by 908.

(C) is in phase with the flux phasor. (D) lags behind the flux phasor by 908.

(E) Question not attempted

∞∑§ ÃÈÀÿ∑§ÊÁ‹∑§ ◊‡ÊËŸ ◊¥, ¬˝Á⁄Ã ß¸∞◊∞»§ »§¡⁄U —
(A) ç‹Ä‚ »§¡⁄U ∑§ Áfl¬⁄ËÃ ø⁄áÊ ◊¥ „Ò– (B) ç‹Ä‚ »§¡⁄U ‚ ~Æ8 •Êª „Ò–
(C) ç‹Ä‚ »§¡⁄U ∑§ ‚ÊÕ ø⁄áÊ ◊¥ „Ò– (D) ç‹Ä‚ »§¡⁄U ‚ ~Æ8 ¬Ë¿U „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

20. If the current through the operating coil of a moving iron instrument is doubled, the operating torque becomes
__________.

(A) three times (B) two times (C) four times

(D) one half time (E) Question not attempted

ÿÁº Á∑§‚Ë ©¬∑§⁄áÊ ∑§ ø‹ ‹ı„ ÿ¢òÊ •ÊÚ¬⁄Á≈¢ª ∑§ÊÚß‹ ∑§ ◊Êäÿ◊ ‚ œÊ⁄UÊ ∑§Ù ºÙªÈŸÊ ∑§⁄ ÁºÿÊ ¡Ê∞, ÃÙ •ÊÚ¬⁄Á≈¢ª ≈ÊÚ∑¸§
__________ ’Ÿ ¡ÊÃÊ „Ò–
(A) ÃËŸªÈŸÊ (B) ºÈªŸÊ (C) øÊ⁄ªÈŸÊ
(D) •ÊœÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

21. In a BJT longest current flows __________.

(A) in the Collector (B) in the base (C) in the emitter

(D) in the base and emitter (E) Question not attempted

BJT ◊¥ ‚’‚ ‹¢’Ë œÊ⁄UÊ ¬˝flÊÁ„Ã „ÙÃË „Ò —
(A) ‚¢ª˝Ê„∑§ ◊¥ (B) •ÊœÊ⁄ ◊¥ (C) ©à‚¡¸∑§ ◊¥
(D) •ÊœÊ⁄ •ÊÒ⁄ ©à‚¡¸∑§ ◊¥ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

22. Consider the following statements regarding the Governor :

(a) The Governor of a state is appointed by the President for a term of five years in office.

(b) Only Indian citizens above 30 years of age are eligible for appointment to this office.

(c) There shall be a council of ministers with the chief minister at the head, to aid and advise the Governor in
the exercise of his functions, except in so far as he is by or under this constitution required to exercise his
functions or any of them in his discretion.

Which of the above statements are correct ?

Choose the most appropriate answer from the options  given below :

(A) (a) and (c) (B) (a), (b) and (c) (C) (b) and (c)

(D) (a) and (b) (E) Question not attempted

⁄UÊÖÿ¬Ê‹ ∑§ ‚¢’¢œ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸÙ¥ ¬⁄ ÁfløÊ⁄ ∑§⁄¥ —
(a) Á∑§‚Ë ⁄UÊÖÿ ∑§ ⁄UÊÖÿ¬Ê‹ ∑§Ù ⁄UÊc≈˛U¬ÁÃ mÊ⁄UÊ ¬Ê°ø fl·¸ ∑§Ë •flÁœ ∑§ Á‹∞ ÁŸÿÈÄÃ Á∑§ÿÊ ¡ÊÃÊ „Ò–
(b) ∑§fl‹ xÆ fl·¸ ‚ •Áœ∑§ •ÊÿÈ ∑§ ÷Ê⁄ÃËÿ ŸÊªÁ⁄∑§ „Ë ß‚ ¬º ¬⁄ ÁŸÿÈÁÄÃ ∑§ Á‹∞ ¬ÊòÊ „Ò¥–
(c) Á¡Ÿ ’ÊÃÙ¥ ◊¥ ß‚ ‚¢ÁflœÊŸ mÊ⁄UÊ ÿÊ ß‚∑§ •œËŸ ⁄UÊÖÿ¬Ê‹ ‚ ÿ„ •¬ÁˇÊÃ „Ò Á∑§ fl„ •¬Ÿ ∑Î§àÿÙ¥ ÿÊ ©Ÿ◊ ‚ Á∑§‚Ë ∑§Ù

•¬Ÿ Áflfl∑§ÊŸÈ‚Ê⁄ ∑§⁄¥, ©Ÿ ’ÊÃÙ¥ ∑§Ù ¿UÙ«∏∑§⁄ ⁄UÊÖÿ¬Ê‹ ∑§Ù •¬Ÿ ∑Î§àÿÙ¥ ∑§Ê ¬˝ÿÙª ∑§⁄Ÿ ◊¥ ‚„ÊÿÃÊ •ÊÒ⁄ ‚‹Ê„ ºŸ ∑§
Á‹∞ ∞∑§ ◊¢òÊË ¬Á⁄·º „ÙªË Á¡‚∑§Ê ¬˝œÊŸ, ◊ÈÅÿ◊¢òÊË „ÙªÊ–

©¬ÿÈ¸ÄÃ ∑§ÕŸÙ¥ ◊¥ ‚ ∑§ıŸ-‚Ê ‚„Ë „Ò?
ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) (a) •ÊÒ⁄ (c) (B) (a), (b) •ÊÒ⁄ (c) (C) (b) •ÊÒ⁄ (c)
(D) (a) •ÊÒ⁄ (b) (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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23. The analogous of conductance in magnetic circuit is __________.

(A) Flux (B) Permeability (C) Permeance

(D) Reluctance (E) Question not attempted

øÈ¢’∑§Ëÿ ¬Á⁄¬Õ ◊¥ øÊ‹∑§ÃÊ ∑§Ê •ŸÈM§¬ „Ò __________–

(A) ç‹Ä‚ (B) ¬Ê⁄ªêÿÃÊ (C) ¬⁄◊Ëÿ¢‚

(D) •ÁŸë¿UÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

24. The relationship between rotor Frequency F
2
, slip S and stator Frequency F, is given by :

⁄Ù≈⁄ $»˝§ËÄfl¥‚Ë F
2
 , ÁS‹¬ S •ÊÒ⁄ S≈≈⁄ $»˝§ËÄfl¥‚Ë F ∑§ ’Ëø ‚¢’¢œ, __________ mÊ⁄UÊ ÁºÿÊ ªÿÊ „Ò–

(A)
2F S. F= (B) 2

F
F

S
= (C) F

2
=SF

(D) F
2
=( 1−S) F (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

25. The voltage that appears across the contacts after the circuit breaker is opened is called :

(A) Surge voltage (B) Recovery voltage (C) Arc voltage

(D) Break open voltage (E) Question not attempted

‚Á∑¸§≈ ’˝∑§⁄ πÈ‹Ÿ ∑§ ’Êº ‚¢¬∑§ÙZ ◊¥ ¡Ù flÙÀ≈¡ ÁºπÊß¸ ºÃÊ „Ò ©‚ ∑§„Ã „Ò¥ —

(A) ‚¡¸ flÙÀ≈¡ (B) Á⁄∑§fl⁄Ë flÙÀ≈¡ (C) •Ê∑¸§ flÙÀ≈¡

(D) ’˝∑§ •Ê¬Ÿ flÙÀ≈¡ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

26. In a circuit, sixteen resistances each of 32 Ω are connected in parallel, the equivalent resistance of this circuit is
__________.

∞∑§ ¬Á⁄¬Õ ◊¥, xw Ω ∑§ ‚Ù‹„ ¬˝ÁÃ⁄Ùœ ‚◊ÊŸÊ¢Ã⁄ ◊¥ ¡È«∏ „È∞ „Ò¥, ß‚ ¬Á⁄¬Õ ∑§Ê ÃÈÀÿ ¬˝ÁÃ⁄Ùœ „Ò __________–
(A) 1024 Ω (B) 2 Ω (C) 16 Ω

(D) 32 Ω (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

27. Which place in Rajasthan is called ‘city of Hundred islands’ ?

(A) Jaisalmer (B) Jaipur (C) Tonk

(D) Banswara (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ Á∑§‚ SÕÊŸ ∑§Ù “‚ı mË¬Ù¥ ∑§Ê ‡Ê„⁄” ∑§„Ê ¡ÊÃÊ „Ò?

(A) ¡Ò‚‹◊⁄ (B) ¡ÿ¬È⁄ (C) ≈Ù¥∑§

(D) ’Ê¢‚flÊ«∏Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

28. Which of the following fort is also called ‘Sonar ka fort’ ?

Choose the most appropriate option.

(A) Gagron Fort (B) Bhainsror fort (C) Jalore Fort

(D) Jaisalmer Fort (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ Á∑§‹ ∑§Ù “‚ÙŸÊ⁄ ∑§Ê Á∑§‹Ê” ÷Ë ∑§„Ê ¡ÊÃÊ „Ò?

‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ øÈŸ¥–

(A) ªÊª⁄ÙŸ Á∑§‹Ê (B) ÷Ò¥‚⁄Ù«∏ Á∑§‹Ê (C) ¡Ê‹ı⁄ Á∑§‹Ê

(D) ¡Ò‚‹◊⁄ Á∑§‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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29. To which city does the famous folk dance Ghudla belong ?

Choose the most appropriate answer from the options given below.

(A) Bikaner (B) Jodhpur (C) Jaipur

(D) Tonk (E) Question not attempted

¬˝Á‚h ‹Ù∑§ ŸÎàÿ “ÉÊÈ«∏‹Ê” Á∑§‚ ‡Ê„⁄ ‚ ‚¢’¢ÁœÃ „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ’Ë∑§ÊŸ⁄ (B) ¡Ùœ¬È⁄ (C) ¡ÿ¬È⁄

(D) ≈Ù¥∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

30. A capacitor of 50 µF offers a reactance of 50 Ω against AC supply of 100 V.  The frequency of the supply is :

(A) 63.6 Hz (B) 15.7 Hz (C) zero Hz

(D) 50 Hz (E) Question not attempted

zÆ µF ∑§Ê ∞∑§ ‚¢œÊÁ⁄òÊ vÆÆ V ∑§Ë AC •Ê¬ÍÁÃ¸ ∑§ ÁflL§h zÆ Ω ∑§Ë ¬˝ÁÃÁ∑˝§ÿÊ ¬˝ºÊŸ ∑§⁄ÃÊ „Ò–  •Ê¬ÍÁÃ¸ ∑§Ë •ÊflÎÁûÊ „Ò —

(A) 63.6 „≈˜¸U¡ (B) 15.7 „≈˜¸U¡ (C) ‡ÊÍãÿ „≈˜¸U¡

(D) 50 „≈˜¸U¡ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

31. The commutator segments of dc machine are made of __________.

(A) Hard drawn copper (B) Brass (C) Copper

(D) Aluminium (E) Question not attempted

dc ◊‡ÊËŸ ∑§ ∑§êÿÍ≈≈⁄ ‚ª◊¥≈ __________ ‚ ’Ÿ „ÙÃ „Ò¥–
(A) „Ê«¸U «˛ÊÚ ∑§ÊÚ¬⁄ (B) ¬ËÃ‹ (C) ∑§ÊÚ¬⁄
(D) ∞‹ÈÁ◊ÁŸÿ◊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

32. A mercury vapour lamp gives __________ colour of light.

(A) Greenish blue (B) White (C) Pink

(D) Yellow (E) Question not attempted

¬Ê⁄UÊ flÊc¬ ‹Ò¥¬ ¬˝∑§Ê‡Ê ∑§Ê __________ ⁄¢ª ºÃÊ „Ò–

(A) „⁄UÊ-ŸË‹Ê (B) ‚»§Œ (C) ªÈ‹Ê’Ë

(D) ¬Ë‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

33. Who among the following is not from ‘Rathore Vansh of Marwar’ ?

(A) Rao Beeka (B) Rao Maldev (C) Rao Ranmal

(D) Mota Raja Udai Singh (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ “◊Ê⁄flÊ«∏ ∑§ ⁄UÊ∆ı«∏ fl¢‡Ê” ‚ Ÿ„Ë¥ „Ò?

(A) ⁄UÊfl ’Ë∑§Ê (B) ⁄UÊfl ◊Ê‹ºfl (C) ⁄UÊfl ⁄áÊ◊‹

(D) ◊Ù≈Ê ⁄UÊ¡Ê ©ºÿ Á‚¢„ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

34. Two lamps of 100 W and 200 W rated for 220 V are placed in series and a 440 V applied across them, then what
will happen ?

(A) No lamp will fuse (B) Only 100 W lamp will fuse (C) Only 200 W lamp will fuse

(D) Both the lamp will fuse (E) Question not attempted

wwÆ V ∑§ Á‹∞ ⁄≈«U vÆÆ W •ÊÒ⁄ wÆÆ W ∑§ ºÙ ‹Ò¥¬ üÊÎ¢π‹Ê ◊¥ ⁄π ¡ÊÃ „Ò¥ •ÊÒ⁄ ©Ÿ∑§ ’Ëø yyÆ V ‹ªÊÿÊ ¡ÊÃÊ „Ò, ÃÙ ÄÿÊ
„ÙªÊ?
(A) ∑§Ùß¸ ÷Ë ‹Ò¥¬ çÿÍ¡ Ÿ„Ë¥ „ÙªÊ (B) ∑§fl‹ vÆÆ W ‹Ò¥¬ çÿÍ¡ „ÙªÊ (C) ∑§fl‹ wÆÆ W ‹Ò¥¬ çÿÍ¡ „ÙªÊ
(D) ºÙŸÙ¥ ‹Ò¥¬ çÿÍ¡ „Ù ¡Ê∞¢ª (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ



l  F-167 36

35. A 3-phase synchronous motor driving a constant load torque draws power from the infinite bus at a leading
power factor.  If the excitation is increased :

(A) Both power angle and power factor decrease.

(B) The power angle decreases while power factor increases.

(C) The power angle increases while power factor decreases.

(D) Both power angle and power factor increase.

(E) Question not attempted

∞∑§ x-»§¡ Á‚¢∑˝§ÙŸ‚ ◊Ù≈⁄ ¡Ù ∞∑§ ÁSÕ⁄ ‹Ù«U ≈ÊÚ∑¸§ ø‹ÊÃË „Ò, ∞∑§ •ª˝áÊË ¬Êfl⁄ »Ò§Ä≈⁄ ¬⁄ •Ÿ¢Ã ’‚ ‚ ¬Êfl⁄ πË¥øÃË „Ò–
ÿÁº ©ûÊ¡ŸÊ ’…U∏Êß¸ ¡ÊÃË „Ò —
(A) ¬Êfl⁄ ∞¢ª‹ •ÊÒ⁄ ¬Êfl⁄ »Ò§Ä≈⁄ ºÙŸÙ¥ ÉÊ≈Ã „Ò¥–
(B) ¬Êfl⁄ ∞¢ª‹ ÉÊ≈ÃÊ „Ò ¡’Á∑§ ¬Êfl⁄ »Ò§Ä≈⁄ ’…U∏ÃÊ „Ò–
(C) ¬Êfl⁄ ∞¢ª‹ ’…U∏ÃÊ „Ò ¡’Á∑§ ¬Êfl⁄ »Ò§Ä≈⁄ ÉÊ≈ÃÊ „Ò–
(D) ¬Êfl⁄ ∞¢ª‹ •ÊÒ⁄ ¬Êfl⁄ »Ò§Ä≈⁄ ºÙŸÙ¥ ’…U∏Ã „Ò¥–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

36. In polyphase induction motor, the speed higher than synchronous speed can be obtained by :

(A) Variation of supply frequency (B) Variation of supply voltage

(C) Rotor slip power control (D) Variation of rotor resistance

(E) Question not attempted

¬ÊÚ‹Ë$»§$¡ ß¢«UÄ‡ÊŸ ◊Ù≈⁄ ◊¥ Á‚¢∑˝§ÙŸ‚ ªÁÃ ‚ •Áœ∑§ ªÁÃ ÁŸêŸ mÊ⁄UÊ ¬˝ÊåÃ ∑§Ë ¡Ê ‚∑§ÃË „Ò —
(A) •Ê¬ÍÁÃ¸ •ÊflÎÁûÊ ◊¥ ¬Á⁄flÃ¸Ÿ (B) •Ê¬ÍÁÃ¸ flÙÀ≈¡ ◊¥ ¬Á⁄flÃ¸Ÿ

(C) ⁄Ù≈⁄ ÁS‹¬ ¬Êfl⁄ ÁŸÿ¢òÊáÊ (D) ⁄Ù≈⁄ ¬˝ÁÃ⁄Ùœ ◊¥ ¬Á⁄flÃ¸Ÿ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

37. According to the Rajasthan Guaranteed Delivery of Public Service Act 2011, under which section are the ‘designated
officers’ and “stipulated time limits” notified ?

(A) Section – 2 (B) Section – 3 (C) Sub Section – 2

(D) Sub Section – 1 (E) Question not attempted

⁄UÊ¡SÕÊŸ ‹Ù∑§ ‚flÊ ªÊ⁄¢≈Ë •ÁœÁŸÿ◊ wÆvv ∑§ •ŸÈ‚Ê⁄ Á∑§‚ œÊ⁄UÊ ∑§ Ã„Ã ¬ºÊÁ÷Á„Ã •Áœ∑§ÊÁ⁄ÿÙ¥ ∑§Ë ÁŸÿÈÁÄÃ ∞fl¢ ÁŸœÊ¸Á⁄Ã
‚◊ÿ ‚Ë◊Ê •Áœ‚ÍÁøÃ ∑§Ë ¡ÊÃË „Ò?

(A) œÊ⁄UÊ-w (B) œÊ⁄UÊ-x (C) ©¬œÊ⁄UÊ-w
(D) ©¬œÊ⁄UÊ-v (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

38. Which of the following fort is located on the banks of river Parvan close to Baran city ?

(A) Chitra Mahal (B) Lohagarh Fort (C) Shergarh Fort

(D) Taragarh Fort (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê Á∑§‹Ê ’Ê⁄UÊ° ‡Ê„⁄ ∑§ ¬Ê‚ ¬⁄flŸ ŸºË ∑§ Ã≈ ¬⁄ ÁSÕÃ „Ò?

(A) ÁøòÊÊ ◊„‹ (B) ‹Ù„Êª…U∏ Á∑§‹Ê (C) ‡Ê⁄ª…U∏ Á∑§‹Ê

(D) ÃÊ⁄UÊª…U∏ Á∑§‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

39. The commutator of a DC generator acts as a __________.

(A) Half –wave controlled rectifier (B) Full wave rectifier (C) Half-wave rectifier

(D) Full wave controlled rectifier (E) Question not attempted

DC ¡Ÿ⁄≈⁄ ∑§Ê ∑§êÿÍ≈≈⁄ Á∑§‚∑§ M§¬ ◊¥ ∑§Êÿ¸ ∑§⁄ÃÊ „Ò?
(A) •œ¸-Ã⁄¢ª ÁŸÿ¢ÁòÊÃ Áºc≈U∑§Ê⁄Ë (B) ¬ÍáÊ¸-Ã⁄¢ª Áºc≈U∑§Ê⁄Ë (C) •œ¸-Ã⁄¢ª Áºc≈U∑§Ê⁄Ë
(D) ¬ÍáÊ¸-Ã⁄¢ª ÁŸÿ¢ÁòÊÃ Áºc≈U∑§Ê⁄Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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40. A Capacitor start, Capacitor run motor has __________.

(A) High starting torque (B) Low power factor (C) High power factor

(D) Low efficiency (E) Question not attempted

∑Ò§¬Á‚≈⁄ S≈Ê≈¸ ∑Ò§¬Á‚≈⁄ ⁄Ÿ ◊Ù≈⁄ ◊¥ __________ „ÙÃÊ „Ò–

(A) ©ìÊ S≈ÊÁ≈Zª ≈ÊÚ∑¸§ (B) ÁŸêŸ ‡ÊÁÄÃ ªÈáÊ∑§ (C) ©ìÊ ‡ÊÁÄÃ ªÈáÊ∑§

(D) ∑§◊ ºˇÊÃÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

41. In the given figure, the effective Capacitance between point A and point B is __________.

ºË ªß¸ •Ê∑Î§ÁÃ ◊¥, Á’¢ºÈ A •ÊÒ⁄ Á’¢ºÈ B ∑§ ’Ëø ¬˝÷ÊflË œÊÁ⁄ÃÊ __________ „Ò–

(A) 3µF (B) 6µF (C) 12µF

(D) 9µF (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

42. Which of the following region of Rajasthan is not among the major regions of petroleum reserves in India ?

Choose the most appropriate answer from the options given below :

(A) Barmer (B) Jhunjhunu (C) Bikaner

(D) Jaisalmer (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§Ê ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ˇÊòÊ ÷Ê⁄Ã ◊¥ ¬≈˛ÙÁ‹ÿ◊ ÷¢«UÊ⁄ ∑§ ¬˝◊Èπ ˇÊòÊÙ¥ ◊¥ ‚ Ÿ„Ë¥ „Ò?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ’Ê«∏◊⁄ (B) ¤ÊÈ¢¤ÊÈŸÍ (C) ’Ë∑§ÊŸ⁄

(D) ¡Ò‚‹◊⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

43. For making the core of transformer silicon steel is preferred because :

(A) It decreases the tensile strength. (B) It decreases the permeability of the core.

(C) It reduces hysteresis loss. (D) It reduces resistivity of the core.

(E) Question not attempted

≈˛Ê¢‚»§ÊÚ◊¸⁄ ∑§Ë ∑§Ù⁄ ’ŸÊŸ ∑§ Á‹∞ Á‚Á‹∑§ÊÚŸ S≈Ë‹ ∑§Ù ¬˝ÊÕÁ◊∑§ÃÊ ºË ¡ÊÃË „Ò ÄÿÙ¥Á∑§ —

(A) ß‚‚ Ããÿ ‡ÊÁÄÃ ∑§◊ „Ù ¡ÊÃË „Ò– (B) ß‚‚ ∑§Ù⁄ ∑§Ë ¬Ê⁄ªêÿÃÊ ∑§◊ „Ù ¡ÊÃË „Ò–

(C) ÿ„ Á„S≈ÒÁ⁄‚Ë‚ „ÊÁŸ ∑§Ù ∑§◊ ∑§⁄ÃÊ „Ò– (D) ÿ„ ∑§Ù⁄ ∑§Ë ¬˝ÁÃ⁄Ùœ∑§ÃÊ ∑§Ù ∑§◊ ∑§⁄ÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

44. A synchronous motor acting as a condenser has to operate at :

(A) Leading power factor (B) 0.5 lagging power factor (C) 0.8 lagging power factor

(D) Unity power factor (E) Question not attempted

∑¢§«Uã‚⁄ ∑§ M§¬ ◊¥ ∑§Êÿ¸ ∑§⁄Ÿ flÊ‹Ë ∞∑§ Á‚¢∑˝§ÙŸ‚ ◊Ù≈⁄ ∑§Ù ÁŸêŸ ¬⁄ ∑§Ê◊ ∑§⁄ŸÊ „ÙÃÊ „Ò —

(A) •ª˝ªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ (B) Æ.z ¬cøªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ (C) Æ.} ¬cøªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§
(D) ∞∑§∑§ ‡ÊÁÄÃ ªÈáÊ∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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45. Which of the following is an absolute measuring instruments ?

(A) Moving Iron (B) Moving coil (C) Tangent Galvanometer

(D) Permanent Magnet (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ∞∑§ ¬ÍáÊ¸ ◊Ê¬ ©¬∑§⁄áÊ „Ò?

(A) ø‹ ‹ı„ ÿ¢òÊ (B) ø‹ ∑È¥§«U‹Ë Á⁄‹ (C) S¬‡Ê¸íÿÊ œÊ⁄UÊ◊Ê¬Ë

(D) SÕÊÿË øÈ¢’∑§ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

46. In three phase induction motor the double cage rotors have :

(A) The outer cage has high resistance and inner cage has low resistance.

(B) The inner and outer cage have high resistance.

(C) The inner and outer cage have low resistance.

(D) The outer cage has low resistance and inner cage has high resistance.

(E) Question not attempted

ÃËŸ »§¡ ß¢«UÄ‡ÊŸ ◊Ù≈⁄ ◊¥ «U’‹ ∑§¡ ⁄Ù≈⁄ ◊¥ —

(A) ’Ê„⁄Ë ∑§¡ ◊¥ ©ìÊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò •ÊÒ⁄ •Ê¢ÃÁ⁄∑§ ∑§¡ ◊¥ ∑§◊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò–

(B) •Ê¢ÃÁ⁄∑§ •ÊÒ⁄ ’Ê„⁄Ë ∑§¡ ◊¥ ©ìÊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò–

(C) •Ê¢ÃÁ⁄∑§ •ÊÒ⁄ ’Ê„⁄Ë ∑§¡ ◊¥ ∑§◊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò–

(D) ’Ê„⁄Ë ∑§¡ ◊¥ ∑§◊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò •ÊÒ⁄ •Ê¢ÃÁ⁄∑§ ∑§¡ ◊¥ ©ìÊ ¬˝ÁÃ⁄Ùœ „ÙÃÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

47. Insulators used in transmission lines at the river and road crossings is :

(A) Egg insulator (B) Pin type insulator (C) Suspension type insulator

(D) Strain type insulator (E) Question not attempted

ŸºË •ÊÒ⁄ ‚«∏∑§ ∑˝§ÊÚÁ‚¢ª ¬⁄ ≈˛Ê¢‚Á◊‡ÊŸ ‹ÊßŸÙ¥ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ß¢‚È‹≈⁄ ∑§Ê ©¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò?
(A) ∞ª ß¢‚È‹≈⁄ (B) Á¬Ÿ ≈Êß¬ ß¢‚È‹≈⁄ (C) ‚S¬¥‡ÊŸ ≈Êß¬ ß¢‚È‹≈⁄
(D) S≈˛Ÿ ≈Êß¬ ß¢‚È‹≈⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

48. The armature reaction effect in synchronous machine depends on :

(A) The load current and power factor both (B) The load current only

(C) The load power factor only (D) The speed of the rotor only

(E) Question not attempted

Á‚¢∑˝§ÙŸ‚ ◊‡ÊËŸ ◊¥ •Ê◊¸ø⁄ ¬˝ÁÃÁ∑˝§ÿÊ ¬˝÷Êfl ß‚ ¬⁄ ÁŸ÷¸⁄ ∑§⁄ÃÊ „Ò —
(A) ‹Ù«U ∑§⁄¢≈ •ÊÒ⁄ ¬Êfl⁄ »Ò§Ä≈⁄ ºÙŸÙ¥ (B) ∑§fl‹ ‹Ù«U ∑§⁄¢≈
(C) ∑§fl‹ ‹Ù«U ¬Êfl⁄ »Ò§Ä≈⁄ (D) ∑§fl‹ ⁄Ù≈⁄ ∑§Ë ªÁÃ
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

49. Plugging of dc motor is normally executed by __________.

(A) connecting a resistance across the armature (B) reversing the field polarity

(C) reversing the armature polarity (D) reversing both armature and field polarity

(E) Question not attempted

dc ◊Ù≈⁄ ∑§Ë å‹Áª¢ª ‚Ê◊ÊãÿÃ— __________ mÊ⁄UÊ ÁŸc¬ÊÁºÃ ∑§Ë ¡ÊÃË „Ò–

(A) •Ê◊¸ø⁄ ∑§ ¬Ê⁄ ∞∑§ ¬˝ÁÃ⁄Ùœ ∑§Ù ¡Ù«∏ŸÊ (B) ˇÊòÊ ∑§Ë œ˝ÈflËÿÃÊ ∑§Ù ©‹≈ŸÊ

(C) •Ê◊¸ø⁄ œ˝ÈflÃÊ ∑§Ù ©‹≈ŸÊ (D) •Ê◊¸ø⁄ •ÊÒ⁄ $»§ËÀ«U œ˝ÈflËÿÃÊ ºÙŸÙ¥ ∑§Ù ©‹≈ŸÊ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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50. Which of the following fault occurs most frequently ?

(A) Single line to ground faults (B) Three phase faults (C) LLG faults

(D) Double line faults (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ºÙ· ‚’‚ •Áœ∑§ ’Ê⁄ „ÙÃÊ „Ò?

(A) Á‚¢ª‹ ‹ÊßŸ ≈Í ª˝Ê©¢«U ºÙ· (B) ÃËŸ ø⁄áÊ ºÙ· (C) ∞‹∞‹¡Ë ºÙ·

(D) «U’‹ ‹ÊßŸ ºÙ· (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

51. Which of the following is a Rabi crop in Rajasthan ?

(A) Castor seed (B) Bajra (C) Taramira

(D) Maize (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë ⁄UÊ¡SÕÊŸ ◊¥ ⁄’Ë ∑§Ë »§‚‹ „Ò?

(A) •⁄¢«UË ∑§ ’Ë¡ (B) ’Ê¡⁄UÊ (C) ÃÊ⁄UÊ◊Ë⁄UÊ

(D) ◊Ä∑§Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

52. Gandhi Sagar, Rana Pratap Sagar and Jawahar Sagar are constructed on __________ river.

Choose the most appropriate answer from the options  given below :

(A) Sabarmati (B) Jakham and Som (C) Chambal

(D) Mahi (E) Question not attempted

ªÊ¢œË ‚Êª⁄, ⁄UÊáÊÊ ¬˝ÃÊ¬ ‚Êª⁄ •ÊÒ⁄ ¡flÊ„⁄ ‚Êª⁄ __________ ŸºË ¬⁄ ’Ÿ „Ò¥–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ‚Ê’⁄◊ÃË (B) ¡Êπ◊ •ÊÒ⁄ ‚Ù◊ (C) øê’‹

(D) ◊Ê„Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

53. By increasing the sag on the transmission line, the tension on the conductor will be :

(A) May increases or decreases (B) Increases (C) Decreases

(D) Not Affected (E) Question not attempted

≈˛Ê¢‚Á◊‡ÊŸ ‹ÊßŸ ¬⁄ ‚Òª ’…U∏ÊŸ ‚ ∑¢§«UÄ≈⁄ ¬⁄ ÃŸÊfl „ÙªÊ —

(A) ’…U∏ ‚∑§ÃÊ „Ò ÿÊ ÉÊ≈ ‚∑§ÃÊ „Ò (B) ’…U∏ªÊ (C) ÉÊ≈ªÊ

(D) ¬˝÷ÊÁflÃ Ÿ„Ë¥ „ÙªÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

54. Which shielding gas is commonly used in Tungston Inert Gas (TIG) welding ?

(A) Carbon dioxide (B) Argon (C) Hydrogen

(D) Oxygen (E) Question not attempted

≈¢ªS≈Ÿ ÁŸÁc∑˝§ÿ ªÒ‚ (TIG) flÁÀ«¢Uª ◊¥ •Ê◊Ãı⁄ ¬⁄ Á∑§‚ ¬Á⁄⁄ˇÊáÊ ªÒ‚ ∑§Ê ©¬ÿÙª Á∑§ÿÊ ¡ÊÃÊ „Ò?

(A) ∑§Ê’¸Ÿ «UÊß•ÊÚÄ‚Êß«U (B) •Êª¸Ÿ (C) „Êß«˛Ù¡Ÿ

(D) •ÊÚÄ‚Ë¡Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

55. Three phase alternator are invariably connected in star to :

(A) Increase frequency (B) Increase terminal voltage

(C) Reduce size of stator conductor (D) Reduce magnetic loss

(E) Question not attempted

ÃËŸ »§¡ •À≈⁄Ÿ≈⁄ „◊‡ÊÊ S≈Ê⁄ ◊¥ ¡È«∏ ⁄„Ã „Ò¥ —
(A) •ÊflÎÁûÊ ’…U∏ÊŸ ∑§ Á‹∞ (B) ≈Á◊¸Ÿ‹ flÙÀ≈¡ ’…U∏ÊŸ ∑§ Á‹∞
(C) S≈≈⁄ ∑¢§«UÄ≈⁄ ∑§Ê •Ê∑§Ê⁄ ∑§◊ ∑§⁄Ÿ ∑§ Á‹∞ (D) øÈ¢’∑§Ëÿ ŸÈ∑§‚ÊŸ ∑§◊ ∑§⁄Ÿ ∑§ Á‹∞
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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56. A dc shunt motor is driving a constant torque load with rated excitation.  If the field current is halved, then the
speed of the motor  __________.

(A) becomes slightly less than doubled (B) becomes half

(C) becomes slightly more than half (D) becomes double

(E) Question not attempted

∞∑§ dc ‡Ê¢≈ ◊Ù≈⁄ ⁄≈«U ©ûÊ¡ŸÊ ∑§ ‚ÊÕ ∞∑§ ÁŸ⁄¢Ã⁄ ≈ÊÚ∑¸§ ‹Ù«U ø‹Ê ⁄„Ë „Ò– ÿÁº $»§ËÀ«U ∑§⁄¢≈ •ÊœÊ ∑§⁄ ÁºÿÊ ¡ÊÃÊ „Ò, ÃÙ ◊Ù≈⁄
∑§Ë ªÁÃ __________–

(A) ºÙªÈŸÊ ‚ ÕÙ«∏Ê ∑§◊ „Ù ¡ÊÃÊ „Ò (B) •ÊœË „Ù ¡ÊÃË „Ò

(C) •Êœ ‚ ÕÙ«∏Ê ÖÿÊºÊ „Ù ¡ÊÃÊ „Ò (D) ºÙªÈŸÊ „Ù ¡ÊÃÊ „Ò

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

57. An alternating voltage is given by v=20 sin (157t), the frequency of the alternating voltage is :

∞∑§ ¬˝àÿÊflÃË¸ flÙÀ≈¡, v=20 sin (157t), ÁºÿÊ ªÿÊ „Ò, ¬˝àÿÊflÃË¸ flÙÀ≈¡ ∑§Ë •ÊflÎÁûÊ „Ò —
(A) 75 Hz (B) 50 Hz (C) 25 Hz

(D) 100 Hz (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

58. Copper was found in the excavated areas in Rajasthan.  Out of these, Copper supply to the Harappans was
provided by __________.

Choose the most appropriate answer from the options given below.

(A) Bagor in Bhilwara (B) Ganeshwar in Sikar (C) Ahar in Udaipur

(D) Banas in Rajasmand (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ©àπÁŸÃ ˇÊòÊÙ¥ ◊¥ ÃÊ¢’Ê ¬ÊÿÊ ªÿÊ ÕÊ–  ßŸ◊¥ ‚ „«∏å¬ÊflÊÁ‚ÿÙ¥ ∑§Ù ÃÊ¢’ ∑§Ë •Ê¬ÍÁÃ¸ __________ mÊ⁄UÊ ∑§Ë ªß¸ ÕË–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ÷Ë‹flÊ«∏Ê ◊¥ ’ÊªÙ⁄ (B) ‚Ë∑§⁄ ◊¥ ªáÊ‡fl⁄ (C) ©ºÿ¬È⁄ ◊¥ •Ê„«∏

(D) ⁄UÊ¡‚◊¢º ◊¥ ’ŸÊ‚ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

59. Mho relay is usually employed for the protection of :

(A) Transformer (B) Short transmission lines (C) Medium transmission lines

(D) Long transmission lines (E) Question not attempted

∞◊∞ø•Ê Á⁄‹ ∑§Ê ©¬ÿÙª •Ê◊Ãı⁄ ¬⁄ ÁŸêŸÁ‹ÁπÃ ∑§Ë ‚È⁄ˇÊÊ ∑§ Á‹∞ Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) ≈˛Ê¢‚»§ÊÚ◊¸⁄ (B) ¿UÙ≈Ë ≈˛UÊ¥‚Á◊‡ÊŸ ‹ÊßŸ¥ (C) ◊äÿ◊ ≈˛UÊ¥‚Á◊‡ÊŸ ‹ÊßŸ¥

(D) ‹¢’Ë ≈˛UÊ¥‚Á◊‡ÊŸ ‹ÊßŸ¥ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

60. Which art of Pratapgarh of Rajasthan is famous, in which intricate gold work is done between the glass holds ?

(A) Patwa (B) Aari tari (C) Thewa art

(D) Mollela (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§ ¬˝ÃÊ¬ª…U∏ ∑§Ë ∑§ıŸ ‚Ë ∑§‹Ê ¬˝Á‚h „Ò, Á¡‚◊¥ ∑§Ê°ø ∑§ ’Ëø ◊¥ ‚ÙŸ ∑§Ê ’Ê⁄Ë∑§ ∑§Ê◊ Á∑§ÿÊ ¡ÊÃÊ „Ò?

(A) ¬≈flÊ (B) •Ê⁄Ë ÃÊ⁄Ë (C) ÕflÊ ∑§‹Ê

(D) ◊Ù‹‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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61. Due to which of the following reason, does Rajasthan receive less rainfall ?

Choose the most appropriate answer from the following options :

(A) Due to their terrestrial origin these winds remain dry.

(B) Monsoon forests are found here.

(C) Due to change in the temperature, the pressure also keeps sliding.

(D) The Aravali ranges are in a parallel position to the monsoon winds.

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ∑§Ê⁄áÊ ‚ ⁄UÊ¡SÕÊŸ ◊¥ ∑§◊ fl·Ê¸ „ÙÃË „Ò?

ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) SÕ‹Ëÿ ©à¬ÁûÊ ∑§ ∑§Ê⁄áÊ ÿ „flÊ∞° ‡ÊÈc∑§ ⁄„ÃË „Ò¥–

(B) ÿ„Ê° ◊ÊŸ‚ÍŸË flŸ ¬Ê∞ ¡ÊÃ „Ò¥–

(C) ÃÊ¬◊ÊŸ ◊¥ ¬Á⁄flÃ¸Ÿ ∑§ ∑§Ê⁄áÊ flÊÿÈºÊ’ ÷Ë ÉÊ≈ÃÊ-’…U∏ÃÊ ⁄„ÃÊ „Ò–

(D) •⁄UÊfl‹Ë oÎ¥˝π‹Ê∞° ◊ÊŸ‚ÍŸ „flÊ•Ê¥ ∑§ ‚◊ÊŸÊ¥Ã⁄U ÁSÕÁÃ ◊¥ „Ò¥–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

62. An EHV transmission lines, bundled conductors result to :

(A) Increase resistance (B) Reduce capacitance (C) Increase inductance

(D) Increase capacitance (E) Question not attempted

EHV ≈˛Ê¢‚Á◊‡ÊŸ ‹ÊßŸ, ’¢«U‹ ∑¢§«UÄ≈⁄ ∑§Ê ¬Á⁄áÊÊ◊ „Ò —

(A) ¬˝ÁÃ⁄Ùœ ’…U∏Ê∞° (B) œÊÁ⁄ÃÊ ∑§◊ ∑§⁄¥ (C) ¬˝⁄∑§àfl ’…U∏Ê∞°

(D) œÊÁ⁄ÃÊ ’…U∏Ê∞° (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

63. Junction breakdown of a PN junction diode occurs :

(A) due to switching (B) with forward bias (C) with reverse bias

(D) because of improper design (E) Question not attempted

¬Ë∞Ÿ ¡¢Ä‡ÊŸ «UÊÿÙ«U ∑§Ê ¡¢Ä‡ÊŸ ’˝∑§«UÊ©Ÿ „ÙÃÊ „Ò —

(A) ÁSflÁø¢ª ∑§ ∑§Ê⁄áÊ (B) »§ÊÚ⁄fl«¸U ’Êÿ‚ ∑§ ‚ÊÕ (C) Á⁄fl‚¸ ’Êÿ‚ ∑§ ‚ÊÕ

(D) •ŸÈÁøÃ Á«U¡ÊßŸ ∑§ ∑§Ê⁄áÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

64. A 250 V lamp has a total flux of 3000 lumens and take a current of 0.8 A from 250 V mains, it’s Luminous efficiency
is __________.

(A) 240 Lumens per watt (B) 12 Lumens per watt (C) 9.6 Lumens per watt

(D) 15 Lumens per watt (E) Question not attempted

∞∑§ wzÆ V ‹Ò¥¬ ∑§Ê ∑È§‹ ç‹Ä‚ xÆÆÆ ‹È◊Ÿ „Ò •ÊÒ⁄ ÿ„ wzÆ V ◊Ÿ ‚ Æ.} A ∑§Ê ∑§⁄¢≈ ‹ÃÊ „Ò, ß‚∑§Ë ø◊∑§ºÊ⁄ ºˇÊÃÊ
__________ „ÒÒ–

(A) wyÆ ‹È◊Ÿ ¬˝ÁÃ flÊ≈ (B) vw ‹È◊Ÿ ¬˝ÁÃ flÊ≈ (C) ~.{ ‹È◊Ÿ ¬˝ÁÃ flÊ≈

(D) vz ‹È◊Ÿ ¬˝ÁÃ flÊ≈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

65. The value of total collector current (I
c
) in CB (common base) configuration is :

CB (∑§ÊÚ◊Ÿ ’‚) ∑§ÊÚÁã$»§ª⁄‡ÊŸ ◊¥ ∑È§‹ ∑§‹Ä≈⁄ ∑§⁄¢≈ (I
c
) ∑§Ê ◊ÊŸ „Ò —

(A) Ι
c
=αΙ

CO
−Ι

E
(B) Ι

c
=αΙ

E
+Ι

CO
(C) Ι

c
=αΙ

E

(D) Ι
c
=βΙ

E
(E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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66. Which of the following is correct in context of Rajasthan state Human Rights Commission ?

(A) One of its Chairmen is a retired judge of Supreme Court of India.

(B) It was constituted on 18-01-1999 by notification issued by Govt. of Rajasthan.

(C) The commission became functional from October 2000.

(D) Rajasthan Human Rights commission has one chairperson and 3 members.

(E) Question not attempted

⁄UÊ¡SÕÊŸ ⁄UÊÖÿ ◊ÊŸflÊÁœ∑§Ê⁄ •ÊÿÙª ∑§ ‚¢º÷¸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‚„Ë „Ò?

(A) ß‚∑§ ∞∑§ •äÿˇÊ ÷Ê⁄Ã ∑§ ‚flÙ¸ìÊ ãÿÊÿÊ‹ÿ ∑§ ‚flÊÁŸflÎûÊ ãÿÊÿÊœË‡Ê „Ò¥–

(B) ß‚∑§Ê ª∆Ÿ v}-Æv-v~~~ ∑§Ù ⁄UÊ¡SÕÊŸ ‚⁄∑§Ê⁄ mÊ⁄UÊ ¡Ê⁄Ë •Áœ‚ÍøŸÊ mÊ⁄UÊ Á∑§ÿÊ ªÿÊ ÕÊ–

(C) •ÊÿÙª •Ä≈Í’⁄ wÆÆÆ ‚ ∑§ÊÿÊ¸à◊∑§ „È•Ê–

(D) ⁄UÊ¡SÕÊŸ ◊ÊŸflÊÁœ∑§Ê⁄ •ÊÿÙª ◊¥ ∞∑§ •äÿˇÊ •ÊÒ⁄ x ‚ºSÿ „Ò¥–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

67. The construction of city forts from the hills to the Planes was a period of __________.

Choose the most appropriate answer from the options given below.

(A) Transition under Mughal influence (B) Architectural advancement

(C) Modernisation (D) Cordial relations of Rajputs and Mughals

(E) Question not attempted

¬„ÊÁ«∏ÿÙ¥ ‚ ‹∑§⁄ ◊ÒºÊŸÙ¥ Ã∑§ ‡Ê„⁄ ∑§ Á∑§‹Ù¥ ∑§Ê ÁŸ◊Ê¸áÊ __________ ∑§Ë •flÁœ ÕË–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ◊Èª‹ ¬˝÷Êfl ∑§ Ã„Ã ‚¢∑˝§◊áÊ (B) flÊSÃÈ∑§‹Ê ◊¥ ©ÛÊÁÃ

(C) •ÊœÈÁŸ∑§Ë∑§⁄áÊ (D) ⁄UÊ¡¬ÍÃÙ¥ •ÊÒ⁄ ◊Èª‹Ù¥ ∑§ ’Ëø ‚ı„Êº˝¸¬ÍáÊ¸ ‚¢’¢œ

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

68. In an extra high voltage overhead transmission line earth wire is provided to protect the line against :

(A) Ensure fault voltages (B) Switching surge (C) Lightening surge

(D) Corona effect (E) Question not attempted

∞∑§ •ÁÃÁ⁄ÄÃ ©ìÊ flÙÀ≈¡ •Êfl⁄„«U ≈˛Ê¢‚Á◊‡ÊŸ ‹ÊßŸ ◊¥ ‹ÊßŸ ∑§Ù ’øÊŸ ∑§ Á‹∞ •Õ¸ flÊÿ⁄ ¬˝ºÊŸ Á∑§ÿÊ ¡ÊÃÊ „Ò —

(A) »§ÊÚÀ≈ flÙÀ≈¡ ‚ÈÁŸÁ‡øÃ ∑§⁄¥ (B) ÁSflÁø¢ª ‚¡¸ (C) ‹Êß≈ÁŸ¢ª ‚¡¸

(D) ∑§Ù⁄ÙŸÊ ¬˝÷Êfl (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

69. When the relative permeability of a material is much greater than one, it is called as :

(A) Super conducting material (B) Diamagnetic material (C) Paramagnetic material

(D) Ferromagnetic material (E) Question not attempted

¡’ Á∑§‚Ë ¬ºÊÕ¸ ∑§Ë ‚Ê¬ˇÊ ¬Ê⁄ªêÿÃÊ ∞∑§ ‚ ’„ÈÃ •Áœ∑§ „ÙÃË „Ò, ÃÙ ©‚ ∑§„Ê ¡ÊÃÊ „Ò —

(A) •ÁÃøÊ‹∑§ ¬ºÊÕ¸ (B) ¬˝ÁÃøÈ¢’∑§Ëÿ ¬ºÊÕ¸ (C) •ŸÈøÈ¢’∑§Ëÿ ¬ºÊÕ¸

(D) ‹ı„øÈ¢’∑§Ëÿ ¬ºÊÕ¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

70. In parallel resonance, the phase angle between applied voltage and line current is :

‚◊ÊŸÊ¢Ã⁄ •ŸÈŸÊº ◊¥, ‹ÊªÍ flÙÀ≈¡ •ÊÒ⁄ ‹ÊßŸ œÊ⁄UÊ ∑§ ’Ëø ∑§Ê ø⁄áÊ ∑§ÙáÊ „Ò —

(A) 458 (B) Zero/ ‡ÊÈãÿ (C) 908

(D) 1808 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ



l  F-167 43 P.T.O.

71. Which of the following Act provides for the creation of a state Information Commission ?

(A) Human Rights Act, 2006 (B) 74th Amendment Act, 1992

(C) 73rd Amendment Act, 1992 (D) Right to Information Act, 2005

(E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê •ÁœÁŸÿ◊ ⁄UÊÖÿ ‚ÍøŸÊ •ÊÿÙª ∑§ ª∆Ÿ ∑§Ê ¬˝ÊflœÊŸ ∑§⁄ÃÊ „Ò?

(A) ◊ÊŸflÊÁœ∑§Ê⁄ •ÁœÁŸÿ◊, wÆÆ{ (B) |yflÊ¢ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w

(C) |xflÊ¢ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w (D) ‚ÍøŸÊ ∑§Ê •Áœ∑§Ê⁄ •ÁœÁŸÿ◊, wÆÆz

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

72. The positive sequence component of voltage at the point of fault becomes zero, when it is a __________.

(A) Line to ground fault (B) Three phase fault (C) Line to line fault

(D) LLG fault (E) Question not attempted

ºÙ· ∑§ Á’¢ºÈ ¬⁄ flÙÀ≈¡ ∑§Ê ‚∑§Ê⁄UÊà◊∑§ •ŸÈ∑˝§◊ ÉÊ≈∑§ ‡ÊÍãÿ „Ù ¡ÊÃÊ „Ò, ¡’ ÿ„ __________ „ÙÃÊ „Ò–

(A) ‹ÊßŸ ‚ ª˝Ê©¢«U ºÙ· (B) ÃËŸ ø⁄áÊ ºÙ· (C) ‹ÊßŸ ‚ ‹ÊßŸ ºÙ·

(D) ∞‹∞‹¡Ë ºÙ· (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

73. Which of the following is a multipurpose (hydroelectric, irrigation) dam in Rajasthan ?

(A) Man Sarowar Dam (B) Juna Malari Dam (C) Kalakh Sagar Dam

(D) Mahi Bajaj Sagar Dam (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ’„È©Œ˜Œ‡ÊËÿ (¡‹ÁfllÈÃ, Á‚¢øÊß¸) ’Ê¢œ „Ò?
(A) ◊ÊŸ ‚⁄Ùfl⁄ ’Ê¢œ (B) ¡ÍŸÊ ◊‹Ê⁄Ë ’Ê¢œ (C) ∑§Ê‹π ‚Êª⁄ ’Ê¢œ
(D) ◊Ê„Ë ’¡Ê¡ ‚Êª⁄ ’Ê¢œ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

74. A 50 V range Voltmeter has a sensitivity of 20 kΩ/V.  The total resistance of the voltmeter is __________.

zÆ V ⁄¥¡ ∑§ flÙÀ≈◊Ë≈⁄ ∑§Ë ‚Èª˝ÊÁ„ÃÊ 20 kΩ/V „Ò–  flÙÀ≈◊Ë≈⁄ ∑§Ê ∑È§‹ ¬˝ÁÃ⁄Ùœ __________ „Ò–
(A) 1 MΩ (B) 2.5 kΩ (C) 0.4 kΩ

(D) 10 kΩ (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

75. All Voltmeter except __________ voltmeters are operated by the passage of current .

(A) Permanent magnet moving coil (B) Moving Iron (C) Electrostatic

(D) Dynamometer (E) Question not attempted

__________ flÙÀ≈◊Ë≈⁄ ∑§Ù ¿UÙ«∏∑§⁄ ‚÷Ë flÙÀ≈◊Ë≈⁄ œÊ⁄UÊ ¬˝flÊÁ„Ã „Ù∑§⁄ ‚¢øÊÁ‹Ã „ÙÃ „Ò¥–

(A) SÕÊÿË øÈ¢’∑§ ø‹ ∑È¥§«U‹Ë Á⁄‹ (B) ø‹ ‹ı„ ÿ¢òÊ (C) ÁSÕ⁄ flÒlÈÃ

(D) «UÊÿŸ◊Ù◊Ë≈⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

76. Which of the following soil type is found in the greater part of Rajasthan comprising of Jodhpur, Bikaner, Shekhawati
and Ajmer ?

Choose the most appropriate answer from the options  given below :

(A) Sandy (B) Bhura (C) Chicknot

(D) Mala (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ë Á◊^Ë ⁄UÊ¡SÕÊŸ ∑§ •Áœ∑§Ê¢‡Ê ÷Êª ◊¥ ¬Êß¸ ¡ÊÃË „Ò Á¡‚◊¥ ¡Ùœ¬È⁄, ’Ë∑§ÊŸ⁄, ‡ÊπÊflÊ≈Ë •ÊÒ⁄ •¡◊⁄
‡ÊÊÁ◊‹ „Ò¥?

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ⁄ÃË‹Ë (B) ÷Í⁄UÊ (C) Áø∑§ŸÊÚ≈

(D) ◊Ê‹Ê (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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77. For circuit breaker the rated breaking capacity is equal to :

(A) Twice the value of rated current and rated voltage

(B) The product of breaking current and fault voltage

(C) The product of rated breaking current and rated voltage

(D) The product of rated symmetrical breaking current and rated voltage

(E) Question not attempted

‚Á∑¸§≈ ’˝∑§⁄ ∑§ Á‹∞ ⁄≈«U ’˝Á∑¢§ª ˇÊ◊ÃÊ ’⁄UÊ’⁄ „ÙÃË „Ò —

(A) ⁄≈«U ∑§⁄¢≈ •ÊÒ⁄ ⁄≈«U flÙÀ≈¡ ∑§ ◊ÊŸ ∑§Ê ºÙªÈŸÊ

(B) ’˝Á∑¢§ª ∑§⁄¢≈ •ÊÒ⁄ »§ÊÚÀ≈ flÙÀ≈¡ ∑§Ê ªÈáÊŸ»§‹

(C) ⁄≈«U ’˝Á∑¢§ª ∑§⁄¢≈ •ÊÒ⁄ ⁄≈«U flÙÀ≈¡ ∑§Ê ªÈáÊŸ»§‹

(D) ⁄≈«U ‚◊Á◊Ã ’˝Á∑¢§ª ∑§⁄¢≈ •ÊÒ⁄ ⁄≈«U flÙÀ≈¡ ∑§Ê ªÈáÊŸ»§‹

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

78. If a Panchayat is dissolved, elections are to be held within __________ from the date of dissolution.

(A) 6 months (B) 3 months (C) 5 months

(D) 1 year (E) Question not attempted

ÿÁº ∑§Ùß¸ ¬¢øÊÿÃ ÷¢ª „Ù ¡ÊÃË „Ò, ÃÙ øÈŸÊfl ©‚∑§ ÷¢ª „ÙŸ ∑§ __________ ∑§ ÷ËÃ⁄ „ÙŸ øÊÁ„∞–

(A) { ◊„ËŸ (B) x ◊„ËŸ (C) z ◊„ËŸ

(D) v fl·¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

79. A synchronous generator is feeding power to infinite bus bars at unity power factor (pf).  Its excitation is now
increased, it will feed :

(A) Less power at unity power factor (pf)

(B) The same power but at leading power factor (pf)

(C) The same power but at lagging power factor (pf)

(D) More power at unity power factor (pf)

(E) Question not attempted

∞∑§ Á‚¢∑˝§ÙŸ‚ ¡Ÿ⁄≈⁄ •Ÿ¢Ã ’‚ ’Ê⁄ ∑§Ù ÿÍÁŸ≈Ë ¬Êfl⁄ »Ò§Ä≈⁄ (¬Ë∞»§) ¬⁄ Á’¡‹Ë ∑§Ë •Ê¬ÍÁÃ¸ ∑§⁄U ⁄„Ê „Ò–  ß‚∑§Ê ©ûÊ¡Ÿ •’
’…U∏Ê ÁºÿÊ ªÿÊ „Ò, ÃÊ ÿ„ •Ê¬ÍÁÃ¸ ∑§⁄UªÊ —
(A) ÿÍÁŸ≈UË ¬Ë∞»§ ¬⁄U ∑§◊ ¬Êfl⁄U
(B) fl„Ë ¬Êfl⁄ ‹Á∑§Ÿ •ª˝ªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ (pf) ¬⁄U
(C) fl„Ë ¬Êfl⁄ ‹Á∑§Ÿ ¬cøªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ (pf) ¬⁄U
(D) ∞∑§∑§ ‡ÊÁÄÃ ªÈáÊ∑§ (pf) ¬⁄U •Áœ∑§ ¬Êfl⁄U
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

80. Which of the following has a uniform scale ?

(A) Eddy current damping (B) Spring control (C) Gravity control

(D) Air damping (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚∑§Ê ¬Ò◊ÊŸÊ ∞∑§‚◊ÊŸ „Ò?

(A) ÷¥fl⁄U œÊ⁄UÊ •fl◊¥ŒŸ (B) ∑§◊ÊŸË ÁŸÿ¢òÊáÊ (C) ªÈM§àfl-ÁŸÿ¢òÊáÊ

(D) flÊÿÈ •fl◊¢ºŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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81. All electrical appliances are connected in parallel because it :

(A) make the operation of appliances independent of each other.
(B) is a simple circuit.

(C) draws less current.
(D) results in reduce power loss.

(E) Question not attempted

‚÷Ë ÁfllÈÃ ©¬∑§⁄áÊ ‚◊ÊŸÊ¢Ã⁄ ◊¥ ¡È«∏ „ÙÃ „Ò¥ ÄÿÙ¥Á∑§ ÿ„ —
(A) ©¬∑§⁄áÊÙ¥ ∑§Ê ‚¢øÊ‹Ÿ ∞∑§ ºÍ‚⁄ ‚ SflÃ¢òÊ „ÙÃÊ „Ò–
(B) ∞∑§ ‚⁄‹ ‚Á∑¸§≈ „Ò–
(C) ∑§◊ œÊ⁄UÊ πË¥øÃÊ „Ò–
(D) Á’¡‹Ë ∑§Ë „ÊÁŸ ∑§◊ „ÙÃË „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

82. In which of the following states does River Sabi enter after exit from Rajasthan ?
(A) Gujarat (B) Punjab (C) Delhi

(D) Haryana (E) Question not attempted

⁄UÊ¡SÕÊŸ ‚ ÁŸ∑§‹Ÿ ∑§ ’Êº ‚Ê’Ë ŸºË ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ⁄UÊÖÿ ◊¥ ¬˝fl‡Ê ∑§⁄ÃË „Ò?
(A) ªÈ¡⁄UÊÃ (B) ¬¢¡Ê’ (C) ÁºÀ‹Ë
(D) „Á⁄ÿÊáÊÊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

83. Which of the following type of forest has predominance in Rajasthan ?
Choose the most appropriate answer from the options  given below :

(A) Salar Forests (B) Dhokra Forests (C) Babool Forests

(D) Khair Forests (E) Question not attempted

⁄UÊ¡SÕÊŸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ¬˝∑§Ê⁄ ∑§ flŸÙ¥ ∑§Ë ¬˝œÊŸÃÊ „Ò?
ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ‚Ê‹Ê⁄ flŸ (B) …UÙ∑§⁄ flŸ (C) ’’Í‹ flŸ
(D) πÒ⁄ flŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

84. Time constant for an R-L series circuit is given by :

R-L üÊÎ¢π‹Ê ‚Á∑¸§≈ ∑§ Á‹∞ ‚◊ÿ ÁSÕ⁄UÊ¢∑§ ß‚ ¬˝∑§Ê⁄ „ÙªÊ —

(A)
L

R
(B)

R

L
(C)

1

RL

(D) RL (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

85. Government of Rajasthan launched forestry awards to promote development and conservation of forest programs.
Identify the Award.

Choose the most appropriate answer from the options  given below :
(A) Purnima Devi Berman Award (B) Vaniki Pandit Award

(C) Aranya Sanskriti Award (D) Sustainable use of Biological Resources Award

(E) Question not attempted

⁄UÊ¡SÕÊŸ ‚⁄∑§Ê⁄ Ÿ flŸ ∑§Êÿ¸∑˝§◊Ù¥ ∑§ Áfl∑§Ê‚ •ÊÒ⁄ ‚¢⁄ˇÊáÊ ∑§Ù ’…U∏ÊflÊ ºŸ ∑§ Á‹∞ flÊÁŸ∑§Ë ¬È⁄S∑§Ê⁄ ‡ÊÈM§ Á∑§∞–  ¬È⁄S∑§Ê⁄ ∑§Ë
¬„øÊŸ ∑§⁄¥–
ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —
(A) ¬ÍÁáÊ¸◊Ê ºflË ’◊¸Ÿ ¬È⁄S∑§Ê⁄ (B) flÊÁŸ∑§Ë ¬¢Á«UÃ ¬È⁄S∑§Ê⁄
(C) •⁄áÿ ‚¢S∑Î§ÁÃ ¬È⁄S∑§Ê⁄ (D) ¡ÒÁfl∑§ ‚¢‚ÊœŸÙ¥ ∑§ ‚ÃÃ ©¬ÿÙª ¬È⁄S∑§Ê⁄
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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86. Which part was introduced to the constitution of India through 74th amendment Act, 1992 ?

(A) Part IX B (B) Part IX A (C) Part X

(D) Part XII (E) Question not attempted

|yfl¥ ‚¢‡ÊÙœŸ •ÁœÁŸÿ◊, v~~w ∑§ ◊Êäÿ◊ ‚ ÷Ê⁄Ã ∑§ ‚¢ÁflœÊŸ ◊¥ ∑§ıŸ ‚Ê ÷Êª ‡ÊÊÁ◊‹ Á∑§ÿÊ ªÿÊ?

(A) ÷Êª IX B (B) ÷Êª IX A (C) ÷Êª X

(D) ÷Êª XII (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

87.  __________ breed constitute 45% approximately of the total sheep population in Rajasthan.

Choose the most appropriate answer from the options  given below :

(A) Maalpuri (B) Jaisalmeri (C) Magra

(D) Marwari (E) Question not attempted

__________ ŸS‹ ⁄UÊ¡SÕÊŸ ◊¥ ∑È§‹ ÷«∏ •Ê’ÊºË ∑§Ê ‹ª÷ª yz% Á„S‚Ê ’ŸÊÃË „Ò–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ◊Ê‹¬È⁄Ë (B) ¡Ò‚‹◊⁄Ë (C) ◊ª⁄UÊ

(D) ◊Ê⁄flÊ«∏Ë (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

88. One coulomb of charge is equal to the charge on __________ electrons.

∞∑§ ∑Í§‹ÊÚ◊ •Êfl‡Ê __________ ß‹Ä≈˛ÊÚŸÙ¥ ¬⁄ •Êfl‡Ê ∑§ ’⁄UÊ’⁄ „ÙÃÊ „Ò–

(A) 0.625×1016 (B) 625×1016 (C) 6.25×1016

(D) 62.5×1016 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

89. Bundika Gothra Dam of Bundi region nearby to Hindoli city is built on which of the following rivers ?

(A) Bilas river (B) Telera river (C) Mej river

(D) Banas river (E) Question not attempted

Á„¢«UÙ‹Ë ‡Ê„⁄ ∑§ ÁŸ∑§≈ ’Í¢ºË ˇÊòÊ ∑§ ’È¢Áº∑§Ê ªÙ∆⁄UÊ ’Ê¢œ ∑§Ù Á∑§‚ ŸºË ¬⁄ ’ŸÊÿÊ ªÿÊ „Ò?

(A) Á’‹Ê‚ ŸºË (B) Ã‹⁄UÊ ŸºË (C) ◊¡ ŸºË

(D) ’ŸÊ‚ ŸºË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

90. Nuclear power station is generally used for which type of load ?

(A) Any types of load (B) Peak load (C) Base load

(D) Average load (E) Question not attempted

¬⁄◊ÊáÊÈ ™§¡Ê¸ S≈‡ÊŸ ∑§Ê ©¬ÿÙª •Ê◊Ãı⁄ ¬⁄ Á∑§‚ ¬˝∑§Ê⁄ ∑§ Á‹∞ Á∑§ÿÊ ¡ÊÃÊ „Ò?

(A) Á∑§‚Ë ÷Ë ¬˝∑§Ê⁄ ∑§Ê ‹Ù«U (B) ¬Ë∑§ ‹Ù«U (C) ’‚ ‹Ù«U

(D) •ÊÒ‚Ã ‹Ù«U (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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91. In the given circuit, the average power dissipated in 6Ω resistor is :

Áº∞ ª∞ ¬Á⁄¬Õ ◊¥, {Ω ¬˝ÁÃ⁄Ùœ∑§ ◊¥ •¬√ÿÁÿÃ •ÊÒ‚Ã ‡ÊÁÄÃ „Ò —

(A) 4 Watt (B) 12 Watt (C) 14 Watt

(D) 16 Watt (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

92. The applied voltage and current in an a.c. circuit are given by :

v=240 sin (ωt+π/6 ) volts

i=20 sin (ωt−π/6 ) Amperes

The average power dissipated in the circuit is :

∞∑§ a.c. ‚Á∑¸§≈ ◊¥ flÙÀ≈¡ •ÊÒ⁄ ∑§⁄¢≈ ß‚ ¬˝∑§Ê⁄ Áº∞ ª∞ „Ò¥ —

v=240 sin (ωt+π/6 ) volts

i=20 sin (ωt−π/6 ) Amperes

¬Á⁄¬Õ ◊¥ √ÿÿ „Èß¸ •ÊÒ‚Ã ‡ÊÁÄÃ „Ò —
(A) 800 Watt (B) 120 Watt (C) 2400 Watt

(D) 4800 Watt (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

93. What ranges of voltage require in butt welding ?

(A) 22 to 30 Volt (B) 2 to 8 Volt (C) 8 to 15 Volt

(D) 15 to 22 Volt (E) Question not attempted

’≈ flÁÀ«¢Uª ◊¥ flÙÀ≈¡ ∑§Ë Á∑§‚ ⁄¥¡ ∑§Ë •Êfl‡ÿ∑§ÃÊ „ÙÃË „Ò?

(A) ww ‚ xÆ flÙÀ≈ (B) w ‚ } flÙÀ≈ (C) } ‚ vz flÙÀ≈

(D) vz ‚ ww flÙÀ≈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

94. Out of the following, the most accurate measurement of unknown resistance will be given by __________.

(A) Wheat stone bridge (B) Potentiometer (C) Ohm meter

(D) Voltmeter and ammeter (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚, •ôÊÊÃ ¬˝ÁÃ⁄Ùœ ∑§Ê ‚’‚ ‚≈Ë∑§ ◊Ê¬ __________ mÊ⁄UÊ ÁºÿÊ ¡Ê∞ªÊ–
(A) √„Ë≈ S≈ÙŸ ‚ÃÈ (B) Áfl÷fl◊Ê¬Ë (C) •Ê◊ ◊Ê¬Ë
(D) flÊÀ≈◊Ë≈⁄ •ÊÒ⁄ ∞◊Ë≈⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

95. Which of the following city is not directly benefitted by the proposed Bhatinda-Ajmer Green field expressway ?

(A) Churu (B) Hanumangarh (C) Nagaur

(D) Alwar (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ‚Ê ‡Ê„⁄U ¬˝SÃÊÁflÃ ÷Á≈U¥«UÊ-•Ê¡◊⁄U ª˝ËŸ »§ËÀ«U ∞Ä‚¬˝‚fl ‚ ‚Ëœ ‹Ê÷ÊÁãflÃ Ÿ„Ë¥ „ÊªÊ?

(A) øÍM§ (B) „ŸÈ◊ÊŸª…U∏ (C) ŸÊªı⁄

(D) •‹fl⁄ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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96. For an RLC series circuit, current at series resonance is __________.

(A) Maximum at lagging power factor (B) Maximum at unity power factor

(C) Minimum at unity power factor (D) Maximum at leading power factor

(E) Question not attempted

RLC üÊáÊË ¬Á⁄¬Õ ∑§ Á‹∞, üÊáÊË •ŸÈŸÊº ¬⁄ œÊ⁄UÊ __________ „ÙÃË „Ò–
(A) ¬pªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ ¬⁄ •Áœ∑§Ã◊ (B) ∞∑§∑§ ‡ÊÁÄÃ ªÈáÊ∑§ ¬⁄U •Áœ∑§Ã◊
(C) ∞∑§∑§ ‡ÊÁÄÃ ªÈáÊ∑§ ¬⁄U ãÿÍŸÃ◊ (D) •ª˝ªÊ◊Ë ‡ÊÁÄÃ ªÈáÊ∑§ ¬⁄U •Áœ∑§Ã◊
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

97. The percentage voltage regulation of an alternator is defined as __________.

Where E=induced voltage,  V=terminal voltage

Á∑§‚Ë •À≈⁄Ÿ≈⁄ ∑§ ¬˝ÁÃ‡ÊÃ flÙÀ≈¡ ÁflÁŸÿ◊Ÿ ∑§Ù __________ ∑§ M§¬ ◊¥ ¬Á⁄÷ÊÁ·Ã Á∑§ÿÊ ¡ÊÃÊ „Ò–

¡„Ê° E=¬˝Á⁄Ã flÙÀ≈¡, V=≈Á◊¸Ÿ‹ flÙÀ≈¡

(A)
E  V

  100
V

−
× (B)

V E
  100

V

−
× (C)

E V
  100

E

−
×

(D)
V
  100

E
× (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

98. The relative permeability of a Ferromagnetic material is usually :

(A) Slightly higher than unity

(B) Unity

(C) Slightly less than unity

(D) Very high (from several hundreds to many thousands)

(E) Question not attempted

»§⁄UÊ◊ÒªAÁ≈U∑§ ¬ºÊÕ¸ ∑§Ë ‚Ê¬ˇÊ ¬Ê⁄ªêÿÃÊ •Ê◊Ãı⁄ ¬⁄ „ÙÃË „Ò —

(A) ÿÍÁŸ≈Ë ‚ ÕÙ«∏Ê •Áœ∑§

(B) ÿÍÁŸ≈Ë

(C) ÿÍÁŸ≈Ë ‚ ÕÙ«∏Ê ∑§◊

(D) ’„ÈÃ •Áœ∑§ (∑§ß¸ ‚Ò∑§«∏Ù¥ ‚ ∑§ß¸ „¡Ê⁄Ù¥ Ã∑§)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

99. Two synchronous generators cannot be connected in parallel if :

(A) Their frequency is same (B) Their power ratings are different

(C) Their voltage ratings are different (D) Their current ratings are different

(E) Question not attempted

ºÙ ÃÈÀÿ∑§ÊÁ‹∑§ ¡Ÿ⁄≈⁄ ‚◊ÊŸÊ¢Ã⁄ ◊¥ Ÿ„Ë¥ ¡Ù«∏ ¡Ê ‚∑§Ã ÿÁº —

(A) ©Ÿ∑§Ë •ÊflÎÁûÊ ‚◊ÊŸ „Ù (B) ©Ÿ∑§Ë ‡ÊÁÄÃ ⁄Á≈¢ª •‹ª-•‹ª „Ù

(C) ©Ÿ∑§Ë flÙÀ≈¡ ⁄Á≈¢ª •‹ª-•‹ª „Ù (D) ©Ÿ∑§Ë œÊ⁄UÊ ⁄Á≈¢ª •‹ª-•‹ª „Ù

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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100. Who among the following jagirdar of Bijolia introduced ‘Talwar Bandhai tax’ ?

(A) Gangaram Dhakar (B) Kishan Singh (C) Prithvi Singh

(D) Hamid Hussain (E) Question not attempted

Á’¡ıÁ‹ÿÊ ∑§ ÁŸêŸÁ‹ÁπÃ ¡ÊªË⁄ºÊ⁄ ◊¥ ‚ Á∑§‚Ÿ “Ã‹flÊ⁄ ’¢œÊß¸ ∑§⁄” ‹ÊªÍ Á∑§ÿÊ?
(A) ª¢ªÊ⁄UÊ◊ œÊ∑§«∏ (B) Á∑§‡ÊŸ Á‚¢„ (C) ¬ÎâflË Á‚¢„
(D) „ÊÁ◊º „È‚ÒŸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

101. The Watt–hour meter is __________ instrument.

(A) a transfer (B) an integrating (C) an indicating

(D) a recording (E) Question not attempted

flÊ≈-ÉÊ¢≈UÊ ◊Ë≈⁄ __________ ©¬∑§⁄áÊ „Ò–
(A) •¢Ã⁄áÊ (B) ‚◊Ê∑§‹ŸË (C) ‚¢‚ÍøŸ
(D) •Á÷‹πË (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

102. Kirchhoff’s voltage law state that :

(A) The sum of Potential differences across each element  in a circuit is zero.

(B) The sum of emf in a closed loop is zero.

(C) The algebraic sum of voltage drops and emf in a closed loop is zero.

(D) The total voltage drop in a series circuit is always finite.

(E) Question not attempted

Á∑§⁄øÊÚ»§ ∑§Ê flÙÀ≈¡ ÁŸÿ◊ ’ÃÊÃÊ „Ò Á∑§ —
(A) ‚Á∑¸§≈ ◊¥ ¬˝àÿ∑§ Ãàfl ∑§ ’Ëø Áfl÷flÊ¥Ã⁄U ∑§Ê ÿÙª ‡ÊÍãÿ „ÙÃÊ „Ò–
(B) ’¢º ‹Í¬ ◊¥ ß¸∞◊∞»§ ∑§Ê ÿÙª ‡ÊÍãÿ „ÙÃÊ „Ò–
(C) ’¢º ‹Í¬ ◊¥ flÙÀ≈¡ «˛ÊÚ¬ •ÊÒ⁄ ß¸∞◊∞»§ ∑§Ê ’Ë¡ªÁáÊÃËÿ ÿÙª ‡ÊÍãÿ „ÙÃÊ „Ò–
(D) üÊÎ¢π‹Ê ‚Á∑¸§≈ ◊¥ ∑È§‹ flÙÀ≈¡ «˛ÊÚ¬ „◊‡ÊÊ ¬Á⁄Á◊Ã „ÙÃÊ „Ò–
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

103. IE rules stand for danger notice is __________.

(A) IE Rule 42 (B) IE Rule 45 (C) IE Rule 43

(D) IE Rule 35 (E) Question not attempted

IE ÁŸÿ◊ πÃ⁄ ∑§Ë ‚ÍøŸÊ ∑§ Á‹∞ „Ò __________–
(A) IE ÁŸÿ◊ yw (B) IE ÁŸÿ◊ yz (C) IE ÁŸÿ◊ yx
(D) IE ÁŸÿ◊ xz (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

104. The pin type insulators are uneconomical beyond :

Á¬Ÿ ¬˝∑§Ê⁄ ∑§ ß¢‚È‹≈⁄ ÁŸêŸ ‚ •Áœ∑§ Á∑§»§ÊÿÃË Ÿ„Ë¥ „Ò¥ —
(A) 60 kV (B) 11 kV (C) 33 kV

(D) 50 kV (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

105. Permanent magnet moving coil instrument can be used for measurement of __________.

(A) depend on the range of measurement (B) a.c only

(C) d.c only (D) both d.c and a.c

(E) Question not attempted

SÕÊÿË øÈ¢’∑§ ªÁÃ◊ÊŸ ∑È¥§«U‹Ë ©¬∑§⁄áÊ ∑§Ê ©¬ÿÙª __________ ∑§ ◊Ê¬Ÿ ∑§ Á‹∞ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–
(A) ◊Ê¬ ∑§Ë ‚Ë◊Ê ¬⁄ ÁŸ÷¸⁄ ∑§⁄ÃÊ „Ò (B) ∑§fl‹ a.c
(C) ∑§fl‹ d.c (D) ºÙŸÙ¥ d.c •ÊÒ⁄ a.c
(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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106. Rana Kumbha’s Kirti stambha Prashasti refers to __________ as Vishamghati Panchanan.

Choose the most appropriate answer from the options given below.

(A) Rana Hammir ( 1326-1364) (B) Maharana Lakha (1382–1421)

(C) Rawal Ratan Singh ( 1302–1303) (D) Maharana Mokal (1421–1433)

(E) Question not attempted

⁄UÊáÊÊ ∑È¥§÷Ê ∑§Ë ∑§ËÁÃ¸ SÃ¢÷ ¬˝‡ÊÁSÃ ◊¥ __________ ∑§Ù Áfl·◊ÉÊÊ≈Ë ¬¢øÊŸŸ ∑§ M§¬ ◊¥ ‚¢ºÁ÷¸Ã Á∑§ÿÊ ªÿÊ „Ò–

ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥–

(A) ⁄UÊáÊÊ „ê◊Ë⁄ (vxw{-vx{y) (B) ◊„Ê⁄UÊáÊÊ ‹ÊπÊ (vx}w-vywv)

(C) ⁄UÊfl‹ ⁄ÃŸ Á‚¢„ (vxÆw-vxÆx) (D) ◊„Ê⁄UÊáÊÊ ◊Ù∑§‹ (vywv-vyxx)

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

107. In a 230 V dc machine, the brushes are made up of :

(A) Copper - Graphite (B) Electrographite (C) Copper

(D) Copper - Carbon (E) Question not attempted

wxÆ V dc ◊‡ÊËŸ ◊¥, ’˝‡Ê ÁŸêŸ ‚ ’Ÿ „ÙÃ „Ò¥ —

(A) ∑§ÊÚ¬⁄-ª˝Ò»§Êß≈ (B) ß‹Ä≈˛Ùª˝Ò»§Êß≈ (C) ÃÊ¢’Ê(∑§ÊÚ¬⁄)

(D) ∑§ÊÚ¬⁄-∑§Ê’¸Ÿ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

108. In the given figure, three equal resistors are connected.  The equivalent resistance between point A and B
is __________.

ºË ªß¸ •Ê∑Î§ÁÃ ◊¥, ÃËŸ ’⁄UÊ’⁄ ¬˝ÁÃ⁄Ùœ∑§ ¡È«∏ „È∞ „Ò¥– Á’¢ºÈ A •ÊÒ⁄ B ∑§ ’Ëø ‚◊ÃÈÀÿ ¬˝ÁÃ⁄Ùœ __________ „Ò–

(A) 2R/3 (B) 3R (C) R/3

(D) 3R/2 (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

109. Crawling of induction motor occurs due to :

(A) Vibration torques

(B) Harmonic induction torque only

(C) Harmonic synchronous torque only

(D) Both harmonic induction torque and harmonic synchronous torque

(E) Question not attempted

ß¢«UÄ‡ÊŸ ◊Ù≈⁄ ∑§Ê ∑˝§ÊÚÁ‹¢ª Á∑§‚∑§ ∑§Ê⁄áÊ „ÙÃÊ „Ò?

(A) ∑¢§¬Ÿ ≈ÊÚ∑¸§

(B) ∑§fl‹ „Ê◊Ù¸ÁŸ∑§ ß¢«UÄ‡ÊŸ ≈ÊÚ∑¸§

(C) ∑§fl‹ „Ê◊Ù¸ÁŸ∑§ Á‚¢∑˝§ÙŸ‚ ≈ÊÚ∑¸§

(D) „Ê◊Ù¸ÁŸ∑§ ß¢«UÄ‡ÊŸ ≈ÊÚ∑¸§ •ÊÒ⁄ „Ê◊Ù¸ÁŸ∑§ Á‚¢∑˝§ÙŸ‚ ≈ÊÚ∑¸§ ºÙŸÙ¥

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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110. Dynamometer type instrument :

(A) are free from Friction losses.

(B) have large torque –weight ratio.

(C) are free from hysteresis and eddy current errors.

(D) are not very use for accurate measurement of rms values of voltages .

(E) Question not attempted

«UÊÿŸ◊Ù◊Ë≈⁄ ¬˝∑§Ê⁄ ∑§Ê ©¬∑§⁄áÊ —

(A) ÉÊ·¸áÊ „ÊÁŸ ‚ ◊ÈÄÃ „Ò¥–

(B) ß‚∑§Ê ’«∏Ê ≈ÊÚ∑¸§-fl¡Ÿ •ŸÈ¬ÊÃ „ÙÃÊ „Ò–

(C) ‡ÊÒÁÕÀÿ •ÊÒ⁄U ÷¥fl⁄U œÊ⁄UÊ òÊÈÁ≈UÿÊ¥ ‚ ◊ÈÄÃ „Ò¥–

(D) flÙÀ≈¡ ∑§ rms ◊ÊŸÙ¥ ∑§ ‚≈Ë∑§ ◊Ê¬ ∑§ Á‹∞ ’„ÈÃ ©¬ÿÙªË Ÿ„Ë¥ „Ò¥–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

111. Given below are two statements :

Statement I : The compensating coil of a low power factor watt meter compensates the effect of the impedance
of current coil.

Statement II : The compensating coil of a low power factor watt meter compensates the effect of the impedance
of the voltage coil circuit.

In the light of the above statements, choose the most appropriate answer from the options given below :

(A) Statement I is false and Statement II is true.

(B) Both Statement I and Statement II are true.

(C) Both Statement I and Statement II are false.

(D) Statement I is true and Statement II is false.

(E) Question not attempted

ŸËø ºÙ ∑§ÕŸ Áº∞ ª∞ „Ò¥ —

∑§ÕŸ I — ∑§◊ ¬Êfl⁄ »Ò§Ä≈⁄ flÊ‹ flÊ≈ ◊Ë≈⁄ ∑§Ë ˇÊÁÃ¬Í⁄Ã∑§ ∑È¥§«U‹Ë flÃ¸◊ÊŸ ∑È¥§«U‹Ë ∑§ ¬˝ÁÃ’ÊœÊ ∑§ ¬˝÷Êfl ∑§Ë ˇÊÁÃ¬ÍÁÃ¸
∑§⁄ÃÊ „Ò–

∑§ÕŸ II — ∑§◊ ¬Êfl⁄ »Ò§Ä≈⁄ flÊ≈ ◊Ë≈⁄ ∑§Ë ˇÊÁÃ¬Í⁄Ã∑§ ∑È¥§«U‹Ë flÙÀ≈¡ ∑§ÊÚß‹ ‚Á∑¸§≈ ∑§ ¬˝ÁÃ’ÊœÊ ∑§ ¬˝÷Êfl ∑§Ë ˇÊÁÃ¬ÍÁÃ¸
∑§⁄ÃÊ „Ò–

©¬⁄ÙÄÃ ∑§ÕŸÙ¥ ∑§ •Ê‹Ù∑§ ◊¥ ŸËø Áº∞ ª∞ Áfl∑§À¬Ù¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ ©ûÊ⁄ øÈŸ¥ —

(A) ∑§ÕŸ I •‚àÿ „Ò •ÊÒ⁄ ∑§ÕŸ II ‚àÿ „Ò–

(B) ∑§ÕŸ I •ÊÒ⁄ ∑§ÕŸ II ºÙŸÙ¥ ‚àÿ „Ò¥–

(C) ∑§ÕŸ I •ÊÒ⁄ ∑§ÕŸ II ºÙŸÙ¥ •‚àÿ „Ò¥–

(D) ∑§ÕŸ I ‚àÿ „Ò •ÊÒ⁄ ∑§ÕŸ II •‚àÿ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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112. On which of the following date of integration was Greater Rajasthan formed ?

(A) 15 May, 1949 (B) 30 March, 1949 (C) 25 March, 1948

(D) 28 March, 1948 (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ∞∑§Ë∑§⁄áÊ ÁÃÁÕ ∑§Ù ª˝≈⁄ ⁄UÊ¡SÕÊŸ ∑§Ê ª∆Ÿ „È•Ê?

(A) vz ◊ß¸, v~y~ (B) xÆ ◊Êø¸, v~y~ (C) wz ◊Êø¸, v~y}

(D) w} ◊Êø¸, v~y} (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

113. Who of the following Padma Awardee from Rajasthan is associated with miniature painting ?

(A) Mahesh soni (B) Ram Kishore Chhipa (C) Shree Lal Joshi

(D) Tilak Geetai (E) Question not attempted

⁄UÊ¡SÕÊŸ ∑§ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ıŸ ¬k ¬È⁄S∑§Ê⁄ Áfl¡ÃÊ ‹ÉÊÈ ÁøòÊ∑§‹Ê ‚ ¡È«∏ „Ò¥?

(A) ◊„‡Ê ‚ÙŸË (B) ⁄UÊ◊ Á∑§‡ÊÙ⁄ ¿UË¬Ê (C) üÊË ‹Ê‹ ¡Ù‡ÊË

(D) ÁÃ‹∑§ ªËÃÊß¸ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

114. The current in a coil decreases from 10 A to 4 A in 0.1 second.  If the inductance of the coil is 4 H, find the emf
induced in the coil.

∞∑§ ∑È¥§«U‹Ë ◊¥ œÊ⁄UÊ Æ.v ‚∑¢§«U ◊¥ vÆ A ‚ y A Ã∑§ ∑§◊ „Ù ¡ÊÃË „Ò–  ÿÁº ∑È¥§«U‹Ë ∑§Ê ¬˝⁄∑§àfl y H „Ò, ÃÙ ∑È¥§«U‹Ë ◊¥ ¬˝Á⁄Ã
emf ôÊÊÃ ∑§⁄¥–
(A) 230 V (B) 400 V (C) 240 V

(D) 160 V (E) Question not attempted/•ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

115. A zener diode :

(A) has a sharp breakdown at low reverse voltage. (B) is useful as an amplifier.

(C) has a negative resistance. (D) has a high forward voltage.

(E) Question not attempted

¡Ÿ⁄ «UÊÿÙ«U —

(A) ß‚∑§Ê ÁŸêŸ Á⁄fl‚¸ flÙÀ≈¡ ¬⁄ ÃËfl˝ ’˝∑§«UÊ©Ÿ „Ò– (B) ∞ê¬‹Ë»§Êÿ⁄ ∑§ M§¬ ◊¥ ©¬ÿÙªË „Ò–

(C) ß‚∑§Ê ¬˝ÁÃ⁄Ùœ ´§áÊÊà◊∑§ „Ò– (D) ß‚∑§Ê •ª˝ flÙÀ≈¡ ©ìÊ „Ò–

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

116. The Turra, serpech, bala – bandi, dugdugi and gospech worn by the dignitaries from upper class was __________.

(A) Evolved from both Mughal and Rajput races (B) Purely Rajasthani race

(C) Maratha–Rajasthani race mix (D) Purely Mughal race

(E) Question not attempted

©ìÊ flª¸ ∑§ ªáÊ◊Êãÿ √ÿÁÄÃÿÙ¥ mÊ⁄UÊ ¬„Ÿ ¡ÊŸ flÊ‹ ÃÈ⁄UÊ¸, ‚¬¸ø, ’Ê‹Ê-’¢ºË, «ÈUª«ÈUªË •ÊÒ⁄ ªÙS¬ø Õ __________–

(A) ◊Èª‹ •ÊÒ⁄ ⁄UÊ¡¬ÍÃ ºÙŸÙ¥ ŸS‹Ù¥ ‚ Áfl∑§Á‚Ã (B) Áfl‡ÊÈh ⁄UÊ¡SÕÊŸË ŸS‹

(C) ◊⁄UÊ∆Ê-⁄UÊ¡SÕÊŸË ŸS‹ ∑§Ê Á◊üÊáÊ (D) Áfl‡ÊÈh ◊Èª‹ ŸS‹

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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117. In synchronous alternator, which of the following coils will have e.m.f. closer to sine waveform ?

(A) Concentrated winding in full pitch coils (B) Distributed winding in short pitch coils

(C) Distributed winding in full pitch coils (D) Concentrated winding in short pitch coils

(E) Question not attempted

Á‚¢∑˝§ÙŸ‚ •À≈⁄Ÿ≈⁄ ◊¥, ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ∑§ÊÚß‹ ◊¥ ‚ÊßŸ flfl»§ÊÚ◊¸ ∑§ ∑§⁄Ë’ ß¸.∞◊.∞»§. „ÙªÊ?

(A) »È§‹ Á¬ø ∑§ÊÚß‹ ◊¥ ‚¢∑§ÁãŒ˝Ã flÊß¢Á«¢Uª (B) ‡ÊÊÚ≈¸ Á¬ø ∑§ÊÚß‹ ◊¥ ÁflÃÁ⁄Ã flÊß¢Á«¢Uª

(C) »È§‹ Á¬ø ∑§ÊÚß‹ ◊¥ ÁflÃÁ⁄Ã flÊß¢Á«¢Uª (D) ‡ÊÊÚ≈¸ Á¬ø ∑§ÊÚß‹ ◊¥ ‚¢∑§ÁãŒ˝Ã flÊß¢Á«¢Uª

(E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

118. Who among the following is awarded Padma Shri, Padma Bhushan and Jamnalal Bajaj Award for outstanding
contribution in the field of ‘upliftment’ and welfare of women and children ?

(A) Shree Lal Joshi (B) Tilak Geetai (C) Smt. Ratan Shastri

(D) Shri Arjunlal Prajapati (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ◊Á„‹Ê•Ù¥ •ÊÒ⁄ ’ìÊÙ¥ ∑§ ©àÕÊŸ •ÊÒ⁄ ∑§ÀÿÊáÊ ∑§ ˇÊòÊ ◊¥ ©à∑Î§c≈U ÿÙªºÊŸ ∑§ Á‹∞ ¬k üÊË, ¬k ÷Í·áÊ
•ÊÒ⁄ ¡◊ŸÊ‹Ê‹ ’¡Ê¡ ¬È⁄S∑§Ê⁄ ‚ ‚ê◊ÊÁŸÃ Á∑§ÿÊ ªÿÊ „Ò?

(A) üÊË ‹Ê‹ ¡Ù‡ÊË (B) ÁÃ‹∑§ ªËÃÊß¸ (C) üÊË◊ÃË ⁄ÃŸ ‡ÊÊSòÊË

(D) üÊË •¡È¸Ÿ‹Ê‹ ¬˝¡Ê¬ÁÃ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

119. Which of the following heating element has lowest operating temperature ?

(A) Kanthal (B) Graphite (C) Eureka

(D) Nichrome (E) Question not attempted

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ „ËÁ≈¢ª Ãàfl ∑§Ê •ÊÚ¬⁄Á≈¢ª ÃÊ¬◊ÊŸ ‚’‚ ∑§◊ „Ò?

(A) ∑Ò¥§Õ‹ (B) ª˝Ò»§Êß≈ (C) ÿÍ⁄∑§Ê

(D) ÁŸ∑˝§Ù◊ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ

120. A hollow sphere of a charge does not produce an electric field at any __________.

(A) point beyond 10 meters (B) outer point (C) interior point

(D) point beyond 2 meters (E) Question not attempted

•Êfl‡Ê ∑§Ê πÙπ‹Ê ªÙ‹Ê Á∑§‚Ë ÷Ë __________ ¬⁄ ÁfllÈÃ ˇÊòÊ ©à¬ÛÊ Ÿ„Ë¥ ∑§⁄ÃÊ „Ò–

(A) vÆ ◊Ë≈⁄ ‚ •Êª ∑§Ê Á’¢ºÈ (B) ’Ê„⁄Ë Á’¢ºÈ (C) •Ê¢ÃÁ⁄∑§ Á’¢ºÈ

(D) w ◊Ë≈⁄ ‚ •Êª ∑§Ê Á’¢ºÈ (E) •ŸÈûÊÁ⁄UÃ ¬˝‡Ÿ
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SPACE FOR ROUGH WORK / ⁄U»§ ∑§Êÿ¸ ∑§ Á‹∞ SÕÊŸ

©ûÊ⁄U ¬òÊ∑§ ◊¥ ŒÊ ¬˝ÁÃÿÊ° „Ò¥ - ◊Í‹ ¬˝ÁÃ •ÊÒ⁄U ÁmÃËÿ ¬˝ÁÃ, ¬⁄UËˇÊÊ ‚◊ÊÁåÃ ¬⁄U ¬⁄UËˇÊÊ ∑§ˇÊ ¿UÊ«∏Ÿ ‚ ¬Ífl¸ ¬⁄UËˇÊÊÕË¸ ©ûÊ⁄U ¬òÊ∑§ ∑§Ë ŒÊŸÊ¥ ¬˝ÁÃÿÊ° flËˇÊ∑§
∑§Ê ‚ÊÒ¬¥ª, ¬⁄UËˇÊÊÕË¸ Sflÿ¥ ÁmÃËÿ ¬˝ÁÃ ∑§Ê •‹ª Ÿ„Ë¥ ∑§⁄¥U– flËˇÊ∑§ mÊ⁄UÊ ©ûÊ⁄U ¬òÊ∑§ ∑§Ë ◊Í‹ ¬˝ÁÃ ∑§Ê •¬Ÿ ¬Ê‚ ¡◊Ê ∑§⁄U, ÁmÃËÿ ¬˝ÁÃ ∑§Ê ◊Í‹ ¬˝ÁÃ
‚ ∑§≈U ‹ÊßŸ ‚ ◊Ê«∏ ∑§⁄U ‚ÊflœÊŸË¬Ífl¸∑§ •‹ª ∑§⁄U ¬⁄UËˇÊÊÕË¸ ∑§Ê ‚ÊÒ¬¥ª– ¬⁄UËˇÊÊÕË¸ ÁmÃËÿ ¬˝ÁÃ ∑§Ê •¬Ÿ ‚ÊÕ ‹ ¡Êÿ¥ª–


